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PREFACE

In the cutricular structure introduced by this University for students of Post-
Graduate Degree Programme, the opportunity to pursue Post-Graduate course in any
subject infroduced by this University is equally available to all learners, Instead of
being guided by any presumption about ability level, it would perhaps stand to
reason if receptivity of a learner is judged in the course of the learning process, That
would be entirely in keeping with the objectives of open education which does not
believe in artificial differentiation.

Keeping this in view, study materials of the Post-Graduate level in different
subjects are being prepared on the basis of a well laid-out syllabus. The course

structure combines the best elements in the approved syllabi of Central and State

Universities in respective subjects. It has been so designed as to be upgradable with
the addition of new information as well as results of fresh thinking and analysis.

The accepted methodology of distance education has been followed in the
preparation of these study materials. Co-operation in every form of experienced
scholars is indispensable for a work of this kind. We, therefore, owe an enormous
debt of gratitude to everyone whose tireless efforts went into the writing, editing and
devising of proper lay-out of the materials, Practically speaking, their role amounts
to an mnvolvement in 'invisible teaching'. For, whoever makes use of these study
materials would virtually derive the benefit of learning under their collective care
without each being seen by the other. ;

The moré a leamer would seriously j:rur_suf: these study materials, the easier it

‘will be for him or her to reach out to larger horizons of a subject. Care has also been

taken to make the language lucid and presentation attractive so that they may be rated
as qualily self-leamning materials. If anything remains still obscure or difficult to
follow, arrangements are there to come to terms with them through the counselling
sessions regularly available at the network of study centres set up by the University.

Needless to add, a great deal of these efforts is still experimental-in fact,
pioneering in' certain areas. Naturally, there is every possibility of some lapse or

‘deficiency here and there, However, these do admit of rectification and further

improvement in due course. On the whole, therefore, these study materials are

expected to evoke wider appreciation the more they receive serious attention of all
concerned.

Professor (Dr.) Subha Sankar Sarkar
Vice-Chancellor
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Unit : 1 O Preliminaries and basic concepts

The present section aims at refreshing the basic concepts that we have already
encountered in our earlier studies. The study of algebraic systems will require clear
concepts on sets, relations, mappings, operations etc, and a quick review will help better
understanding of the materials presented in this course. Here we shall introduce the ideas
in short and only state the relevant theorems but we shall not go into the details of -
these concepts,

1.1 Sets, relations, mappings :
Set A set is a well defined collection of objects. By well defined collection of

objects we understand that if 5 is a set and a is some object, then either a is definitely
in§ denoted by @ S, or, a is definitely not in 5, denoted by a & §.

The union of two sets 4 and B, written as 4 U B, is the set {x|xedorx
e B} =/

The intersection of two sets 4 and B, written as 4 A B, istheset {x | x e 4
and x ¢ B}. '

A null set is the set having no element. A null set is denoted by ¢ If 4 and B
are two sets such that every element of A is an element of B, then A4 is called a subset
of B and is written as 4 < B. '

Thus the null set is a subset of every set.
Two sets 4 and B are said to be disjoint if 4 B = .
Given two sets A and B, the difference 4 — B is the set {x ed | x & B}.
Cartesian pmdﬁct of two sets : If 4 and B are two sets, then the Cartesian
product of the sets A and B, denoted by A x B, is the set :
AxB={x9|x ed y B .
Thus, if 4 = {x, y} and B = {y, z, 1}, then 4 x B is the set of distinct ordered
pairs :
G2 & 2, & 0, 0,9, O 2), O, D)
Relations : Let 4 and B be two sets and let p be a subset of 4 x B. Then
o is called a relation from 4 to B. If (x, J) & p, then x is said to be in relation p

~ to y, written xgy. A relation from 4 to A is called a relation on 4 (or in A).

Let o be a relation in the set A, P is said to be
i)



(a) reflexive if xpox for all x e 4

(b) symmetric if xpy implies yox; x, ¥y & 4

() aﬁtisymmetric if xpy and yox imply x = y; x, ¥ € A

(d) transitive if xpoy and yoz imply xez; x, ¥, 2 € 4

_ Ifthe relation p is reflexive, symmetric and transilive then pis called an equivalence
relation on 4. If p is reflexive, antisymmetric and transitive then p is called a partial
ordering relation on A. ; .

An equivalence relation p defined on a set 4 partitions the set 4 into a number :
of disjoint classes, called the equivalence classes. Thus if @ & 4, the equivalence class
of a is denoted by cl(a) and it is the set {xjapx}. .

Mappings : If § and 7' are non empty sets, then a mapping from Sto T is a
subset M of § x T such that for every s e §, there is a unigque ¢ & T such that the
ordered pair (s, #) is in- M. Let obe a nuppmg from § to T; we often denote this
by writing o: S = Tor § —_) _T, If ¢ is the image of s under o then we shall
write £ = of(s). :

Let § be any set. Let us define the mapping I': § — § by I{(s) = s for any
s & §. This 'mapping I is called the identity mapping of 5. '

The mapping o of § m T is said to be onto {or suljecuvc] mapping if given ¢ & T
there exists an element g = &8 such that ofs) =

The nmppmg cof §to Tis said to be one-to-one (ﬂr injective) mapping if whenever
5 # 5, (51, & € 8), then ofs)) o(s).

A one-to-one and onto mapping is called a bijective mapping.

The two mapping o and 7 of § into T are said to be equal if ofs) = #(s) for
every § € 5.

Ifo:8—> Tand v: T— U, then the composition of o and ':[aisu called their
product) is the mapping 7,0 : § — U defined by means of (7,0) (5) = z(a(s)) for .
every s € 5.

Thus for the composition 7,0 of oand 7, we shall always mean : first apply o
and then =



Lemma 1.1 : (Associative law), f o: S > T, r: T > Uand p: U —» ¥
ate three mappings, then the associative law (u o 7) os = go(ra) holds. ' :

1.2 Binary operation :

A binary operation o on a set § is a rule that assigns to each ordered pair of elements
of the set § some clement of the set. Thus, for an arbitrary set 5, we call a mapping
 of § x 5 into. 5, a binary operation on §.

~ Example 1.1 : On Z" (the set of positive mtegars}, deﬂnc a binary operation o
by aob equals the smaller of a and b or the common value if @ = b. a, b e Z'.
Thus 2011 = 2; 15010 = 10 and 404 = 4. '

Example 1.2 : On Z* define (he operation o by aob = alb, a, b e 7. Clearly

the operation o is not a binary operation as 103 = % e

A binary operation o on a set § is commutative if and only it aob = boa for all
a, b e 8. The operation o is associative il and only if (aed) oc = ao (boc) for all
a b, e g8

Remark ; In defining a bmary operation on a set § it is necessary that (i) exactly
one element is assigned to each ordered pair (a., b), (@, b & 8} and (i) for each ordered
pair of elements of 8, the element assigned to it is again in S. I the second condition
is not satisfied then we say that § is not closed under the operation, -

1.3 Algebraic structure or algebraic system :
- An algebraic structure or an algebraic system is a non empty set together with one
or more binary operations on that set. Algebraic structures whose binary operations satisfy

particularty important properties are groupoids, mnnolds semi groups, groups, rings, fields,
modules and so on.

Groupoid : A groupaid is an algf:bra.m system cnnsmt;ng of a non empty set G
and a binary operation o on G. The pair [G, o] is called a groupoid.

The set of real numbers with the binary operation of addition is a groupoid.
Semigroup : If [G, o] is a groupoid and if the associative rule ao(boc) = (aob)oc
holds for all @, b, ¢ & G, ihen [G, o] is called a semigroup.
-An element e of a groupoid [G, o] is called an identity element if eoq = woe =
.a for all ¢ € G. If there is an identity element in & groupoid then it is unique.
Monoid : A semigroup with identity element is called a monoid.
o



‘Exzample 1.3 : The set of all #» * » matrices under the operation of matrix
multiplication is a monoid. Here the identity element is the unit matrix of order 5.

Let [G, o] be a monoid. An element @’ e G is culled an inverse of the element
@ € Gifa' o a=aoa = e (the identity element of G). The inverse of the element
a ¢ G is denoted by o7

Group i A monoid in which every element has an inverse is called a group. -

Example 1.4 : The set of all n % » matrices under the opcratiﬁn of matrix
multiplication is not a group since not every n X n matrix has its multiplicative inverse,
but if G is the set of all # % n nonsingular matrices, then G forms a group under the
operation of matrix multiplication.

1.4 Some elementary properties of groups, impdrtant theorems
on groups : '
() The identity element e is unique in a group [G, ol.
(i) The inverse o' of the element & = G is unique.
(i) Foreverya € G, (¢’')! = a
(v) For all @, b & G, (aobh)” = b loa™.
(v) The cancellation laws
gob =aoc = b =¢ (left cancellation law)
boa = coa = b = ¢ : : (right cancellation law)
hold in G; a, b, ¢ & G. ]
(v) Fora, b & G, the linear equations aox = b and yoa = b have unique solutions
in G.
A gruup G is said to be abelian (or commutative) if for every o, b & G, aob
= boa. '

The order of an element @ in a group G is the smallest positive integer n such
that a” = e, the identily element in G. Here, by o" we understant aoq o ... oa (n
factors). If there is no finite integer n such that a" = e, we say that the element o has
order zero, If an element ¢ = G has order n, we write o(a) = n.

The order of a group is the number of elements in the group. Thus, if a group
G has n elements, then G is said to be a finite group of order n. and we write

D{G) =n,
10



Example 1.5 : If G is a group of even order, prove that it has an element
a # e satisfying a® = e, ; .

Solution : Suppose that G is a group of order 2n, n being a positive integer.
Let @y, a3 ... a3, _y, € be the elements of G. Since in-a group every element has
its unique inverse and since there are odd number of elements a;, a@; ... &3, _ |, none
of which is the identity element of G, if follows that there is one element o (say)
among dy, ay ... dy, - whose inverse is a itself. Then it follows that goa = e ie.
a* =e¢ a € G and a # e ; _ .

Example 1.6 : Show that if every element of the group G is its own inverse, then
G is abelian, :

Solution : Let a, b e G, then aob e G. -From the given condition a! = g,
bt = b, (aob)! = aoh

But (aob)y! = blea™!, so that aob = blog™

or, aob = boa. Hence & is abelian.

Note : We have already pointed out that group is an algebraic system with a set
& and a binary operation ¢ defined on G. So far we have written gob as the composition
of two elements g and b in G, but henceforth we shall drop the symbol o and write
simply as ab. But we must keep in mind that there is a suitably defined operation for
the composition ab of two elements @ and b in G. :

" Subgroup : A non empty subset H of a group G is said to be a subgroup of
G if, under the composition rule in G, H itself forms a group.

Ezample 1.7 ;: Let G be the group of integers under addition, H is the subset
of G consisting of all the multiples of 5. Then it may be checked that H is a subgroup

. of 4.

Example 1.8 : Let G be a group of all non zero complex numbers a + ib (@,
b real and not both are 0) under multiplication, and lﬁ_t

H=1{a+ib eG|a +b =1}
Then H is a subgroup of G.
Theorem 1.1 : A non-void subset H of a group G is a subgroup of G if and
only if a, b EH::-:_zb'l e H
If H is a subgroup of a group G and a2 = & then the set
11



Ha = tha|h  H}

is called a right coset of H in G.
Similarly, the set aH = {ha|h € H}
is called a left coset of H in G.

It may easﬂy be shown that any two right (or left) m}sats uf Hin G are either
identical or have no element in common.

Theorem 1.2 : (Lagrange) If G is a ﬁmta group and Hisa subg;mup of G then
o(H) is a divisor of o(G),

As a corollary to Lagranges theorem we may state that if o is an element of a
finite group G, then o(a) | o(G) [It is read as order of g divides-order of GJ.

Cyclic group : A group G is said to be a cyclic group if there exists an element
a e G such that every element in G can be expressed as a power of @. The element
a is then called a generator of G and we denote G by <a =

When the npér&tion is addition we write G = {p a|n € Z} = <a>=
Example 1.9 : Let n be a linsitive integer. The equation x" - 1 has roots ei?;ﬂ

¥

k=10,1,2 .. n~ 1 These are called the n-th roots of unity, if we consider the

set G of n-th roots of unity and define on it the usual multiplication as the binary upemtibn,

then we get a group. Clearly, any element of the group can be expressed as a%, k =
T odm

0,1, 2 ..n—1,where @ = e " . Hence the group G is a cyclic group and the element
a is a generator of this group. .

Examaple 1.10 ; The additive group Z (the set of mtf:gars} 1s generated by the
clement 1 ¢ Z _

We note here that since the operation is addition, by & we mean a+a+ ..
+ a(n terms). Thus, any element » of the additive group Z is expressed as n = 1 +
1 + .. + 1(n terms). Hence Z is a cyclic group with generator 1.

Theorem 1.3 : Order of a cyclic group is equal to the order of its generator.

We note that a cyclic group may have more then one generating element. For example,
the group Z, (integer modulo 4) with addition as operation has 1 and 3 as generators.
Thus, we may write

L= =lx==3>

12



Theorem 1.4 : A subgroup of a cyclic g_rnﬁp is cyclic,

Normal subgroup : A subgroup N of a group G is said to be a normal subgroup
of Gifforevery g €« Gand n e N, g'ng & N. _

Equivalently, if by g'Ng we mean the set of all g”lng, n & N, then N is a normal
subgroup of G if and only if g'Ng ¢ N for every g ¢ G.

Note : We have defmﬂd Nto be a rmrmal subgroup of G if g'ng N for
g el nelN

Since G is a group, forevery g € G, g & G, and it follows that N is a normal
subgroup of G if for every ¢ € G and n & N we have
: gng! & N.

Theorem 1.5 : The subgroup N {}f G is a normal subgroup of G if and onl;-,r it
every left coset of N in G is a right coset of N in G.

Exzample 1.11 : For any two subgroups H and X of a group G thf: following
assertions hold ; :

(8) H n K is a subgroup of G,

(b) If H is normal in G, then H ~ K is normal in K.

(¢) If H and K are both normal in G, then H r K is normal in G,

Proof (a) : Since H and X are both subgroups of G, and H e Kand ¢ e K, -

sothat e € H N K and H n X is non-empty. Let x and y € H n K, then x and

» belong to H and also to K. Since H and K are subgroups of G, ' e H and K
~ ol and H n K is a subgroup of G,
(b) Let H be normal in G. Let & EK&I‘lﬂa eHn K Thenklak e K, since -
k € K and-a ¢ K -
Again k'ak e H, since H is a normal subgroup of Gand k e K = G, a < H.

Hence & 'ak € H r K for a EHandk e K 8o H n K is a normal subgroup
of K. -

(c) Let H andK are both normal subgroups of G. Then for x e H n K = x
e H and x e K. But H and K are normal subgroups of G. So fm' cvety g = G,
gxg e Hand glxg ¢ K .
. For every g & G and x EHI"\K glag e HN K
Henee H m K is a normal subgroup of G.

13



1. 5 Rings, integral dﬂmams and fields :

Ring : A non empty set R is said to be a ring if in R there are denmd two binary
operations + and, which we call addition and nwltiplication respectively, such that for
a, b, cin R : . .

1. The algebraic system {R, + > is an abetian group

2. The associative law with respect to ﬁﬂtipﬁcmion holds; that is, a - (b - ¢) =

(a-bye. . :
3. The two distributive laws a-(b+ c)=a-b+acand (b+c)a=ba+ca
hold.

We note here that in our future disnussinn, as in the case of group, we shall drop
the multiplication operation dot (-) and simply write ab instead of a-b.

In our definition of a ring, if there is an element 1 in R such that a-1 = 1.0 =
a for every @ « R, then we shall call R as a ring with unity element. |

If the multiplication of R is such that ab = ba fnr every @, b in R, then R will
be called a commutative ring,

Example 1.12 : The set of integers with usual addition and multiplication forms
a commutative ring with unity element, while the set of even integers uader usual
operations of addition and multiplication forms a commutative ring but the ring has
no unity element. :

Note : In case of a ring, with unity element, the algebraic system <R, +> is an

ahelian group and the algebraic system <R, - > is a monoid.
Some elementary properties :
(i) Ifoisthe hdditive identity of the ring < R, +, - >, then for any e e R, a -0
=0 = o04d ) '
(i) For all a4, b & R, (—a)b = —(a.b) = a.(-b).

(iiiy For all elements a, a; ... @, and 51, by, .. by in R, () + ap + ... T ay)

(by + by + ..+ b)) = 2 2a.b;.

1=l J=1
(iv) For all integers n and all a, b e R
- nla.b) = (pa).b = a.(nb). _
: 14



(v) In any commutative ring R the binomial formula
(@+b)"= ¥ (:.t_]ajbf, a,beR
i+ j=n -

holds for natural numbers » and nnnunégative mtegers 7 and j.

Example 1.13 : If<R, +, - > is ai algebraic system satisfying all the conditions
for a ring with unity with possible exception of a + b=b + g, a, b R, prove that
the axiom a + b = b + a must hold in R and that R is a ring,

Solution : Since 1 < R, ‘we have

(@+b)(1 + 1) = (@ + bl + (a + Bl

=(@+b)+ (a+ b

Also, (a+ b)(1 + 1) =afl + 1) +5(1 + 1)

(@l + al) + (b1 + B.1)
=(a+a)+ (b+ b

Thus (@ + ) + (e + b)Y =(a + a) + (b + b)

Since associativity with re:sped to addition holds in R, we have, by left and right
cancellation rules

bE+a=a+h

]

Hence <R, +> is an abelian group and <R, +, . > is a ring with unity.
Some apécial classes of rings :

Example 1.12 considers rings of integers where for two elements @ and b in the
ting ab = 0 will imply either a = 0 or b = 0 and also gb = ba holds. But in general
rings there is a possibility of b = (0 with neither a nor b baing zero. Also there are
rings where ab = ba does not hold. For example, in the ring of integers with addition
and multiplication modulo b, we have 2 X 6° = 0, but 2 and 3 are non zero elements.
Also it may be easily checked that in the ring M,(R) or 2 % 2 matrices with elements
as real numbers the commutative property does not hold,

Accordingly, we have the following definitions, _
Def, : If R is a commutative ring, then @ # 0 & R is said to be a zere divisor
if’ there exists b & R, b # o such that ab = o.
15



In the example just considered, the integer 2 is a zero divisor in the ring of integers
C A P R

Def, : An integral domain is a commutative rihg with unity element and without
a zero divisor.

The ling of integéts is an example of an integral domain.

Del. : A ring is said to be a division ring or a skew Held if its non zero
elements form a group under multiplication, - [ : _

Def. : A field is a commutative ring with unity element such that the non zero
elements form a group under multiplication. Thus, a field is a commutative division ring.
Since the cancellition law holds in any group, any figld is an integral domain, _

“The rational numbers with usual addition and multiplication forms a field. The set
R of integers mod 7 under the addition and multiplication mod 7 form a field. Evidently,

2 represents the class of integers of the form 7k + 2, k being an integer.

We have just remarked that any field is an integral domain, but for the converse,
we have,

Theorem 1.6 : A finite integral domain is a field,

Corollary : If p is a prime number, then Zp, the ring of integers mod p, is a field.

Def. : A subset § of a ring R = <R, +, - > is said to be a subring of & if and

ﬂnly.if S forms a ring under the operations + and - of R, A
Theorem. 1.7 : A non empty subset S of a ring R = <R, +, -> is a subring
of R if and only if with two elemenis x and y of §, x — y and xy € §.
.Example 1.14 : {0} and R are alwa;vs sub rings of R. These are known as improper
subrings of R. _ .
*:Z,+,,~}'isasubri_ngoffig,.+,-1‘-* -
The set of all # % n matrices ‘over the ring of rational numbers is a sub ring of
H %R -nmtrices over the ring of real numbers.

16



.10,
11.

12.

EXERCISES

Let G be a group such that o® = e for all @ e G. Show that G is abelian,
Prove that the matrices

1L o) [ o] f=1 0] ..f-1 @
o Shlo SHo T ]
form a multiplicative group, (This group is known as the Klein four-group),

Prove : For any group G, and any a & G, a™o a" = a™"" whete m, n belong
to the set of integers. !

5 Prove : Every proper subgmup of an abelian group is abelian, State the converse

and show by an example that it is false.

Let § be a subgroup of a group G. Defme T ={x:x € G, x5 - .SIx} Prove
that T'is a subgroup of G.

Show that the set {x i x € Z, 5 |x} isa subgroup of the additive group Z.

(The symbol 5 | x represents the element x which is divisible by 5).

Let G i:a thf: set of all 2 x 2 matrices [3 E’,) where a.d # o0, under matrix
mulfiplication. -

Let N = {G, ?)} Prove that N is a normal subgroup of G

If a cyclic subgroup T of G is normal in G, then show that every Suhgmup of
T is normal in G.

Let 7 be the set of all real 2 x 2 matrices (‘; ﬁj with ad + o. Prove that

G forms a gﬁmp under matrix multiplication, Is G abelian?

Suppose that H is the only subgroup of o(H) in the finite group G. Prove that
H is a normal subgroup of G.

Show that the set of integers with addition and multiplication modulo 6 is a ring

-~ with zero divisors.

An element x in an integral domain D is called an idempotent element if ¥* = x.
Show that only idempotents in D are 0 and 1,

17



. Unit : 2 Q Permutation groups and quotient
| groups

Here we shall consider groups whose elements are entities called permutations or

whose elements are the classes of elements of another group. Permutation groups are
non-abelian and it may be shown that any group is structurally the same as some group
of permutations. We shall show that a law of composition can be defined on the cosets

~ of a normal subgroup N of any group G and will describe how to make the set of
cosets into a group, salled a quotient group. We start with the concept of permutation
groups.

2.1 Permutations

Def 2.1 ; A permutation of a set § is a function from & into S that is both one-
to-one and onto. In otherwords, a permutation of § is a one-to-one function from §
onto 5. _ '

Let S= {1, 2, ... n} and consider the set 5, of n | permutations of these » symbols.
Let iy, iy ... i, be some arrangement of the clements of §. We introduce a two-line

notation for the permmtation

= i e
b= (;, iV ,f,,}
where « takes the element 1 to #;, the elemeni 2 to 7, ... and the element n to i,.

Cleary iy, iy, ... i, are the elements 1, 2, ... #, may be in some different order.

Similarly, if ji, ja; -+ jn i3 another arrangement of the elements of S, we write

L2
s [ji Jz Jae ‘jn).
We define an operation o on the set §, of all permutations of § such that a0 §

means that the permutations o and g are to be performed in that order namely, first
« and then B. :

s (41 or=(1 38 mmaor=(3111)

Another notation for permutation is also used. For example, the permutation
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12345

b L
is written as (1 2 3 4 5), This notation is kn{mm as cycllc notation. The cycle (1 2
345]madnsllsreplacedb}.r2 Eisreplacedb},rS 3by4, 4byS5and 5 by 1.

The permutation g = [l % 3 ‘; g) can be written as (3 4 5). In this cyelic notation

1 and 2 are missing. This means that 1 and 2 are unﬂhdnged in position, whxle 3 is
replaced by 4, 4 by 5 and 5 by 3.

' 3
. The permutation ¥ = [] % 2 ; 4) is written as, (2 3) {4 5), called the pmduct

of cycles.
Now we write formally.
Def. 2.2. = A permutation o of a set §is a c}fcle of IEngth n if there exist a;,

ay ... @y € § such that ofa)) = a5, alay) = a3, .. o(a,) = a, ola,) = a, and
ax) = x for x e §but x ¢ {a;, a, ... a,}). We write o = (a1, 33 ... @).

In using the eyclic notation for parmutatmn of the set §, the elements of the set
5 must be known completely. :

The permutation o = G % g ‘1} 45) » represented. in cyclic notation as (1 3 5 4)

is a cycle of length 4. We also note that (1354)=3541)=(5413) = (4
13 5). Of course, since cycles are special Lypes of permutations, they can be multiplied
just as any two permutations, The product of two cycle need not again be a cycle.

Example 2.1 : Consider the set S of all permutation of § = 11,2, 3.4, 5, 6},

23456) (123456
Then{i455}(215}—[ 23561}0(513426J

and (2 15)(1 45 5}:(}52 %g;ﬂ

Neither of these permutations is a cycle.
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Def, 2.3 : Two cycles of a set § are disjoint if there is no element of § common
to two cycles.

For example the cycles (16)and (25 3) for the set S={1 2345 6} are
6

disjoint. The permutation & = (L l

l) can be expressed as o= (1 6) (2 5 3),
the product of two disjoint cycles. :

Multiplication of disjoint cycles is clearly commutative, so the c-rder of the factors
(1 6) and (2 5 3) is not important,

Theorem 2.1 : Every permutatmn crof a finite sct § is a product of disjoint cycles.

Proof : Without loss of generality we may assume that § = {1, 2, 3, ... n}. Now
we consider the elements 1, o(l), &(1), (1), ...

Since the set § is finite, these elements cannot all be distinct. Let o”(1) be the first
term in the sequence that has appeared previously. Then o”(1) = 1, for if o (1)=d'(1)
with 0 < 5 < r, we would have &~ (1) = 1, with ¥ — 5 < r, which is a contradiction
to the assmnptian for r :

Let 5 = (1, (1), (1), ... "D,

We see that 7; has the same effect as o on all elements of § appearing in ﬂ:'].is :
cyclic notation for 7;. Let i be the first element of § not appearing in this cyclic notation
for 7;. Repeating the above argument with the sequence i, o(i), (i) ... , We arrive
ata cycle m. Now, 1:2 and 7, are disjoint, for, if they had any element j of § in common,
they would be identical, since each cycle could be constructed by repaat::d application
of permutation astarting at ;.

Continuing, we pick the first element in § not appearing in the c:,rchc notation of
either 7, or r; and construct %, and so on. Since §'is finite, this process must terminate
with some 7,. The product :

ihen clearly has the same effect on each element of § as o does, s0
O = T T sevsnvenainer Thne

Def, 2.4 : A cycle of length 2 is a transposition. Thus, a transposition leaves all
elements except two fixed and maps each of these onto the other. It may be eaSﬂy _
shown that (ay, @) (a1, @3) ... (a1, a,) = (@1, @3 - @)
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Therefore, any eycle is a product of transpositions, So, any permutation of a finite
set of af leal two elements is a product of transpositions.

Example 2.2 : Express the following permutations as product of disjoint cycles :
123456
® (2 5164 3]

@ (“@215@426 (671

4
6

Solution ; (i) Starting with 1 we see that in the parmutatmn 1 goes to 2, 2 goes
to 5,510 4,4 to 6, 6to 3 and 3 to 1. Hence the pcrmutatmn i just a cyclic one
of length 6.

: {ii} Computing the product of the cycles, the given permutation can be written as
(1234567 '
4621375
Stalling with 1 we get a cycle (1 4). Then starting with another element, not in
(1 4), say 2, we get the cycle (2 6 7 5 3). These two cycles exhaust the list {1, 2,
3,4, 56, 7). Hence o= (14) (267 53)=(26753) (4.
Def. 2.5 : A permutation of a finite set is even or odd according as whether it
can be expressed as the product of an even number of transpositions or the product
" of an odd number of transpositions respeciively. .
In this contexi we have the following theorem.

Theorem 2.2 : No permutation of a finite set can be expressed both as a product
- of an even number of transpositions and as a product of an odd number of transpositions,

Proof : Let us consider the polynomial in n-variables ;
plxy, Xp, oo x,) = [0 - %))
=y :

Let &8, be the set of all permutations of the n-variables x;, iz, v X Let o be
a permutation in S,,. Let us apply o on the polynomial p (xy, X3, ..., x,) [Here applying
o on the polynomial p (x;, x3, ..., X,) means that if o takes x; to x;, then we change
X 1[1 p to xj] d
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Thus o changes polynomial
It is clear that polynomial p (xy, X3, ... %,) will become polynomial +p(x;, x;,

b xﬂ}‘

For instance, in S5, o= (1 3 4) (2 5) takes

p (X, X3 o X5) = {J_Fl — X} (xp = 7)) (3 ~ xyg) (xp — x5) (5 — x3)

% (- x4) O — %) (6 — xg) @2 — X5) (g — x5) _
into (¥ — x5} (65 = %a) (55 = %) @& — %) G5 — xg) (65 — 1)) (s — %)
x (g = xp) (g —x) (6 — %)

which can easily be verified to be — p (x5, x3, ..., X3).

If, in particular, o is a transposition, o makes p (x;, X3, ..., ¥s5) t0 -~ p (x;, %3,
e ) : :

Thus, if a permuurion o can be represented as a ;;roduct of an even number of
iranspositions in one representation o must ir:iwn: p (%, X3, ... X,) fixed, so that any
representation of o as a product of transpositions must be such that it leaves p (x;,
X3, .y X,) fixed; that is, in any representation it is a product of an even number of
transpositions. :

Hence, _
1. The product of two even permutations is an even permutation.

2.  The product of an even permutation and an odd permutation is an odd

an . '
3.  The product of two odd pafmutatinﬂs is an even permutation.
Example 2.3 : Determine whether the permutation o on the set {1,2, 3, 4, §, 6}

is odd or even, where

12 A4 5h
it I SN

Solution : The permutation o can be expressed as the product of two disjoint

cycles (1 2 3 5) (4 6). The cycle (1 2 3 5) can be expressed as (1 5), (I 3), (1

2). Therefore,
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-:r={i.f:') (1 3} 2) @ 6)

Hence o is an even permutation.

2.2 Groups of permuiatiuns '

_ We have already defined that a permutation of a set § is a one-to-one function
from S onto S, We have also defined the permutation multiptitation on the set of
permucations of a set 8. Let o and 7 be the permutations of S, so that o and 7 are
both one-to-one functions from S onto §. Now the composite function o 7 will be a
permutation if it is one-to-one and onto from § to &

Let @), a; € § such that aria)) = orl{ay)

Then o{r(ay)) = olz(az))

But ¢ is a permutation, so it is one-to-one mapping from § to &, hance 7 (a;) =
r(a;). Again, ¢ is also-a permutation, so g; = a;.

Hence or(a;) = or(ay) = a; = a; and so ov'is one-lo-one mapping from §
to 5.

Now, wé shall show that or is onto.

ILet a € 85 Since ois a paﬁnut,atiuﬁ, o onto and so there is ' & § such that
o{a') = a. Now, ¢ is also onto, there is " = § such that r{a") = a'.

Then we have a = o(a’) = o(x(a")) = or(a"). This shows that the mapping
o7t 15 onto, :

Hence oris also a permutation.

Theorem 2.3 : Let § be a non-empty set and let P be the collection of permutations
of §. Then P is a group under permutation multiplication.

Proof : For any two permutations o and ¢ P we have proved that o7 € P

To establish the associativity criterion. Let o, 7, g, € P and g & 8 Then

[(or( 4] (a) = (o0) (u(@)) = o(z(u(@)] = [a(z)] (a)

Thus, (er)u and o (7u) map each @ & S onto the same element and hence they

are same permutations. Hence the function composition is associative.

The permutation 77 € P.such that 17 () = a for alla e §, obviously acts as identity
element in P '
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For a permutation a e P such that o(a) = a'; g, ' & §, the unique inverse
mapping o' exists such that ¢™'(a') = g, this is due to the fact that o'is one-to-one’
and onto, Vo : ;

Thus for every o € P, o' exists in P, such that oo™ = o”' o= 7 = the identity
mapping. Hence the set P of all permutations of § furms a group under permutation
multiplication. ' :

Note : There was nothing in our deﬁm‘imn of a permutation to require that the set
S be finite. However, we shall consider permutation groups of finite sets,

Def, 2.6 : If § is the finite set {1, 2, ... n}, then the group of ail permutations
of & is the symmetric group on » letters, and is denoted by S,. Clearly, S, has n!
elements. ,

Let, 4, be the subset of §,, uunsist'ing of all the even permutations of # distinct
‘elements. Since the product of two even permutations is even, 4, must be a subgroup
of §,,. We shall show later that A, is a normal subgroup of §,. The group 4, is called

the alternating group of degree n. We may show that 4, containg %n! elements.
2.3- Quotient Groups :

We recall that a subgroup N of a group G is a normal subgroup of G if for every
g eGandn e N, gng! e N. It follows that the subgroup N of G is a normal subgroup
- of @ if and only if every left coset of N in G is a right coset of N in G.

Let G be a group and N be a normal subgroup of G. Let a, b € G We consider
the right cosets Na and Nb (which are also the left cosets of NV as NV is normal) of
N. We consider the set G/N of all right cosets of N in G and define a composition
on this set by the formula

(Na) (NB) = Nab . - eTh

Na | Nab

Nb
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The formula (1) does not rcpfesem the simple composition rule of two elements ofa
group G, rather it represents the rule of composition of two classes Na and Nb of

“elements of G. Before proceeding further we must show that the rule of composition
(1) is well defined. In otherwords, we have to show that if a; € Na and b, & Nb
then a.b; eNabh.

Since @ eNa, b =Nb [we recall that the elﬂmcnts of the set Na are obtained by
right multiplication of the elements of N by a. Since N is a subgroup, e eN and hence
ea = aeNa], we have a;eNa = Jn;eN such that g, = ma. Similarly, b, eNb =
Iy eN such that b; = nsb. : :

L oaby = manyh = mpanyalab
= ny(anya Yab :

Since N is a normal subgroup of G, an,a™' eN.

Let us write anye™! = nyeN.

Then a;by = mymab = ngab, ny = nypy eN

This shows that a,b, .E Nab

Thus the rule of composition (1) is well defined.

Let Na, Nb, Ne e GIN: a, b, ¢ €G.

Then [(Na) (NB)] (Ne) = (Nab) (Nc) = N(ab)e = Na (bc)
= (Na) (Nbe)
= (Na) [(NB) (Ne)]

So the composition rule (1) is associative on G/N, For the identity element e of

the group G, we have N = NeeG/N and (Ne) (Na) = Nea = Na, ¥a eG. This shows
that N = Ne is the identity element of G/N.

Finally, aeG = ¢ ' €G and we have (Na) (Na™) = Nag™' = Ne = N = the
identity element of G/N. Similarly, (Na™") (Na) = N. This shows that every element
Na =GIN has its inverse. So G/N is a group under the composition rule (1),

The group G/N generated from the group G and a normal subgroup N of G through
the composition rule (1) is called the quotient group of G by N or a factor group
‘of G. Clearly, the elements of G are the cosets of NV in G, The cosets are called the
residue classes of G by N. :
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In particular, if the composition rule in the group G is addition, then the (right) cosets
of ihe normal subgroup N of G are N + a, N + b ete. and so the composition rule
(1) in G/N will look like ' ; —=

(N+a)+(N+b)=N+(a+b :

Theorem 2.4 : If G is finite and N is a normal subgroup of G, then o(G/N) =
o(@)

o(N) : ;

Proof : Since G is finite and N is a subgroup of G, by Lagrange’s theorem, o(N)
divides o(G). Thus there exists a positive integer K such that

o(G) = K.o(N) : PR, 1
Clearly, K is the number of distinct cosets of N in G. Again, since the elements of
GIN are the distinct cosets of N in G, it follows that

o(GIN) = K
o(G)

Hence o(GIN) = K = Ik by (2).

Example 2.4 : The set Z of integers is a group under addition (+). The set 3Z
={..,-6,-3.0,3,6, ..} is a subgroup of Z. For, if we consider any two elements
4 and b of 3Z, then as both a and b are multiples of 3, a — b is a multiple of 3.
So 3Z is a subgroup of Z. Again,' if we take any element x €Z, then x + a + (=)
— 4 &3Z. This shows that 3Z is a normal subgroup of Z. There are three cosets of
17 These are 3Z + 0 (= 3Z itself), 3Z + 1 and 3Z + 2. The elements of 3Z + 1
are {.., 6 +1,0+1,3+1,6+1, ..} we may easily verify that Z/3Z is a group
with three residue classes 3Z + 0, 3Z + 1 and 3Z + 2. The group Z/3Z is a quotient
group of Z by 3Z.

2.4 Generators of a subgroup :
We have already encountered the idea of a generator in the case of a cyclic group.
Now, we shall try to generalize the concept of generators in the case of arbitray groups.
Def. 2.7 : Let 5 be a subset of a group G. A subgroup /fof G is said to be generated -
by S if the following conditions are satisfied :
' ® ScH
{ii) If K is any subgroup of G such that § ¢ K, then H ¢ K
Subg;mﬁp generated by § will be q::nuted by <8>.
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Theorem 2.5 : If § is any non-void subset of a group G, then ihe subgroup <§>
of G generated by § is the set nf all finite products of the form aya; ... a, where
for each i, cither a; € § or g/ &5.

Proof : Let H be the set of all finite products of the form aa, ... a, such that
either a; or a; ' belongs to § and # is any positive integer. Let x, y eH, so that x
= @18y ..y, ¥ = biby .. by, where either by or b7, (G =1, 2, ..., m) belongs

to §. Then

= dia g, by, by
= by . @b b7 L BB

Since either @; or g, &8 and b; or b' &8, if follows that xy™' e H. This shows
that H is a subgroup of G. Let K be any other subgroup of G such that § © K. Then
a €K and hence a™' K as K is a subgroup of G. Thus, if x = aya; ... a,, where
either a; &8 or a;! €8, is any clement of A, then since a; €K, we have x eK. Hence -

H ¢ K. This proves that H is the subgroup of G generated by S.
Def. 2.8 : Let G be a group. For any @, beG, the element aba b7 is called
a commutator in G. The subgroup of G generated by the set of all commutators in
G is called the commutator subgroup of G or the derived group of G and is denoted

e

Theorem 2.6 : Let &G be a group and let G' be th-: derived group (commutator
subgroup) of G. Then

@) G'AG, (i, G'is a normal subgroup of G)
(i) G/G'is abelian
(i) If HAG then G/H is abelian if an only if G' ¢ H.
Proof : (i) Let x = aba™'b™! be any commutator in G (g, b<G). Then x™! =
bab'a7! is also a commutator. Also, for any g €G.
gxg ! = gaba'blg g1
(gag™) (gbg™) (ga'g™") (gb7'g™)
= (gag™) (gbg™) (gag™) (gbg™")"
= pap g’ p, g€G
This shows that gxg™ is a commutator and gxg™'eG"

1

Now, since G' is the subgroup of G generated by the set of commutators, any
element ye G is the product of finite number of commutators, say xi, %;, ..., X
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So, ¥ = XXy .. Xy X; i a commutator. Then for any geC

avgt = goxg . X!

= (exig) @ng™) - (g™

As we have already proved that gxg™' &G, it follows thai gyg™ 'eG' for any ye G, :

Hence G' is a normal subgroup of G ie, G'AG.
(i) For all a, beG, we have
(@G (bG) (@GY' (BGY' = (aba 'b7)G'
Since aba'b™' €G’, we have (aba ' HYG" = G
. (aGY) (bG) @GY" (BGY! = G’ S (1)
We recall that G' 15 the identity elemenj;_uf the quotient grovp G/G', whose clements
are the cosets a(G, bG" etc. Right multiplication of (1) by (bG) (aG’) gives
(aG) (bG) = G'(bG) (aG) '
or, (aG) (bGY) =.(bGY) (aG)
This shows that the quotient gmﬁp G/’ is abelian.
(iif) Suppose that G/H is abelian for a subgroup H of G. Then for a, beG, we
have : ;
 (aba™ b7")H = (aH) (bH) (aH)™ (BH)™ |
= (aH) (aH)™ (bH) (bHY" (.- GIH is abelian)
= H, the identity element of G/H.
This shows that the commutator gba™'b™ e H. But aba'b! is an element of the
demred group G hence G' ¢ H.
~ Conversely, suppose that G' ¢ H. Now, for any g, beG aba b e @' Since
G' ¢ H by assumption, aba” Ip-1 ¢ H, This implies that
(aba b O)H = H . :
= (aH) (bH) (aH)" (bH) = H
= (aH) (bH) = (bH) (aH)
Hence G/H is abelian,
Example 2.5 : Let A be set of all transpositions in the symmetric group 5. Since
-~ every oeS, is a product of transpositions, we find that 4 geneates §,
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Def. 2.9 : The centre of a group G is the set of those elements in G that commute
with every element in G. It is usually denoted by Z(G). Thus,

2(G) = {aeCG|ax = xa PxeG)}
Ex. 2.6 : Prove that the centre Z(G) of a group G is a normal subgroup ol G.

Proof : Since ex = xe VieG, ecZ(G), ie., Z(G) is nonempty. Let a, beZ(G).
Then for all xe G, ab'x = ab'xe = ab™'xbb™ = ab™'bxb™! (since hsz(G}, xb =
bx) = axb = xab!

or, ab'x = xab? VieG
Hence ab ™' «Z(G). Therefore Z(G) is a subgroup of G,

To prove that Z(G) is a normal subgroup of G, we have to prove that for any
geG and any a<Z(G), gag™' Z (G).

Since a e Z(G), a commutes with every element of G,
oag = o . -

Then gag! = agg™! =

But @ EZ(G), 50 gag™' €Z(G) for any gsG

Hence Z(G) is a normal subgroup of G.

_ Ex. 2.7 : Le H and K be normal subgroups of a group G and ls:t HK= {hk|heH
and keK}. Show that HK is a normal subgroup of G.

Soln. : First of all we shall show that HK is a subgroup of G. We consider any
two elements Ak, and hyk, of the set HK. Then

hky(hake) ™ = Bykiky ™ By~ C by g (ke Ry

Since ks K and K is a normal subgroup of G, hu(kik, b, K. Let us denote '
this element by &; and also the element hyh,™' eH. Denoting this clement by h; we

see that
hlkltﬁzf&)_l = h;k] eHE
Hence HK is a subgroup of G.

Now, to show that. HEK is a normal subgroup of G, we take any element bk e HK
and any element g&G. Then

ghkg™ = (ghg™) (ghe™)
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Since H is a normal subgroup of G, ghg"' eH and since K is a normal subgroup
of G, gke! €K, so ghKg' eHK. Hence HK is a normal subgroup of G.

Ex. 2.8 : If a group G has only one element a of order n, then aeZ(@) and
n=2

Soln. : Given that @ is the only element for which o(a) = n. To show that a e Z(G),
we have to show that the element a commutes with every eiemeni of G. Let xe G,
T .
oy = (eax™") (axh) ... (ax™)

! = goxt =

= xa'x"
But (xax'y" # e for m < n
Hence o(xax™) = n
But a is the only element of order n.

Hence it follows that

o, xa = ax Fkel

= aeZ(G)

To prove the second part, assume that » > 2. There exists a positive integer m
(>1) relatively prime to n. Then o(a™) = o(¢) = n. But this contradicts the fact that
a is the only element having order n. Hence n = 2.

EXERCISES

1. Prove that two right cosets Hae and Hb of a subgroup H of a group G are
identical if and only it ab™ eH.

2. Let H be a subgroup of a group G. vae that Ha = H if and only if acH.
3. -If Hand K are subgroups whose orders are relatively prime, prove that He K

= (el
4, Le G be a group in which, for some integer n > 1, (ab)" = o"b" for all a,
beG. Show that G™ = {¥"|xeG} is a normal subgroup of G.
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5,

Show that if G is a group of even order then there are exactly an odd number

of clements of order 2, [Hint : x° # e = x # x™' = there are even number .

of elements satisfying x* # e = there are even number of elements satisf ing

x}.

e].

Let ¢ be an element ::;f a grﬁup (7 such that o(a@) = v Let m be a positive
integer. Prove o(a™) = r/(m, r) where (m, r) = ged of m and r.

Which of the following permutations are even ?

(a)
®)
(©)
@

58
(1, 2) (7, 8, 9, 10)
(1, 2) (1, 3) (1, 4) (1, 5) (1, 6)

(1, 2,3) 4,5, 6) (7, 8 9)
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Unit : 3 O Morphisms of groups

Morphism is an abbreviation of homomorphism. Homomorphism is baé.icall:,f a
mapping from one algebraic system lo a like algebraic system which preserves structure.
In the case of grﬁups we define homomorphism below. _

Def, 3.1 : A mapping ¢ from a group <G, o > into a group < G’ o' > is said
to be a homomorphism if for all @, beG, @aob) = ¢(a) .o*-ﬁ{b') i (1)

Keeping the rules of composition in groups G and G' in mind, the condition tl}
is usually expressed in the form '

- fab) = da)yb) - B (2)

Examples 3.1 :

(1) Let ¢ : G = G' be defined by

#) = e'vxeG.
- Then dearly, for a, beG, ¢(a) = d¢(b).= ¢’
Also ¢(ab) = e’

Plab) = &' = e'e’' = ¢{a)d(b)
Thus, ¢ is a homomorphism from & to. G

(2) Let G be the group of all real numbers under addition and G' be the group
of non-zero real numbers under multiplication.

Let ¢ : G — G' be such that
#la) = 2%, a£G.
Then we have for a; be(i, a + beG and 50 gla + b) = 2uth — 94 9b — G(3)4(b)
Thus, ¢ is a homomorphism from G to G" 2
(3) Let G be the group of imege;s under addition and let G', be the group of
integers under addition modulo 7. Let ¢ : G = G/, be such that ¢(x) = remainder
‘of x on division by n. We can easily verify that ¢ is a homomorphism.

The homomorphism condition (1) or (2) may be representad diagrammatically as
shown below : '
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GxG — G
G X

o' ;
erGr > G

If the mapping ¢ : G — G’ is onc-one "(i.ﬂ., injective) the morphism is called
monomorphism; if ¢ is onto (i.e., surjective), the morphism is called epimorphism and
if the mapping ¢ is one-one and onto (i.e., bijective) the morphism is termed as
isomorphism.

If ¢ is a mapping from a group G o G itself such that ¢ is a homomorphism and
¢ 18 bijeciive, then ¢ is called an automorphism. Thus, automorphism is an isomorphism
fiom the group <G, o> onto itself.

Example 3.2 : Let G be the group of integers under addition and T be the mapping
from to G such that T(x) = —x, x&G. Examine whether T is an automorphism of G.

We have for ¢, beG, a + be(G and 3 )

Na+bd) =-(a+b)=-a-b=(-a) + (-h)
= I(a) + T(b)

Thus T is 2 homomorphism.

To examine T for automorphism, we have to test whether T is bijective.

Clearly, T(g) + T(b) = Na) -~ T(H) =0

= I{a — b) -0
= -a+h=10 or, a = b
Thus T is one-one

Again, for every aeG, we have —aG such T(~a) = — (—a) = a. So T is onto,
Hence T is an automorphism of G.

Example 3.3 : Let C be the group of complex numbers under addition, Consider
the mapping ¢ : C — C defined as @la + ib) = a — bi, a and b are real numbers.
Show that ¢ is an automorphism on C.
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Solution : Let x = g + ib and y = ¢ + id be two elements of C; a, b, ¢, d
being real numbers. Then - '
' o +9) = K@+ i) + (e + id) = Ka + o + i(b + d))
=a+c—ib+d)=(a-ib)+ (c-id
= ¢x) + ¢0) '
So ¢ is a homomorphism.
Now, ¢(x) = ¢(y) > a-ib=¢c - id
sa=cand b=d
= a+ibh=1¢c+ id
> xX=y
.. ¢ is one-one.
Again, for every z = p + igeC, there exist t = p — ig &C such that ¢(1) =
#p — ig) =;§+:‘q=z. Hence ¢ is onto.
" So ¢ is a onc-one and onto humuma}phism from C to C. In other words @ is
an automorphism on C. : Sl el
Theorem 3.1 : Suppose G is a group and N a normal subgroup of . Define
the mapping ¢ from G to GIN by ¢(x) = Nx, vxeG. Then ¢ is a homomorphism of
G onto G/N. ' _
Proof. : We have already proved that G/N is a group. Clearly the mapping ¢ :
G — G/N is onio. For, any element veG/N is of the form y = Nx, for some xe(G
Hence for each yeG/IN, Fx &G such that @(x) = y. So ¢ is onto. Now for a, beG
#ab) = N(ab) = (Na) (Nb) = p(a) 4(b) '
Hence ¢ is a homomorphism. '

The homomorphism G — G/N is called the natural (or canonical) homomorphism

of G onto GIN. . ._
Def. 3.2 : (Kemnel of homomorphism). If ¢ is a homomorphism of a group G into
a group G’ then the kemel of ¢, denoted by K is defined by
' K4 = {xeGlop(x) = ', the identify element of G’}
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In the natural honomorphism G — G/N, since for any naV we have g(n) = Ny

N = the identity element of G/N, _i1 follows that N is the kernel of honomorphism.

{e}.

Theorem 3.2, If ¢ is a honomerphism of a group G into a group G, then
() ¢(e) = €', e and e’ are the identity elements of G and G’ respectwely
@ #67) = [».eitx)]"‘ PG,
Proof. : We have g(x)e’ = d(x) = d(xe) = d(x)p(e)
By cancellation rule, ¢(e) = e'. This proves (i)
To prove part (i), we have e’ = g(e) - dlxx™)
on e = 4(x) pO7)
= ¢0) = [¢T
Theorem 3.3 : A hunumurpﬂism ¢ : G — G' is jective if and aﬂy if Ky =

Proof. : Suppose ¢ is injective and let xK,
Then ¢(x) = e' = ¢(e)

Since ¢ is injective, we must have x = ¢
Hence Ky = {e}

- Conversely, suppose that K‘,; = {e}. Then for xyeG, #x) = ¢{y}

= #0x) [p0)] ! =
= ¢ [d0) = &’
= gy)=¢
= .xjr*‘lsKg; |

But K, = {e}

Hence ' =e = x =y
So ¢ is injective.

Example 3.4 : Prove that if ¢ : G — G'and v : G' = G" are homomorphisms

of groups, then wy . G —» G"is also a homomorphism.
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Solution : :

_CT G ; Q"

- Let x, ysG, then since @ is a homomorphism ¢(xy) = @(x) @)
Now, wié(x) = w(dw))
= pdx) ¢0) :
U gx) w(e) [ v is a homomorphism]
W) we) '
This shows that w¢ is a homomorphism from G to G".

Theorem 3.4 : Let ¢ : G — G' be a homomorphism of groups. Then K, is a
normal subgroup of G and the image of G under ¢ (denoted by I;4) is a subgroup
of G'. _

Proof. ; Since G and G’ are groups and gle) = ¢/, it follows that es K; and so
Ky and I,¢ are both non empty. Let a, be Ky then g(a) = ¢(b) = &'

Then @(ab™) = o) @(b7) = ¢la) [JB)]™ = ee™ = ¢

This implies that ab™! & K and so K is a suﬁgmup of G.

Again let as Ky and geG. : s

Then we have gg™'ag) = ¢g™") da) Hg) = [p(@)] 'e'He) = ¢
g ag & K4 for every geG and geKy

Hence K is a normal subgroup of G.
~ To prove the second part, let x, ye I, T follows from the definition of the mapping
¢ that there exist elements g, beG such that

@a) = x and @b) =

Then 3y = g(a) [@(B)]" = ¢(a} #oh = b

But since ab™ eG, gab™) el ¢ = x ¢ forx, ydm'ﬁ. Hence I, is a subgroup
of G"
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Theorem 3.5 ; (Fundamental Theorem of homomorphism) Every homomorphic i image

of a group G is isomorphic to the quotient group G/ K of G by K, whare K is the
kemel of homomorphism.

G ,_,.--""_ﬁ G
e Y,

K

G/K
Proof. : Let G' be a homomorphic image of a group G under the mapping ¢ :

G = G If K is the kernel of ¢, we have to prove that G/ K is isomorphic to G

In symbol G/K = G". ' |

Consider the mapping y: G/k = G' defined by w(ka) = #a), a:G.

Since the (y-image of a coset depends upon the @-image of a member of the coset,
we have to show that the mapping wis well-defined, For this we require that the image
of each member of Ka is the same as the g-image of a. In other words, y will map

the whole class Ka to the g-image of a.
Let kK, then kg is any memh_ar of Ka
Now, @ka) = ¢(k) ¢(a) : S ['." ¢ is a homomorphism]
of k) = e'H@) = Ha)

Since ka is any element of Ka, it follows that all elements of Ka will map on the
image of a. So the mapping is well-defined,

We shall now show that w is one-one (injective).
Assume that y(Ka) = w(Kb); a, b=

= #a) = ¢b)
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= #a) [¢B)] = o

= ﬁab‘_l} =¢

= ab ek

= a gKb :
But ge Ka. So a &Ka and Kb.

From the property of cosets, two cosets with a common element are identical, Hence
Ka = Kb and so y is injective.

Since G is the homomorphic image of G, the mapping yis clearly onto (subjective).

W is a bijective mapping from G/ K to G'. Finally, we shall show that  is
a homomorphism.

We have, w(ka) (kb) = wlkab) = #{ab)
= Ka) 4b)
= ylka) y(kb)
Thus y is an isomorphism from G /K to G’ and-hence G/K = G'. Proved.
Theorem 3.6 : (Cayley) Every group is isuniurphic to a permutation group.
Proof. : Let G be a group and let Sg denote the group of all permutations of
G called the symmetric group on the set G. For each aseG we deﬁm: mapping.

f:: G = G by
falx) = ax, Fiel.
Thus for x, yeG, filx) = f(¥) = ax = ay-
' = x =y
So the mapping £, is one-one.
* Now, for any x&G, we have fy(a”'%) = a(a'x) = x
That is, for any xsG, there exists a”'x in G such that f,(¢™'%) = x. Hence the
mapping f, is onto. Hence f, is a permutation of G. So f, a?ﬁ
Now, for any a, b, xeG
(fatp) () = falfs(x)) = J&(ﬁx} = abx
' = (ab)x = fap(x)
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Hence fofh = fab
Let us define a mapping ¢ : G = 8§z by ¢la) = f,, .asG
Then for all a beG,
@lab) = fab = fuSo = ¥a) ¢(b)
5. ¢ is a homomorphism from G — §g .
Moreover, @(a) = @(b)
=Ja =1
= fale) = fule)
= ae = be
= a=b :
Therefore, ¢ is one-one homotphsms of G into Sg. Hence G is isomorphic to
the image #(G) of G under ¢ and g’{G} being a subgroup of Sg, is a permutation

group. Hence the group G is isomoiffhic to a permutation group. This proves the
theorem, ;

Example 3.5 : Let R* be the group of non zero real numbers under multipliuatinn-.
Show that the mapping ¢ from R* to R* defined by px) = IIJ: | is a homomorphism.
Find K, . :

Solution : Let x, yeR*, then d(x) = |xy| = |x]| |¥| = @lx) )

8o ¢ is a homomorphism. _
Since 1 is the identify element of the group R* under multiplication, we see that
o(1) = 1 and @(~1) = 1

and there is no other element ﬁ:apping onto 1 Hence K= {l. -1}

Example 3.6 : Let R[x] denote the group of all polynomials with real coefficients
under addition. For any f{x) & R[x] let f'(x) be the derivative of flx). Let ¢ : R[x]
— R[x] be defined by #(/) = /"

Prove that ¢ is a homomorphism and find Ky

Solution : Let f{x) and g(x) &R[x]. Since R[x] is a group under addiﬁnn, we have
f+ geRlx] and ff + ) = (f+ 2" =f ) + &) = ¢f) + d2).



Hence ¢ is a homomorphism.

Since 0 is the idcntity element of R[x], we have for any constant polynomial ¢
&R[x]

d
dlc) = ¢'= Ex—(cc_-nst) =0

This shows that K is the set of all constant polynomials.

Def, 3.3 : Let G be a group and let asG. The function @, defined by @,(x) =
axa™}, VreG is called the inner automorphism of G induced by a.

We may show that the mapping; @, : G — @G is an automorphism of G.
For this, first we show that ta is one-one.
We have ¢.(x) = @a(y)

= axg = aya
=X =y, b}f canf:eﬂatiun law
@, 18 one-one
Also, gpa[a Lxa) = ala™ .ra]a bisi
This shows that for every xG, there is an element o xa 5G such that @,(s"'xa)
= x. Hence ¢, is onto’

Finally, @,(1) = a(w)a™ = axa™ aya™l = ¢x) ¢0)

", @, is a homomorphism.

Hence ¢, is an automorphism of G.

We shall denote the set of all automorphistns of the group G by Aut (G) and the
set of all inner antomorphisms of G by I,,(G).

Theorem 3.7 : The set of automorphisms of a group G (i.e., Aut (G)) forms a
group under the function composition operation.

Proof. : It is obvious that the identity mapping on G defined by ¢(x) = x is an
auntomorphism of G. Hence Aut (G) is not empty.

Let fand g £ Aut (G). Then as f and g are both one-one mappings of & onto
G, fog is also one-one mapping of G onto G. Now, for a, bsG,

(fog) (ab) = flg(ab)]
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= flg(a) g(b)], since g is a homomorphism
= f(g(a)) f(g(B)), since f is a homomorphism.
= fog(a) fog(®)
Thus fog is an automorphism of G and hence fog & Aut (G). .
Since the resultant composition for mapping is in general associative, the composition
m Aut (G) is associative. The identity mapping is clearly the identity element in Aut (G).

Since fis one-one mapping from G to itself, /! is defined and /" is also an injective
mapping from G to itself. We now show that /! & Aut (G).

Let a, beGG, then there exist x.yeG such that
fo) = amd o) = b .
= x = (@) and y = f7'(})
Consequently, @b = flx)fly) = flxy), since f is a homomorphism
= i@y @)
= ["(ab) =f"(ay () \ _
* Hence 7! is an automorphism of G and so £~ £ Aut (G)
Thus, Aut (G) is a group. |

Theorem 3.8 : The inner automorphisms of any group G, I.,,(G) form a subgroup
of the group of all automorphisms, Aut (G).

Proof. : Clearly the identity mapping @.x) = x = exe™! & I(G).
Let @5 # & 1,,(G).
First of all, we show that (@) & I,,(G).

Since G is a group, for every ysG, there exists unique xsG such that y = bxb L,
beG, and x is uniquely determined as x = b7'yb, From the definition of inner auto
morphism, we have ¥ = o).

Thus the unique inverse ()" of the mapping @ exists and
(2)'0) = x = by b = ¢,70), bpeG.
Hence ()" = ¢!
Now, @(05)™'() = @™ ()
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]

o b~ xb) = a(b~'xb),™
= ab ket = g ()

This shows that if @, @ & [(G),

Then .;aa{%}'_l e 1,(G). In other words, I,,,(G) is a subgroup of Aut (G).

Emfnple 3.7 ; Let G be a group and qﬁ_ba an automorphism of G. If g&G is
of order greater than zero, then o(g(a)) = o(a).

Solution : Let n(> o) be the order of asG. Then ¢" = ¢ and a™ # e for positive -
integer m < n. We have

{ea)}" = pla)@(a) ... ¢la). [n factors]

= ¢a") = ple) = e
" o(@(a)). 2 n.
If o(gla)) = m < n, then -
= (pla)" = ¢la™)

Since ¢ is one-one, it follows that a™ = e for m < n, which is a contradiction
to the assumption that # is the smallest positive integer such that a" = e.
Hence o{¢(a)) = n = ola) '
. Theorem 3.9 : Let H and N be two suhg;ruups ofa mup G and NV be a normal
subgroup of G, then
H/H n N = HN\N
Proof. : We consider the subset HN = {hn | heH, neN}
Let hyny, hyny eHN, then hyn(hany) ™" = gy hy™!
| = by g By
Since N is a normal subgroup of G, ho(ryny Yhy L &N,
' and hence: By (hyny) ™! aHN.
Thus, HN is a subgroup of G. Since N is a normal subgroup of G, HN =
We want to show that N is a normal subgroup of HN.
Consider any element Ain; sHN and any element naN, then
hyngn(hyny Y™ = hynynny Ry
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= hy(nypny OB = by, oy = nynng N

Since N is normal subgroup of G, hynghy™ &N and so N is a normal subgroup
of HN.

Let us consider the mapping

@ H — HN | N defined by ¢(h) = AN, vh £H. :
Here @ is a restriction of the natural homomorphism G — G | N to the subgroup
H. Hence the kernel K will be the common elements of H and N, i.e,, Ky= HnN.
Moreover, ¢ is clearly surjective. Thus using the fundamental theorem of homomor- |
phism (Th 3.5) and noting that here H replaces G, HN replaces K, and HN | N
replaces the homomorphic image G’ of G, we have :
H|H Nz HN | N
Theorem 3.10 : Let H and K be normal subgroups of a group G and K < H.
Then
GIK|HID=GH
Proof. : We define the mappmg ¢ between the twn qu{:rt:ent giroups G| K and
G | H of G given by
P(xK) = xHZ x6G
i.e., the left coset of K determined by x&G will map onto the left coset of H determined
by x.

We note that the mapping ¢ is the mapping of a class of elements of the group
G to another class of elements of G, so it is necessary to show that the mapping i
well-defined, ie., we have to show that
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xK = 3K = xH = yH. _
| This means that if two elements x and y belong to the same coset of K, then their
images will belong to the same coset of H.
We have, xK = yK = xk{ = vk, ki, kpeK
. = 3t = ke
"Bt K c H - oxylel i
' =l = pH
Hence the mapping ¢ is well-defined. The mapping ¢ is clearly onto, as for each
xH in G| H we have iis pre-image xK in G| K. '
W now test ¢ for homomorphism.
For x, ye@, we have
HxK) (K)) = oK) = H = (H) OH)
= ¢(xK) ¢(K)
Lopisa hnmﬁmmphism.
The kernel of ¢ is
- Kg= {xK | ¢(xK) = H}, {Jr:;r is the identity elcrﬁem of the quotient group G| H)
{xK'|xH = H}
(<K | xeH)
= H|K
Using the fundamental theorem of homomorphism for groups, we have,
G| | Ks= G|H
ie, (G|KIH|K)=zG|H.
Conjugacy :
Def. 3.4 : Let a, b be the elements of a group G. The element & is said to be
a conjugate of the element g£G if there exists an element ceG such that

il

b= clac
'If @ and b are so related then we ezpress this relation by the symbol @ ~ b and

we call the relation a conjugate relation.
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Theorem 3.11 : The relation of conjugacy is an equivalence relati&n.
Proof. : Since g = a‘Iaa, we have @ -+ a VaeG. Hence the relation is reflexive.
Let a ~ b, ’ﬁmn there exists ce( such that
b= clac ;

= ebcl=aqor, a= ()b !
Since ¢ 1eG, we have b ~ a
S0 the relation is symmetric.
Finally, let @ ~ b and b ~ ¢, then there exist x and y&G such that
la.x, = y_lby

Hence ¢ = y ' lax)y = () la(o)
Since xyeG, a ~ ¢

h=x

This means that the relation is transitive, Hence the relation of conjugacy is an
equivalence relation. :

Since an equivalence relation on a set partitions the set into a number of equivalence
classes, it follows that the conjugacy relation partitions the group G into a number of
disjoint equivalence classes known as the classes of conjugate elements,

Thus, for azG, let c(a) = {xeG | @ ~ x}.

c(a), the equivalence class of @ in G under the relation ~, is usually called the conjugate
class of a in G; it consists of the set of all distinct elements of the form yay, yG.

For a finite group G, if | ¢(a) | denotes the number of elements in the class c(a),
70

o{G) = Z| c(a)]
aaF

where the surmmation on the right hand side runs over one element from each conjngacy
class, g -
Defl. 3.5 : If ae(, then the set N(a) = {x2G | xa = ax} is called the normalizer
of a in G. 5
From the definition it follows that Ma) consists of those elements of G which commute
with the element a&G. Since ea = ge, then sef N(a) is non empty as eaV(a).
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Lemma : Ma) is a subgroup of G.

Let x, yaN(a). Then xa = ax, ya = ay.

Now, (x)a = x(ya)=x(ay) =(xa)y =a(x) = xyaN(a)

MNow, ax=xa=>x lax=a

=sxla=ax” o x7aN(a)

Since x'aN(a), yeN(a), it follows from the above that x 'yeN(a) - Hence N(a)
a subgroup of G. _

Theorem 3.12 : Two elements x, y of a group G give rise fo the same conjugate
of an element a£G if and only if thcy belﬂng to the same right coset of the normalizer
of g in G.

Proof, : Let N(a) denote the nermalizer of a£G, then from the Lemma just proved
N(a) is a subgroup of G. Let x, y belong to the same right coset of N(a) in G.

Since yeN(a)y, xeN(a)y

Now, xaV{a)y — xy'l.sN(a)

= a(xy™) = (™)
= (ax)y” = x(y"'a)
= xlax=ylay

This shows that x and y give rise to the same conjugate of an element a.

Conversely, let x™'ax = yay |

Then x(xlax)y™ = xp7'a

=ay ' =x'a
= xy~ eN(a) :
= xeN(a)y
In other words x belongs to the same rlghi coset as that of y.

Theorem 3.13 : In a finite group G the number of elements in the class e(a) of
all elements conjugate to a is the index of the normalizer of a in G, that is,

: L
|eta)| = =205 =GN @)
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Froof. : By Theorem 3.12, if x, y belong to the same right coset of N(a) in G,
then x, y give rise to the same conjugate of an element geG and if xy belong to the
different right cosets of Ma) in G then they give rise to different conjugates of a in
G. Thus, to each right coset of M(a), there corresponds to a single element conjugate
to a. In otherwords, there is one-one correspondence between conjugates of ¢ and the
right cosets of N(a): Thus, in a finite group, there are as many conjugates of the element
a&(G, as there are distinct right cosets of M(a). But the number of right cosets ofN(a}
il the finite group G is

o(G)
o(N(a))
Hence the number of elements conjugate of a=G is
; AG) _ o
|ea) | = T |
* Since the relation of conjugacy is an equivalence relation, in a finite group G, the
equivalence relation of conjugacy will partition G info a number of equivalence classes,
viz., a class containing the conjugate elements of a, a class containing the conjugate
elements of b and so on. :

Thus, o(G) = sum of the elements in different conjugate classes in G.
=3 e(a)] '
w06 .
= E__a{N(a)) e = R e e i S R S (1)
where the summation runs over one element from each conjugate class of G.
The equation (1) is called the class equation (or class equation formula) of G,
We recall that the center Z{G) of a group G is the set of 'EhGSE elements in G
that commute with every element in G, ie.,
Z(G) = {asG|ax = xa, YxeG}
Theorem 3.14 ; Let Z(G) be the centre of a group G and let ¢, Then a.s-Z(G)
if and only if Ma) =
Proof. : We rcmember that the set N(a) contains those elements of G which commute
with asG. Now a£Z(G) means that the element a commutes will every element of G.

=[G:N(a)]

~ In other words every element of G commutes with the element a. Hence N(@) = G

conversely, suppose that Ma) = G. Then every element of G commutes with a, ie.,
ax = xa bieG. Hence asZ(G). ;
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Theorem 3.15 : Let Z(G) be the centre of a finite group. Then o(G) = o(Z(G))
+ 2 [G.N(a).

aeN ()
Proof. : We have from the class equation formula o(G) = Z[G NN i m)

where the summation on the right hand side runs over one f:lement from each conjugate
class. Since for each element a&G we have either g22(G) or, aEZ(G], the class equation
(1) may be written as

o(G)= 3 [G:N@]+ 3 [G:N(a)]

aeN{G) ] a gl (&)

_ By theorem 3.14, aaM(G) = N(a) = G, and so

o(G) _ oG) _

oN(@) o(G) _
S [G:N(@)]= 2 1 = No. of elements in Z(G) = o(Z(G))

aeZ(G) aeN(G)

Hence o(G)=o(Z(G)+ 3. [G:N(a)]
aeh (&) :

- [G:N(a)]=

where the summation runs through a set of representative of the conjugacy classes.
Theorem 3.16 : If o(G) = p", where p is a prime number, then centre Z(G) *

{e}. =

Proof. ; If a=@, then we have proved that M(a) is a subgroup of G, By Lagrange’s

theorem on finite group G, we know that o(N(g)) divides the order of the group G.

But since o(G) = p”, where p is a prime number, o(n(a)) must be of the form P~

o<k = n : '
Now from the class equation formula

o(G) = 2. [G:N(a]]

.the summation extends over one element ‘e’ from each conjugacy class,
Let us assume that o(Z(G)) = m '
Mow, agZ(G) < Na) =
& o(N(@) = o(G) = p"
opf=p o k=n
and agZ(G) < k < a.
" So that from the class equation
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AG)=0(Z(G)+ ¥ [G:N(a)]
agZ( )

we have, p" =m+ Z‘U—k
k<n P

o, m=p"-¥ p"™*.

]

Since p is a divisor of the right hand side, p must divide m. Slnca eeZ(@), Z(G)
is non-empty. Now, m is a positive mteger divisible by the prime number p and
consequently m > 1 or o(Z(G)) = 1 Hence Z(G) must contain an element besides e.

Example 3.8 ; [fpisa prlme number, any group G of nrder 2p has a normal
subgroup of order p.

Solution : Since p is a prime number and p | o(G), b}r Cauchy’s theorem G has
an element ‘g’ of order p. Then
—{a,a,,..a"——e}
is a subgroup of order p.
Now  [@ N=22
o(N)
Hence NV is a subgroup of index 2. So Nis a nnrmal subgroup of G.

Example 3.9 : Let G be a finite group, and T be an automorphism of G with
the pruperty that T(x) = x if and only if x = e, Prove that every geG can be represented
as g = x~ T{x} for some x&G.

Solution : We have T(x) = x if and only if x = e. Consider the mapping y : G
— G such that y(x) = x"'T(x), x£G.

Then for x, y2G, wx) = 1y)

' = T =y'1G)

T(x) = ')

TRIT) " =

T(x)T(y™") = xp~!, (since T is an automorphism)

6 4 U4

Tey™) =y
= wl=eax=y
. WIS one-one.
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Since G is finite, y is onto
Hence any gsG can be expressed as g = x~'T(x) for some x&G.

Example 3.10 : Let G be a finite group, T an automorphism of G with the property
that T(x) = x if and only if x = e. Buppose further that T 2 = I = identify mapping.
Prove that (G must be abelian,

Solution : From Example 3.7, we find that any G can be expressed as g =
- ¥ T(x) for some xeG.
“ T(a) = T(x")T*(x)
e Tx %, & Tx)=x
L al(a) = x'T(x)T(")x
= (e )k
=x"'T(e)x = xlex=e

Ia)=a"!, asG
Now for beG, (ab)™ = T(ab)
or, T[(ab)™'] = T*(ab) = ab
or, T(I_:-‘Ia‘l} =ab
or, T(X(b) N(a)) = ab
or, T4b) Tz{a) = ab
or, ba = ab, a, bsG
This shows that the group G is abelian.

EXERCISES
1. If 4 and B are groups, prove that 4 x B is isomorphic to B X 4.
2. Let G be a group. Show that
D = {(g,g) G x G|geG} is a group isomorphic to G.
3. Prove that every group of infinite order is isomorphic to the additive group of
integers. _ .
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[Hint : For infinite cyclic gronp G and @ € G, consider the mapping n —»
a”, n is an integer.]
4. If ¢ is an isomorphism of a gmup G onto to a group G', prove that {g(a)}”
= ¢' if and only if ¢" = e

5. Show that a cy’cim group of order 8 is hnmnmnrphlc to a cychc group of
order 4.

" 6. Let Gbeagroup, and f: G - G defined by f(x) = x” be an auturtmrphism_
Show that for each asG, " &Z(G) (i.e., centre of G).

7. let G =< g >and G' =< b > be any two cyclic groups of same order.
Define ¢ : G — G by ¢{a’) = b' for all integers r. Show that @ is well-defined and
it is an isomorphism.

8. Inthe following, verify it the mapping defined are homomorphisms and in those
cases in which they are homomorphisms, determine the kernel.

(a) G is the group of non zero real numbers under multiplication,
#: G —> G such that ¢(x) = %, x € G

(b) G is the same as in paﬁ (a),
gﬁ:.G—}Gsuchthat fx)=2xe G

() G is the group of real numbers under addition,
¢:G > Gsuch that g(x) =x+ L, x e &

(d) G is any abelian group. :

- ¢:G—:-Gsuchthat¢(x]=x5,x€{?,

9, If ¢ : G — H is a homomorphism and G = <a> is a cyclic group, prove .

that ImG under ¢ is cyclic also.



Unit : 4 Q Characteristic of a ring, Ideals of a ring
and Homomorphisms of rings

4.1, Characteristic of a ring : Let <R, +, > be a ring. If each element of the
additive group <R, +> is of finite order and m (}'{]} is the maximum for the orders in
<R, +=, then we say that the ring R has the characteristic m. For example, the ring
<R, +g ¥g= where R = {0, 1, 2, 3, 4, 5} has characteristic 6.

On the other hand if then exists no maximum for the order of the elements of the
additive group of a ring, then we say that the ring has the characteristic zero (or infinity).
Thus, the usuval rings Z, O, R, C all have the characteristic zero,

Theorem 4.1 : The characteristic of a ring with unity is zéro or m (> 0) according
as the unity element 1 has the order infinity or it has finite order m.

Proof : Let the unity element 1 of the ring R hav-:—; the finite order m and let x
be any element of R then

mx=m(1-x}_=l1x+1-x+...+l-x,.(mterms)
' (1 + 1+ ..+ 1), (distributive rule)
=ml-x=0-x=0 :

This implics that the order of an arbitray element x &R is less or equal to m, So,
by definitien, characteristic of the ring is m.

I

Theorem 4.2 : The characteristic of an integral domain D is zero or m (> () according
as the order of any non zero element in D is either infinity or m
Proof : Let a be any nonzero element of D having finite order m, so that ma = 0.
Let d be any other nonzero element in D, then
O=@ma)-d=(@a+a+..+ta)- -d
=g d¥ta-d+ .. +a-d
= a - (md)
Since aa integral domain is without zero divisor and & 0, if follows that md = 0
. or, order of d < m = order of a |
Let order of d = p, so that pd = 0
Then 0 = (pd)a = d(pa)
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Since d # 0, pa = 0, and so
order of @ £ p = order of d
By (1) and (2), order of d = order of a.

It follows that every nonzero element of D is of the same finite order m, so that
the characteristic of an integral domain is m.

Theorem 4.3 : The characteristic of an integral demain is either zero or a prime
number.

Proof : Let p be the characteristic of the integral domain D, We shall prove that
P is a prime number. Suppose that p is not a prime number. Then we can write P

= pip2 where py # 1, pp # 1 and py, p; < p. Let a'be a nonzero element in D,
Then a* = @ - @ = 0, Since both a and 2 are nonzero, we have

order of @ = order of a* = p :
0 = pa = pa* = (pipy)a® = (p1a) (pya)
Since [ is integral domain, it follows that either pja =0 or pa2a =0, This contradicts
the fact that p is the least positive integer such that pa=0.

Hence p is a prime number,
4.2 Ideals of ring : Normal subgroups have a special role in group theory in the

sense that normal subgroups permit us to construct factor groups or quotient groups.
In the case of rings we have similar concepts, namely ideals and quotient rings,

Definition 4.1 : A nonempty subset § of a ring R =< R, +, - > is called an ideal
of Rif, -

() a, beS implies a — beS
(i) a8 and reR imply arsS and raes,

Definition 4.2 : A nonempty subset S of a ring R = < R, +, > is called a right
ideal or R if, :

@ @ beS implies a — b,ES
(i) a&S and reR imply areS
* Bimilar is the definition for a left ideal.

We recall that a nonempty subset 5 of a riﬁg R is a subring if and only if for all
a, beS we have a — beS and abeS.
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From the definition of an ideal it is clear that an ideal is a subring of the ring R.
Every ideal is both right and left and so an ideal is some fimes called a fwo-sided ideal.

Consider two special subsets of R, viz, the subset {0} and R itself. Tt is trivially
rue that these subsets are ideals of R and so are called trivial ideals. Ideals other than
{0} and R are called proper ideals. '

Example 4.1 : Let R be a ring and a<R. Consider the subset aR = {ax |xeR}.
We can easily show that aR is a right ideal of R, For, let ax and ay be two elements

of aR; x, yeR.

Then ax — ay = alx — ¥)

Since (x — ) € R, a(x — ¥) € aR

So ax —ay = aR

- Again, axeaR, and y R will imply
(ax)y = a(xy)

Since xyeR, a(xy) € ak

Hence (ax)y € aR

This shows that aR is a right ideal of R.

We can show that the set Ra = {xa | x e R} is a left ideal of R.

If R is commutative, then we say that @R is an ideal of R.

We note here that the element a need not belong to the ideal aR. The sufficient
condition for @ to be in R is that R must be a ring with unity, ie., 1 R and in this case
g-1=a =ak. ]

Example 4.2 : Let R be the ring of all functions from the closed interval [0, 1] to the
field of real numbers i.e., the elements of R are real-valued functions f{x) whose domain
is the inteival [0, 1].

Clearly, R with usual addition and multiplication of functions fmm a ring. C.otmder the
subset S of R defined as follows :

Forx [0, 1], § = {f € R | flx) = 0}. Then clearly, S is nonempty and for f, g =
8,

ft5) =0, gx) = 0
= fix) - g(x) =0, x &[0, 1],
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Also, fix) e § and A(x) e R, x = [0, 1], will imply, fix) A(x) = Oh(x) =0
T e 25

Hence, by definition, § is an idea! of R.

Example 4.3 : Let Z[x] denote the ring of all polynomials with integer coefficients and

 let 8 be the subset of Z[x] with even constant coefficients,

Then § is an ideal of Z[x].

Theorem 4.4 : If R is a commutative ring, the set (@) = {xa | x € R} ofall multiples
ax = xa of any fixed a & R (by a variable element x & R) is an ideal of R,

Proof ;: Let x, v & R, then xa, ya < (a)
Now, xa — ya = (x — y)a_e (a) and for any r € R, r (xa) = (mx)a € (a)
(xa)r = (ax)r = alxr) = (a)

Hence (g) is an ideal of R.

Ideal (@) which consists of all the multiples of some fixed element a & R is called a
principal ideal of R.

Theorem 4.5 : A commutative ring with unity is without proper ideals if and only if
it is a field,

Proof ; Assume that R is a commutative ring with unity but R is not a field. We shall
show that R has a proper ideal. Since R is not a field, R will contain some non-invertible
a ( 0). Clearly then multiplying this element a by the elements of R cannot generate the

_ unity element of R. Hence the ideal (a) is a proper ideal of R.

Now assume that R is a field and / be any ideal of R such that & + {0}, Then H
must contain some nonzero k & R, Since R is a field, multiplicative inverse /' of & must
exist in R. For any x € R, xh"' e R, and from the definition of an ideal (xhi™Yh e H =

x e H

Thus,x eR =>x eHand so R g H.

But H ¢ R. Hence H = R. This means that H is not a proper ideal of R if R is a field.

It follows that {0} and R = (1) are the only ideals of the field R,
Note : This result fails to be true in émeml for noncommutative rings.
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Definition 4.3 : Let G be a group and S be a subgroup of G; for a, b & G we say
a is congruent to b mod S, written as a = b (mod §) if ab™! € 5.

It can be shown that the relation a = b {m{:_rd &) 18 an equivalence relation,

Theorem 4.6 : Let H be an additive subgroup of the ring R. Then the partition of R
into cosets of H has the substitution property, i.e.

a = b (mod H) = ar = br (mod H) for all ER, if and only if H is a right
ideal,
Proof : If H is a right ideal, then a e H, b eH:::-a—h EHandar e H, {:.ye
H for all » & R. Hence ar — br € H, which means that ar = br (mod H).

Conversely, ifa—b e H=> ar - br (a— by e H for aII r & R, then by definition
H is a right ideal of R.

4.3 Hl}mnmﬂrphlsms of rings :

Definition 4.4 : Let fbe a mapping from a rmg R into a ring 5 such that for a,
belR

() fa + b) = fla) +ﬂi’1},
(i) flab) = fla) fIb),
Then f'is called a homomorphism of R into S.

“We recall that if f'is one-one, thenfm called 2 monomorphism of R mtu S. In this case
fis also called an embedding of the ring R into the ring S. If f is both one-one and onto
then we say that the rings R and § are isomorphic and we write R = 5.

Theorem 4.7 ; Let f: R — S be a homomorphism of a ring R into a nng S, then we
have the following :

@ If0 is the zero element of R, then f{0) is the zero element of S,
@ Ifa <R, then fi-a) = fla)

() The set {f{a) | @ € R} is a subring of S, called the homomorphic image of R by
the mapping f and is denoted by L,f or f{R).

(iv) Theset {a eR|fla) = U} is an idea! in R, called the kam-:] offand is denoted
by Ky or Kerf.

(v) Ifl R, then f{1) is the unity element of the subring f{R).
(vi) IfR is commutative, then f{R) is commutative,
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Proof : (i) We have, since / is a homomorphism of rings, for a & R, fla) = fla + 0)

(i)

(iiD

(w)

)]

()

= j{a] + f10). This shows that f{0) is the zero element of 5. Let us denote the

- zero eiernent f{0) of § by ﬂ

We have 0, = fl0) =fla + (- @) = fla) + ﬂ— i)

This shiows fhat S a) = - fla)

Let fla) fib) < fR), then

f@) — f(B) = fla) + fi- b) = fla — b)

Since a — b = R, fla — b) = f(R) and so fla) - fib) € flR).

Also, fla) fib) = flab)  fiR) |

Hence f{R) is a subring of §.

Leta, b e Kp= Ker fand let » € R, then

fla) = ) = 0, = fla) ~ fB) = 0,

- = fla-b) =10
s B Ky _

and flar) = fla) Ar) = 0, fir) = 0, and hence ar Ky

. Kris an ideal of R.

Let 1 e R and a R, then la = a. Since f'is a hnmumurphlsm,

fa) = 1) fla)

Similarly, fla) = fla) A1)

This shows that f{1) is the unity element in f{R).

If R is commutative, then a, b éR => gb = ba and since fis a homomorphism,
flab) = fiba)

= fa)fB) =) fla)

" Hence f{R) is commutative,

Theorem 4.8 ; Let f: R—}Sbeahﬂnmnmrphism of a ring R into a ring §. Then

Kr= {0} jfand only if f is one-one,
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Proof : Suppose that fis one-one. Then, for a, b € R, fla) = flb) = a = b. We also
 know that {0) = O,, 50'0 € Kj: Let a & Kj; then by definition of a kemel f{a) = O,. So
F(a) = O, = f{0), But since f is one-one, we have a = 0.
K= {0}, | |
_ Conversely, let Ky= {0}, We shall show that fis one-one. Let a, b € R, If fla) =
f(b), then fla — b), then fla — b) = O; = a-b € Ky But K contains only the element
0. 8o a —b =0 or a = b. Hence f is one-one.
Theorem 4.9 ; (Fundamental Theorem of Homomorphism) Every homornorphic
image of a ring R is isomorphic to some quotient ring of R.
Proof : Let S be the homomorphic image of a ring R under a homomorphism 8: R
3 § and let H be the kemnel of & Then H is an ideal of R. We consider the mapping @
defined as '
@: RIH—> S
such that (H + @) = &a), a € R. We first show that ¢ is well-defincd.
_ leth e H then h+a € H+ a,
so that &(h + a) = 6(h) + &a) = &a), . &h) = O,
This shows that all the elements of the add;twa coset H + a map onto the element &a). |
Hence ¢ is well defined. o 7
Next we shall show that rpis one-one. Suppose that
q:{Hﬂ-a]fqv(H+b),b eR,
then, &a) = &b). e e
But &is 2 homomorphism, so &g - by =0,=a-b eH
o, Hta=HTh '

@ is one-one.:

Since § is the homomorphic image of R under 6, for everyx € 5, 1 € R such that _
@a) = x. This implics that o(H + a) = x. So g is onto. -
Finally, we E;a{re to show that @ is a homomorphism we have,
P(H+a)+(H+Db)=@H+(@+b)= &a +.b)
= &) + 6)
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=@+ a)+ ¢(H+ b)
Also ¢((H + a) (H+ b)) = ¢(H + ab)

= Qab) = da) AB)

= ¢(H + d) §(H + b)
Thus ¢ is a homomorphism. :
Since ¢ is one-one and onto hothomerphism, ¢ is an isomorhism from R/H to §.

Theorem 4.10 : Let #: R — Sand 6”": R — §' be two epimorphisms of rings with
the same domain R and kernel . Thgn their images S and $" are isomorphic,

Proof :

L

e > e~

&g

Let us define a mapping f : R/H — § such that for @ € R, fla + H) = &a). The
mapping is well-defined, sincea + H=b+H=pa-b ¢ H= fa-b)= 0, = &a)
— 8b) = 0; = da) = &b).

Now,flla+ H}+ (b+ H)) =fla+ b+ H)=8da+b)

= €a) + &b) = fla + H) + fib + H)
and fl(a + H) (b + H)) = flab + H) = &ab) = da) &b)
=fla+ H)flb+ H)

Hence f is a homomoiphism.

Clearly, f'is onto.

Again, fla + H) = flb + H) = &a) = db) = Ha) - &b) = O;,=> Ha-b) = O,

=a-beH=a+H=bh+H '
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| —R fis one-one,
Hence [ is an isomorphism from R/H — §.
Thus, R/IH = 8. .
Similar argument shows thai R/H = §'.
Let us now define the mapping @ : § —» §" such that
fday=x €8, a)=x"e8,a ek, then @(x) = x’
Now a@(x) = o) = x'=y'= ¢ (@) = () = da-b=0=a-beH=
a+H=b+H= flat+ H=flb+H = &a) = ab) => x=y
- i5 one-one,

Since both @and & are epirnorphisms and since &' (x) = & ‘l(x’} a+ H, it follows
that the mapping ¢ is onto.

Lastly we shal! show that e is a homoinorphism
Wehave, ') =@ ')=a+H aeRxe8 xS
glip)=0"y)=b+H beR yeS )y es
It follows that &' (xy) = H + ab
and @ ~'(xy") = H + ab
Hence from the definition of ¢ we have
@lxy) = xy' = plx)ely)
Also, 07+ =@ +y)=@+ b+ H
olx +y) =x"+y'= ¢lx) + o)
So ¢ is an isomorphism from § to 5° and
o= 8
Theorem 4.11 : In any integral domain D of prime characterstic p, the assignment x
—3 P is a monomorphism.
Proof: Ifa, b € D, we have, by binomial theorem

(axb)’ =apt (‘?]a"_lb + (fz’]a@"zbi U (g][ib}" .......... (L)
Let us consider the term (ﬁ}aﬂ-x_bx in (1).
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. P-Kp K ; e p[
Clearly o7-%p Eand(K)-—K!(p—K]I

Since p | is divisible by p and neither K | nor (p - K) ! is divisible by p for 0 < K
< p, it follows that (ﬁ) is a multiple of p and since p is the characteristic of the integral
domain, we have

[F]a—""‘bﬁf =0, 02K« p,

K
Hence from (1),
(@* )’ = aP + 1P | ot
Again, since D is a commutative monoid,
(aby’ = ofbP it e (| (3)

that
Ma+b) =(a+by =d +¥ = yla) + ub)
and  siab) = (@b = B = 1a) 1(B) '
Hence pis a homomoiphism from D to D,
Finally, HMa) = pub) =P =P = of PP =g — (@ - by =0, by (2)
Since D is on integral domain (a-bP=0 =Sa=b
. Hence m(a) = m(b) = a = b
o s a.hﬁnnumnrphism from D to D,
4.4 Maximal ideal and prime ideal
Def. 4.5 : An ideal M of a ting R is said to be a maximal idea! of R if
() M=R :
(2)  there exists no other ideal A of R such that M HcR

Thus from the definition it follows that if we have an ideal Hf of such that M &
C R, then either H=Mor H=R,

Example 4.4 : In the ring R of integers with usual addition and multiplication the
ideal (2) [recall that (2) contains the set of elements obtained by multiplying 2 by the.
elements of R], is a maximal ideal. This may be established easily. We note that the
element 9 € (2) but 9  (2). Hence (2) = R. Now suppose thai } is any other ideal
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of R such that (2) < H, this means that there is an element x e H which is not divisible
by 2. Hence x = 2n + 1 for some integer H.
Now, 1 =x —2n
Since x eHand 2n (2), 80 2n EHandsmccHxs anidealof R, x—2n—-1 &
H. Hence from the property of an ideal, we have foranyy € R, L.y eHie.y eH. 50 .
Rc H But Hc R. Hame H = R. Hence (2) is a maximal ideal in the ring of integers.
It can be easily proved that for any pl‘l.l’ﬂﬁ number p, the ideal (p) is maximal in the ring
of integers.
Theorem 4,12 : In a nonzero commutative ring with unity, an ideal M is maxi[ml if
and only if R/M is a field, ;
Proof : Suppose that RIM is a field and B is any ideal of R such that M — B. Let
b e Bbut b & M. Then b+ M is a nonzero element of R/M and since by assumption
RIM is a field, there exists an element ¢ + M of RIM such that
(b+ M) (c+M)=1+M (= the multiplicative identity of R/M)
GQince b e B and B is an idea! of R, we have
bc € B |
Again, 1+ M=(b+M)(c+M=bectM
S0, l-bceMcB
" (l-be)+tbceB
1leB
9o foreveryx e R,1-x e Bie x e B
Hence B=R
The ideal M is a maximal ideal in R.
Conversely, suppose that Mis a maximal ideal in R. We shall show that R/M is a field.
To prove this we have to show that every nonzero element b + M & R/M has a
multiplicative inverse.
Consider the set 8= {brta|r eR,a e M}. Cleatly B is an ideal in R, and M ©
B. But as M is a maximal idea! in R, we must have B=R. So 1 € B. From the structure
of elements of B we must find some ¢ e Rand a’ & M such that
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1 ="bec+a
and hence 1 + M =be + '+ M=be + M= (b + M) (c + M)
This shows that the element ¢ + M is the muItlphxcatwe mverse of b + M in R/M. So
RIM is a field.

Example 4.5 : If R is the ring of 2 x 2 matrices of the form [‘6 g] where a and

- b are elements of a field .F. Show that the set M = {[g 'ﬂ

b EF} is 8 maximal ideal
inR. '
Solution ;: We can easﬂy prove that M is an ideal in R, Let us consider the subset §
of R of the form
ac F}

s=s 3

Then § is a subring of R and if we define a mapping £ : S — F by

A5 3))-

then clearly ¢ is one-one and onto.

Now o{[5 S]+[6 §])-

Hence ¢ is an isomorphism.
Now, we consider the mapping £: R - S, where

A5 &)-[5 ¢]

.



we can show that the mapping ¢ is onto nomomorphisrr. whose kernel is M. '_I'ium, Sy the
fundamental theorem of homomorphism R/M = §. But § is a field. Hence R/M is a field -
and so M is maximal idea! in R. - .
Definition 4.5 Prime; ideal : Let R be a commutative ring. An ideal P of R is said
So be a prime ideal of R if for @, b € R, ab P implies that a ePorh P,
Example 4.6 : In any integral domain R, (0) is a prime ideal. For ifab €(0),a, b
& R then celearly either a e (0) or b & (0).
Theorem 4.13 : An ideal F of a commutative ring R is prime if and only if R/P is an
integral domain. -
Proof : Let R/P be an integral domain.
.Then for alla, b e R, ab € P = ab +P=pP
:}(a-E-P] (b+P)=P
::-f:ithﬂra+P=Po_r1:b+P=P-
=> gither u e Por b e P.
Hence P is a prime ideal.
Conversely, let Pbea prime ideal in R. Then
(@+P)(b+P)=P=ab+P=P
. =agh P :
= githera e Porh e P
= eithera + P=Porb+ P=P :
Thus R/IPis wi_thuut zero divisor. Also R/P is a commutative ring as R is commutative.
Hence R/P is an integral domain,
Theorem 4.14 : If R is a commutative ring with unity, then.each maximal ideal is
prime, but the converse, in general, is not true.
Proof : Let M be a maxima! ideal in R. Then by Theorem 4.12, R/M is a field. So
RIM is necessarily an ﬂegral domain. Hence by the Theorem 4.13, M is a prime ideal.
The cunﬁerse of this therorem is not true, in general. For, the ideal (0) in the ring of
integers is prime but not maximal. :
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EXERCISES -

Prove that the homomorphism ¢ of a ring R onto a ring R’ is an isomorphism of R onto
R if anﬂ only if K4 = {0}, where K denﬂtes the kernel of 4.

If R is a ring with unity element 1 and @is a homomorphism of R onto an integral -
domain D such that X, # R, prove that ¢(1) is the unity element of D.

Let R be the ring of integers and let U be the ideal consisting of all multiples of 17,

- Prove that if ¥ is an ideal of R and R o V o U, then either ¥F=Ror V=,

If U is an ideal of a ring R and | & U, prove that U = R.

5. MU, Varcideals of Rand U+ V= {u+v|u e U, v & }. Prove that U +

is also an ideal of R,

Prove that any homomorphism of a field is either an isomorphism o-r. takes each
element onto o.

LetRhearmgandLbea]ﬂﬂldﬂalafR Lf:t/’t(L]— [xeR|xa=0, Va EL}
Prove that A (L) is a two-sided ideal of R.

If R is a commutative ring and a &R, show that aR = {ax :x eR} is a left and right
ideal of R.

What will be your conclusion if R is noncommutative?
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Unit - 5 O Edclidean domain, Polynomial rings

Division algorithm for the set of integers Z : :
We state here a very fundamental theorem called the Division Algﬁrlthm for Z.

Theorem 5.1 : Let a, beZ, b > o. Then there exists a unigue integers g and r such
that a=hg+r,osr<h

where g is called the quotient and r the remainder of a modulo b.
(For proof see, for example, Bhattacharya et.al p 32)
'5.1, Enclidean domain :

Definition 5.1: A Euchdean domain is an integral domain D with a valuatlon v:D*
" — N(D*is the set of non zero elements of D and N is the set of non-negative integers),
having the following properties :

For all b e et g e S S SRR R S 1) .
Given azD and beD* there exists a gaD such that @ = bg + r, where either r = 0
or, v(r) < w(b) : w2

Example 5.1 : The integral domain Z is a Euclidean domain with valuation v defined
by ' wa) = | a |, agD. '

For, v, yeD = v(xy) =[xy | =[x | |y | and |y | = | if y # 0, s0 v(xy) = v(x) and-
the condition (1) is satisfied.

Condition (2) is just the division algorithm for integers.

Theorem 5.2 : In any Euclidean domain D, for xyeD*, we have v(x}-} v(x) if y is
invertible, whereas v(xy) = v(x) if it is not.

Proof, : We have, by the definition of Euclidean domain,

K e ampliss vl =ty e (D
MNow, if y is invertible. Then ]
wx) = voogy ) = vixy) _ ekt

By (1) and (2), v(xy) = v(x)
Moreover, it xy divides x, then there exists some zzD such that xyz =x = x .1. But

. since D is an mteg;ral domain, by cancellation rule, yz = 1. Also, since xeD*, y must be
invertible.
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Now, suppose that xy does not divide x. Then from the second property of Euclidean

T e e e B B S D N (3
such that either F=0 - or, v(r) < v(xy) e (4)

Now from (3) r = x ~ g(@) = x(1 — gy) '
W=yl -z L ©)

From (4) and (5), V() > v(r) > v(x)
i.e., ¥ixy) > v(x)
Thus, when y is invertible, v(xy) = v(x) and when it is not then wixy) = vix).
Def. 5.2: LetRbea ﬁunnnutative ring with unity. An element w&R is said to be unit
in R if thare exists an element baR such that ub = 1. |

In other words;, % is a unit in R if it has multiplicative inverse in R.
MNote : There may be more than one unit in R but the unity element is unique in R,
Example 5.2 : In the integral domain Z the only units are+ 1 and — 1.

Definition 5.3 : Let R be a commutative ring with unity. We say that two clements
@ and b in R are associates and write @ ~ b, of for some unit uzR, au = b.

Theorem 5.3 : For a Euclidean domain with Euclidean valuation v, (1) is minimal
among all Wa), aeD* and u£D is a unit if and only if v(u) = w(l).

Proof. : Let asD*, Then since a.1 = a, we have y(a) = v(a.]) = v(l).

This pmve;s the first part of the theorem.

Let it be a unit in D. Then u has its multiplicative inverse w ™' &D such that uy ! = 1

W(1) = ™) 2 vi)

But from the first part, v() = v(I)

Combining these together, we have v(u) = v(l)

Conversely, suppose that uaD is such that w(u) = u(1), we shall show that « is a unit

in D,

Since u and 1 belong to D, it follows from the second property of Euclidean domain
that there exist g and r&D such that
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1 ~qu+r b SO i L
where elthe,r r=0. o)< V{H) ; .

But since (i) = (1) is minimal over all w(d) with daD*, it follows that p(r] < v(u)
is impossible. Hence »= 0 and so from (1) we have 1 = gu and hence # is a unit in D.

Definition 5.4 : Any integral domain in which every idea! is pnnclpal is said to be

a prmmpal ideal domain (PID).

Theorem 5.4 : In any Euclidean domain D, every ideal is principal.
' Or
: A Euclidean domain is a PID. .
Proof. : Let H be any ideal of the given Euclidean domain D. If H = {o}, there is

. nothing to prove. So Suppose that H contains a non zero elengent b with minimum v(b).

We shall show that H = (b), a principal ideal of D.
Clearly H = (b) UL ek (1)

It temains to prove that H < (b). If a=H, then from the property of Euclidean domain
D, there exist g, 72D such that a = bg + r, where either # = 0 or, ¥(r) < w(b). But v(r)
< y(b) is impossible, since v(b) is minimal among the valuations of elements of H. Hence
r=0. N :

| So a=bhyg

This means that any element aeH is a multiple of bzH. So He@m = i

Combining (1) and (2), we have H = (b) and the ideal H is principal.

Definition 5.5 : Let a, b be two elements of an integral domain D, An element dzD

is said to be a 'gre:a.tcst common divisor (ged) of ¢ and b if:

® d|aandd|b, [d]a isread as d divides a]
() whenever ceD is such that ¢ | g and ¢ | b, then ¢ | d.

' Theorem 5.5 : If D is a Euclidean domain with Euclidean valuation v and 4, b are
two non zero elements of D, then there exists a ged d of @ and b,

Moreover d = Aa + ub for some A, peb.
Proof, : Consider the set H = {ra + sb | r, s&D]
Now, (ra + 5;b) % (rya + s,b) = (ry = ry)a + (s = s3)b, #.1p5 Sq &l
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and f(ra + sb) = (t)a + ()b, teD.. _
It follows that H is an ideal of D. Since every ideal in a Euclidean domain is principal,

it ﬁ:-llows that H = (d), for some deD. Then since every element of His a multiple of d,
we have d | (ra + sb) for all » and seD.

Soifwetakc.s=E},r_'=I,waﬁndthatd[aandtakingr=ﬁ,3=lwch&vedfb,

Let ¢ be any other divisor of @ and b ie., ¢ / @ and ¢ / b. Then clearly ¢ / ra and
¢/ sbforall v, seD. Hence ¢ / (ra + sb) for all #, s&D. Thus ¢ divides all elements of I
and as deH, it follows that e/d. Hence d is a ged of g and b. And from the nature of
construction of H it follows that there exist A, ,uaD such that

d=Aa+ ub.
Theorem 5.6 : (Euclidean Algorithm). Let D be a Euclidean domain with Euclidean
valuation v and let @, b be non zero elements of D. Let #;&D be such that
a = by, +ry, q,&D
where either  #, =0 or, ¥(r;) < ub). :
Let r4 be such that b = ryg, + 15 qrz,rzsﬂ; where either 1, = 0, or, ¥(r;) < v(r)).
In general, let r; ,  be such that
el T i B e Gy s ":H'ﬂh
where either a1 =0, on vir, ) < Wn) ;
Then the sequence £y, #; ........ must terminate with some #, =0 and thenr, _; isa
ged of @ and b, :

Proof. : Since v(r) < w(r;_ 1} and v(r;) is a non-negative integer, it is clear that after
some finite steps we must arrive at v, =0, _
~ Now, if r; = 0, then a = bg,, so that b is clearly a ged of 2 and b, Suppose that
. #0.Thenif d/a and & / b, we have d | (a — bg), gD, ie, d|r.

However, if ¢ | ry and ¢ | b, then ¢ | (bg + #{), i.e., ¢ | o. Hence the set of common
divisors of @ and b is the same set as the set of common divisors of & and .

By a similar argument, if #, = 0, the set of common divisors of b and #, is the same
set as the set of common divisors of #; and r,. Continuing this process, we see finally that
the set of common divisors of ¢ and b is the same sef as the set of common divisors of
to_qand ry_ ;
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Thus when r, = 0, a ged of ,_, and r, _, is also a ged of @ and b.

But when r, = 0, we have r,_, = g, and this shows that . _, is a ged of @
and b.

Definition 5.6 : In a Euclidean domain D a non unit a is said to be Prime element
of D if whenever a = xy, where x, y&D, then one of x and y is a unit in D.

Thus, according to this definition, a'prune element is an element in D which cannot be
factored in a nonirivial way.

Theorem 5.7 : Let D be a Euclidean domain, Every non-zero element in D is eitﬂar
a unit in D or can be written as a product of ﬁnité number of prime elements of D,

Proof. : The proof is by induction on w(a). If v(a) = v(1) then a is a unit in D and
so in this case the statement of the theorem is correct. .

We assume that the theorem is true for all non zero elements x2D such that v(x) <
v(a). On the basis of it we shall prove the theorem for a.

If @ is a prime element of D, there is nothing to prove. So suppose that a = be, where
neither & nor ¢ is a unit in D.

Now, v(b) < v(be) = w(a) and v(e) < v(be) = v(a)

Thus, by our induction hypothesis b and ¢ can be written-as the product of finite
number of prime elements of D;

_E’ = PPy - Py € = PPy o Pl

where p’, and p", are prime elements of D. Consequently, a = be = PP,y ... P, p'ip'y ...
P, and in this way a has been factored as a product of finite number of prime elements.

_ This completes the proof.

Defimition 5.7 : In any Euclidean domain D, a am:l b in D are said to be re]atnrely

prime if their ged is a unit of D. :
Definition 5.8 : If R is a commutative ring with unity, then two elements o and b in.

R are said to be associates if b = an for some unit u in R.

Since any associate ofa ged is a ged and since 1 is an associate of any unit, it follows

that if ¢ and b are relatively prime, we may assume (a, b) - 1, ie, ged of g and b is 1.
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Theorem 5.8 : Let D be a Buclidean domain. Suppose that for a, b, c&D, a | be but
(@, 5)=1. Thena|e

Proof. : We have already established that ged of @ and b can be obtained in the form
Aa + wb, A, ueD. So (a, b) = 1 means that Aa + ub = 1.

Multiplying this equation by ¢ we get

Aac+ ubc =c¢

Now, @ | Aac always and a | pbe, since it is given that a | be. Hence a | (Aac + pbe),

or,a|c |

Theorem 5.9 : I p is a prime element in the Euclidean domain D aﬁ-:i p | ab, where '
a, beD, then p divides at least one of @ and b,

Proof. ; Suppose that p does not divide a. Then (p, @) = 1. Hence by Th. 5.8, p-| b.

An immediate extension of Th. 5.9 is that if p is a prime element in the Euclidean
domain and p | a,a, ... a,, then p divides at least one of ay, @y, ... G,

Theorem 5.10 : (Unique Factorization Theorem). Let D be a Euclidean domain and
a(z 0) be a nonunit in D. Suppose ihat a=pipy . Py = PP’ . Py Where p; and p'y
are prime elements of D. Then = m and each p; (1 < i £ n) 15 an associate of some p;
(1 £ < m) and conversely.

Proof. : We have a = pyp; ... po= PP Pl

But  p, | pypy .- Py hence py | PP o Pl

_ By Th. 5.9, p; must divide some p;; since both p, and p’; are prime elements of D
and py | p’;, they must be associates,

and p'} = u;py, where u; is a unit in D.

This, PPy - Py = WP P1PY e Py Pyst o Pm

= Py o Py =W PP - Py-1 Pjr1 o P

Repeating this argument, after n steps we get 1 on the left hand side and a produet

n'i‘cartaih factors of p' on the right hand side. Since p', s are prime, we must have m =
* n. This proves the theorem. '
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5.2, Polynomial Rings :

Let R be a commutative ring, By the ring of polymomials in the mdctemnnate x, written
as R[x], we mean the set of ail symbols

; L
agt+ax+..ta,x" = Yax*
Kmi

whete m can be 3]1};" non-negative integer and where the coefficients ag, ay, a, ... a,, are
allin R.
Let us denote the polynomial in (1) by a(x), so that ax)=agtax+ ..+ a,x".
The canonical form of the polynomial a(x) is defined as follows :
() pick the largest k in (1) with a; = 0, say-k =, and then
(@ rewrite (i) as g
ax) =aytax+..+ax" a =0
In the exceptional case that when all a, = 0, the canonical form is zero. The degree

of a(x) is the integer » in (2) and is symhuhzed by deg a; if a(x) has the canonical form
zero, it is said to have degree —

Definition 5.9 : If a(x) =gy + ax + ... + a,x" and b(x) = by'+ bix + .., + b x"
are in R[x], then a(x) = b(x) if and only if for every integer i > 0, a/ = a;=b,

Thus two polynomials will be said to be equal if and only if their corresponding

coefficients are equal. :

Definition 5.10 : If a(x) = ay + ayx + ... + @, and b(x) = by + byx + ... + b 2"
are both in R[x], then :

a(x) + b(x) = ¢y + et .+ e,

where for each [, ¢, = a; + b,

Definition 5.1 ; If a(x) = ap + ayx + ... + a,x™ and b(x) = By F Byt o b
ﬂ.‘ﬂﬂ .

a(x)b(xy = ¢y + c1x + ... + e
;.nrhﬂre ¢ =ahby+a, by + ..+ agb,

With these definitions of addnn::-n and nmitlplmatmn of elements in R[x} we have the
following theorem.

7

......... @)




Theorem 5.11 : The set R[] of all polynomials in an indeterminate x with coefficients
from a commutative ring R, i3 a commutative ring under polynomial addition and
multiplication, Further, if R has unity 1, then 1 is alm the unity for R[x].

The proof of this theorem is simple and we leswe it to the readers for checking that
the mmiﬁmns for being a ring are satisfied, :

Example 53:LetR=1{0,1} =Z,,
cand let a(x) =1 + ox + 12
b(x) =1 + 1x + 1%
a(x) + b)) = (1 +ox + L) + (1 + 1x + 1x?)
' =0+ 1x+ 0x* =x
and a(x) bx) = (1 +ox + 1) (1 + Ix + 1x?)
=1+1x+ 17 £ 1s* '
Trivially, the degrees of the sum and product uf two polynomials satisfy the
inequalities

deg(a +b) =dega+degh
deg (ab) = deg a + deg b,

Lemma : If D is an integral domain, then in D[x], we have deg (ab) = deg a + deg

Proof. : Lot a(x), b(x) &D[x] and
ax) =agtax+ .. +ax"
blx) =by + byx + ... + b 3"
with g, # 0, b, # 0. So that deg & = m, deg b = n. ;
By definition a(x) b(x) = ¢ + ¢x + ... + ¢, where ¢, = a,by + ay_ by + ...+ agh,
We havec,, ., =a,b,. Sincea, #0, b, #0and D is-_ﬁn integral domain, it follows
that ¢, ., # 0. We shall now show that ¢; = 0 for i > m + n. Since ¢, is the sum of the
terms of the form ab;_; and since i =j + (i — j) = m + n, then either j = m or, i ~ ]
> n. But then one of a; and b;_; is zero and so that g;b; ;= 0. Since ¢; :sthesumﬂf
such terms, c; —!}ferr}m+n

Hence deg (ab) = m + n = deg a + deg b.
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‘Theorem 5.12 : (The Division Algorithm). Let F be a field and the polynomials a(x)
and b(x) belong to Flx], where b[x] # 0. Then there exist two polynomials g(x) and #(x)
£F[x] such that

a(x) = b(x) g(x) + r(x)
where either Hx) = 0, or deg #{x) < deg b(x).

Proof. : Let a(x) = ¥ a,x* and b(x) = i.bk:::jlr and let b(x) be in canonical form
k=0 k=0

with b, # 0. Then there are two cases to consider,

Case I If m < n, we can set g(x) = 0 and #(x) = a(x), so that

a(x) = ob(x) + a(x)
where deg a(x) < deg b(x)
Case IL If m 2 n, we cah define a,(x) = a(x) — b,,‘la",f"‘ "h(x)
= a(x) - q;()b)

The polynomial a,(x) is of degree # — 1 at most, since a(x) and ql{x.). b(x) have the = :

same leading coefficient b, a, b, = a,,

We now use induction on m, repeating the process at most m —n + 1 times, until the

| remainder a(x) = a(x) — [Xqg{(x)]b(x)

= a(x) — g(x) b(x)
has degree less than n. Then
a(x) = g(x) b(x} + aylx),
where either ay(x) = 0, or deg a,(x) < deg b(x).
Since Fx] is a ring of polynomials whose coefficients are taken from a field F, F[x]
is a commutative ring with unity element 1. Again a(x) b(x) = 0 will imply either a(x) =

" 0 or b(x) = 0. Hence F[x] is a commutative ring with unity element and without a zero

divisor. So we conclude that
Flx] is an integral domain.
Theorem 5.13 : Flx] is a Euclidean domain.

Proof. We have just observed that F[x] is an integral domain. Now, for any a(x)
aF1x], if we assign valuation v{cz) deg a, then from the result that

deg(ab) = deg a + deg b, a(x), b(x) &Flx]
. - :




we have, deg (ab) = deg a

ie,  Wab)2v@
and also from the division algorithm we have for a(x), b(x) &lx] w1th b(x) # 0, there exist
g(x) and r(x) e:F[x] such that

a(x) = g(x) bx) + 1(x)
where either rHx) =0, ordegrx) = deg b(x)
i, v(r() < vbx) '

T.he above argumients show that Flx] is a Buclidean domain.

Sinte by Th 5:4; every Buclidean domain is 3 PID, is follows that Fx] 18 3 PID:

Definition 5.12 : Let # be a field and let FTx] be the ring of polynomials in x over
F. A polynomial f{x) F[x] is called irreducible, if the degree of fix) 2 1 and whenever

Sx) = g(x) h(x), where g(x), h(x) 2F[x], then g(x) &F or, h(x) £F. If the polynomial is
not irreducible, it ls called reducible. :

Remark : The irreducibility of a palynamlal depends on the nature of the ficld.

For example, the polynomial x* + | is irreducible over R but reducible over C.

 Theorem 5.14 : An ideal (p(x)) # {0} of Fx] is maximal if and only if p(x) is
ireducible over F. :

Proof. : Suppose that (p(x)) = {0} is a maximal ideal of F]x]. Then (p(x)) = Fx].
Again if p(x) = a&F, then as (p(x)) is an ideal, @ ' as(p(x)), i.e., L& (p(x). Hence for aﬁ}r
Sx) eFlx], 1Ax) e(p(x), which implies that FTx] = (p(x)). Since (p(x)) is a maximal ideal,
FTx] = (p(x)), hence p(x) # acF. We want to show that p(x) is irreducible over F

Let p(x) = flx) g(x) be a factorization of p(x) in Flx].

Since (p(x)) is a maximal ideal and hence is also a prime ideal,

fx) glx} Ap(x))
= flx) &p(x)} or, g(x) &(p(x)).

That is either f{x) or g(x) has p(x) as a factor, But then we connote have the degrees
of both f{x) and g(x) less then the degree of p(x). This shows that p(x) is ireducible over
o -
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Conversely, suppose that p(x) is ireducible over F and suppose that N is an ideal of
~F1x] such that !

() < N < Flx]
Since £[x] is Euclidean domain and every ideal in a Euclidean domain is principal, it
follows that N = (g(x)) for some g(x) Flx].
Then (p)(x)) < N = p(x) & _
= p(x) = glx) g(x) for some g(x) &flx]

But by assumption, p(x) is irreducible over F, so either g(x) or g(x) is of degree zero,
i.e., either g(x) or g(x) is a non zero constant in F.

. If g(x) is a non zero constant in F, then g(x) is a unit in Flx], so (g(x)) = N = Flx].
Also, if g(x) is a non zero constant c&F, then glx) = ¢ 'p(x) is in (p(x)) and so
N = (p()).
~ Hence, by definition, (p(x)) is a maximal ideal of Flx].

vk EXERCISES
1. Prove that x* + 1 is irreducible over the ring of integers mod 7.

2. Prove that ideal (x* +4) is not a prime ideal in the polynomial ring O[x] over the field
of rational numbers. ' :

3.  Find the g:r_eafest common divisor of the following polynomials over ©, the field of
rational nurnbers :

PLrland L+ +x+1

4. Show that the ideal (+* ~ x— 1) in the polynomial ring Z / (3) [x] over the field Z /"
(3) is a maximal ideal and therefore, a prime ideal. i - '
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Unit : 6 O Extensiuﬁs of Fields, Splitting Fields

If a field F is isomorplic to & subfield of a field G, then G is called an extension of
the field F, Thus, extension of given field F corresponds to the monomorphisms from
F into largtr fields. The mmplex field C is an extension ef the real ficld R and R is
the extension of the rational field 0.-

Let G and F be fields. A 1 - 1 homomorphism of the field F into a field G is
called an embedding of F into G. )

Henceforth, whenever there is an embedding of a field F into a ﬁald G, we say
that G is an extension of F.

The complex field C consists of all complex numbers of the form i e (:
= ol X y € R).

Addition and multiplication in C are defined by the rules

Gy + i) gty =0 X)) iy o)
(ey ) O+ i) = (ke — ppp) + i, + X0)

The assignment x — x + i0 is clearly a monomorphism from R into C, which embeds
R in C as a subfield. We can also consider C as a two-dimensional vector space spanned
by the basis vectors 1 = 1 + i0 and i = O + i L. ' =

Thus the field C is generated by  and R. This fact is expressed by writing C =
R [i]. ' '

Over any field F, the polynomials of degree n or less form an (n + 1) dimensional
‘vector space over F with basis 1, x, x%, ..., ¥", The commutative ring F [x] of all
polynomials over F is an infinite dimensional vector space over F. If a field G has finite
dlmmsmn n, considered as a vector space over the subfield F, then G 1s said to be
an extension of F of degree n, and we wiite [G : F] = n

Hence, considering complex field C as an extension of degrcc 2 -of real field R,
we have [C : R] = 2.

In general, extensions of fields, which are generated in this way are called simmle
field extensions. That is, G is a simple extension of its subfield F, when, for some ¢
e G, G = {F, ¢} = Flc] is generated by F and c. ' -
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Definition 6.1 : Let & be an extension of F. An clement ¢ & G is said to be
algebraic over F if there exist elements ay, ay, ... g, (n = 1) of F, not all equal to
zero, such that '

gy Faje ¥ Rad =0

In otherwords, an elements & & G is algebraic over F if there exists a nonconstant
polynomical p(x) e Flx] such that p(a) =

Theorem 6.1 : If the field G is an extension of the ficld F of finite degree n,
then every ¢ G is a root of a polynomial of degree at most # with coefficients in £

Proof : Let ¢ be any extension of finite degree # = [G : F] and consider the
(n + 1) elements 1, ¢, ¢* ... ¢" in G. Since [G : F] = n, these elements ¢ must be
linearly dependent over F; that is, there must exist ay, @, ... @, € F, not all zero,
such that -
ay +aje t ..oae =0

This shows that ¢ is root of a polynomial of degree at most n with coefficients
in F,

Theorem 6.2 & If G is a simple extension G = F [¢] of F of finite degree s, then

me)=c"+a, ™! + ...+ a,=0,alla, e F for some monic polynomial
(a monic polynomial is a polynomial with leading coefficient 1) m(x) of degree n =
[G : F]

Proof : Let G be a simple extension of the field FF and let [G : F] = n. Then
G = Flc] is generated by F and some ¢ & G — F. Then by Th. 6.1, there exist ag,
dy, ... @, = F such that _

' B e TR e g S S S e L e 1

Let a, be the nonzero coafﬁment of the highest degree term in ¢ in equation (1).
Then multiplying equaion (1) by 4,7 we get

mic) = & + E:Hc""I Yot by =0, all b e F 2)

Equation (2} shuws that three exists a monic polynomical m(x) of degree s(= n)
such that mi(c) =

The theorem wnll be proved if we can show that £ =i

Let us choos m(x) so as to minimize 5. Since G = F[c] is simple extension, every
element p & & can be written in the form

)
&
p= 2.axc
K=0
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of a pufynonncal in ¢ with coefficients ay € F. Now, since m(c) = 0, we have

. CS =i b lﬂs\_ = bn
T R, R . bﬂcﬂ S

= E_,ﬁ + d ¢+ . +dy,d eF

This shows that every monomial ¢’ for £ = s can be expressed in terms of powers
of ¢ which are less than s. Thu.s every element p € G can be expressed as a linear
combination of 1, ¢, ..., ¢& ! Hence, considered as a vector space, G will be bpal.’med
b}_’l,c,_,,,,c‘"‘ andso[(}' Fl =5 ie.n = s

But we have noted above that s < n. Combining these results we get 5 = n,

Hence from equation (2) we see that

mie) ="+ b, "+ .. +by=0,b eF :

* Theorem 6.3 : In Th. 6.2, the monic polynomical m(x) is irreducible and G = F [x}/
(m(x)), i.e. G is isomerphic to the quotient ring of polynomial ring F[xj over the principal
ideal (m(x)) of all multiples of m(x).

Proof : First of all we shall show that m(x) is irreducible, Let m(x) = p(x)q(x), p(x),
g(x) e F [x]. Then since m(c) = 0, we have p(c)g(c) = 0. Since G is a field and hence,
is an integral domain, either p(c) = 0 or g(c) = 0. But m(x) has the minimum degree among
all polynomials p(x) in FTx] such, that p(c) = 0

Hence either deg p(x) = deg m(x),

or, deg q(x) = deg m(x). '

Hence m(x) cannot be factored into polynomials of lower degree than m(ﬁc} and 30,
by definition, m(x) is irreducible. Next, we shall establish the second part of the theorem.

Let us define the mapping w: p(x) — p(c) from F [x] to the set of all sums ia M
ay € F. The mapping y is clearly a homomorphism. For, if p(x), g(x) € F [xi‘ghan W
(p(x)) = ple), w(g(x)) = g(c).

Clearly fix) = p(x) + g(x) € F[x], and

gx) = p(x) g(x) & F[x]
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So, that  w (flx)) = fle), w(g(x)) = gle)

Hence  w {p(x) + g(x)} = p(e) + g(c) = w(p(x)) + w(g(x))

and  y @)+ 40)) = 2 = ple) 4(0) = v (p() ¥ @R,

Since G = F [e], w is an epimorphism of F [x] on G. The kemnel K,, of this
epimorphism is the ideal of all polynomicals p(x) with p(c) = 0. Since F [x] is a principal
idea! ring, the kernel K, consists of multiples of any polynomial p(x) of least degree witﬁ
ple) = 0. '

This means that X, consists of multiples of m(x), i.e. K, = (m(x)). .

Since ma(x) is 1rredus:1b]a> 50 (m[x)} isa max.lmal ideal of F [x]. Hence F {x] ! (mix))
is a field. :
~ Again we know that every hnmnmnrphlc image of a ring R is isomorphic to some
guotient ring of R, it follows that G, as the homomorphic image of F _[x], 18 isomorphic to
the quotient ring F [x]/(m(x)) of F [x]. X

Finite fields : By definition a finite field is a field having finite number of elements. The
purpose of this section is to determine the structure of all finite fields, We shall show that
for every prime p and positive integer n, there is exactly one finite field (upto isomorphism)
of order p”. This field GF(p") is usually referred to as the Galois field of order p”.

Theorem 6.4 : Let G be a finite extension of degree # over a finite field F. If F has
m elements, then G has m" elements. ;

Proof : Let {x1, %3 ... x,} be a basis for G as a vector space over F. Then every
¢ & G can be uniquely determined in the form ; '

_ c=axy tagxy t .. tax, a eF

_ Since each a; may be any of the m elements of F the total number of such distinct
linear combinations of the x'sismt )

- Definition 6.2 : Prime field : A field is called prime if it has no proper subfield.

Clearly every field F contains a prime field—namely, the intersection of the family of

its subfields, called the prime field of F.
Theorem 6.5 : If R is a ring with unity 1, then the mapping ¢: Z — R given by
o(n) = n.1 for n e Z is a Homomorphism of Z into R, '
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Pmﬁf : It is obvions that for m, n e Z
. ¢(m+n)——-{m+n}.l=mll+nl
_ = p(m) + dlr)
and @{m 1) = (mn] 1= (m.l1) (n.1)
= @(m) + ¢(n)
Henge ¢ is a homomorphism.
Corollary : If R is a ring with unity and characteristic n > 1, then R contains a subring
isomorphic to Z,. _ ]
If R has characteristic 0, then R contains a subring isomorphic to Z,

- Proof : By Th, 6.5 the mapping /' : Z — R given by om)=mlform e Zisa
honmmnrphlsm. Tha kemel of ¢ must be an ideal of Z, AH ideals of Z are of the ﬁ:-rm 1z
for some ¢ e Z. :

Now, if R has char:act:ristic n > 0, then kemel of ¢ is Ko=nZ. _

Then from the fundamental theorem of homomorphism for ring, the image PZ) (cR)
is isomorphic to Z/nZ = Z,,.

If the characteristic of R is zero, then m.1 % 0 for all m = 0, so Kﬁls {{I'} Thus, thc
image ¢(Z) (< R) is isomorphic to Z. '

Theorem 6.6 : A field F is either of prime characteristic p and contains a subfield
isomorphic to £, or of characteristic zero and contains a subfield isomorphic to Q.

fmf : If the characteristic of F is not zero, t]:um F contains a subfield isomorphic .to
Zy. Then n must be a prime p or F would have zero divisors. If F'is of characteristic zero
then F must contain a subring isumurphié to Z. In this case F must contain a field of
qudtiénts of this subiing and this field of quotients must be isomorphic to Q.

Thus every field contains a subfield isomorphic to Z, for some prime p or a subfield
isomorphic to 0.

 The fields Z, and O are prime fields.

Theorem 6.7 : Every element x of G = GF(p") satisfies the polynomial equation
x? = x, where g = p".
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Proof : The set G* of nonzero elements of G forms a multiplicative group of order
p" = 1 under the field multiplication. - :
| For x e G* the order of x in this g:'uup divides the order p" — 1 of G*, by Lagranges
Theorem. Thus, for every x & G* we have . ' :
o =]
Multiplying ‘thmug]u:l by x, we have
: xF =z, Gr;.x‘i-'=x
 also for x = 0, x? = x is trivially true.
. Hence the result. |
Corollary : For any x; € G, (x — x| ;':x‘? — x) in the puimuﬁaial ring Glx].
Proof : We first establish the following proposition. Given @ & R, 2 commutative ring,
(¢ - a) | p(e) in R[x] if and only if F(a) =0 in R, where F is the polynomial function
P :R - Rsuchthatfory e R ' |
PO eR
If (x — a) | p(x) & R[x], then p(x) = (x — 4) g(x) for some g(x) & R[x]
and thus P(a)=(a-a) §(u) =0 e R.
: Conversely for any p(x)

plx) - pla) = iPxxK = ipxﬂx = iPx':xK 7 ﬂx]
K=l K= k=0
= iPK[(I —a)xF 12" a g :zx'l}]
K=0

= (x — a) g(x), 4)  RDx]
 This shows that (x—a)|{p(x)— p(a)} for any a € R.
Consequently, if F(a) = 0, then (x— @) | p(8)
Let us now prove the statement in the corollary. Here p(x) = 27 — x and since x, &
(7 satisfies x7 = x, we have, B(x,) = x! —x =0 in G and hence (x - x) | 7 — %)
Theorem 6.8 : In G = GF(g), g =p", »* - x — 1;[6{.1:—::,-}
. 5

82




Proof : If x; # x;, then {x x),, — x) = 1, hence x — x; and x — x; are relatively
pritme, '
Since (x — x;) | (x'i' x) and (x — x;)'s are relatively prime, it follows that
Ln(x —x;}}(x*’ ~x)
Xy ly
Since the divjsor. IT(x — x;) has the same degree ¢ as that of x7 — x and since both
the polynomials are monic, the two must be equal and so

xl—x= H(x_x:}

Theorem 6.9 : In any finite field G‘F(p”), the mult:phmhve group G * of all nonzero
elements is cyclic. _

Proof : Clearly, the multiplicative group G* is abelian of order g — 1. Suppose that
the group G* is not cyclic. Then it follows that there would be some proper divisor # nf
g — 1 such that x;/’ = 1 for all x; ¢ G*. The argument used to prove that

I1(x=x)|(x% —x) could then be applied to prove that

xp ey
[TGe—a)I(x" —x), r<g—1
x et

But this is impossible, since a pol}mmmal of degree (g - 1) cannot divide a puljrnonual
of degree » < g — 1. hence G* is cyclic.

Roots of a polynomial

Definition 6.3 : Let F be any field and let p(x) be any pui:-,fnunual in Flx]. We say
tht an element g lying in some extension field of F is a root of p(x) if p(a) = 0.

Theorem 6.10 ; Let p(x) be a polynomial in Fx] of degree n = 1 and p(x) be
irreducible over F. Then there exists an extension G of F' .su_ch that [G : F] = n, in which

- p(x) has a root. '

Proof : Consider the ideal V= (p(x)) of F]x]. Since p(x) is irreducible over F, Vis
a maximal ideal and hence G = F[x)/V is a field. We shall show that G satisfies the
conclusion of the theorem, .

Consider the mapping  from Fx] to FIx}/V = G defined by p{f{x)) = flx) + V-
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It can be checked that y is 8 homomorphism. Let F* be the image of Fin G i.e. F*
= {@+ V| @ e F}. Then the restriction of y to F induces isomorphism of F onto F*.
Using this isomorphism we can consider G to be an extension of F. Also, the elements 1
+ V. x+ ¥V, x> +V,..xX" ! + Vform a basis of G and so G is an extension of F of
dég;rea n = deg p(a) .

Now, fix) e Flx] and fix) = ag + ax + ... + @ X"

 then since y is a homomorphism,

() = Wlao) + W@ Wx) + .. + Wa) Y
=F+a)+(FV+a)(F+rx)+..+(Ft+a) ¥+
Since (¥ + x)'= ¥V + ', we have
W) =V +ag) + (Fta) (F+x)+.. +(V+a) (V+ )
Since the element @; e F corresponds to the element a; + V e G, it follows that
w(fx)) = AV + x) . - NIy 60
Now; p(x) € V, so that y{p(x)) =0 Eg (2)
but since p(x) e Flx], we have, by (1) -
wp(x)) = p(V + x)
From (1) and (2) it follows that
pV+x) =0. .
‘This shows that the element F'+x G is a oot ofp(x) Hence the theorem is proved.
Corollary : If f{x) e Flx] then there is a finite extension G of F in which fix) has
a root. Moreover, [G : F] £ deg flx)
Proof : Let p(x) be an immeducible factor of f{x); any root of p(x) is a root of flx).
So the deg ﬁ(x} < deg flx).
By theorem 6.10, there is an extension G of F with [G : F] = deg p(x) such that p(x)
‘has a root in G. It follows that there is an extension G of F with degree [G : F] = deg
ﬂx) such that f{x) has a root in G. - I :
Theorem 6.11 : If G, is a finite extension field of a field F and Gg is a finite extension
of Gy, then G, is a finite extension of F and -

[Gy: F] =[Gy : Gi] [Gy = F)
84



Pmuf : Let {a;1i=1, 2, ... n] be a basis for G, as a vector space over F and let
{G:1j= ... m} be a basis for G, as a vector space over .G). .
Let y'be any element of G,. Since the £ form a basis for G, over G;, we have

R Zb;ﬂ;: b, € G,

~ Since o; form a basis for Gy over F, we have

b_,—z s Ay € F

=1%i=1

Then = i(i%“‘j)ﬁj = Eﬂgtafﬁ;)

8o the mn vectors of3; span Gy over F. We shall show that the mn vectors ogf3; are -
linearly independent over F.. g

Let us assume that 3°C,(e,4,)=0,C; € F..
- : M
mm HEaes o

and (Z: C‘},a,] G,

Since the vectors B, are Imea:rl}r independent, we have

. i
ZCyﬂ-’! =10 fﬁrj 3 I,ZH.m-

=l
But now, & are linearly independent over F, s0 3.Cyer; = 0=>C; = 0 for all {and j.
i _

Thus, the mn vectors o;f; are ]j;neax;lj,r ﬁdﬂpendmt and they span _Gg over F. Hence
they form a basis for G, over E. .

Hence it follows that [G,.: F] = mn = [G, ] [G; : F :

Theorem 6.12 : Let f{x) e Flx] be of degree n = 1. Then there is an extension G
of F of daér‘ea at most n ! in which f{x) has » roots.
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Proof : We note here that in the statement of the theorem, a root of multiplicity m is °
counted as m roots,

By the corollary to Th, 6.10, there is an extension Gy of F with [Gy : F] £ » in which

) has a root a Thus, in Gylx], fix) = (x — a) g(x), where gl(x) is of degree (n — 1),

Using induction, there is an extension G of Gy of degree at most (n — 1)! in which
g(x) has (n — 1) roots. Since any root of f{x) is either a or a root of g(x) we obtain, in
G all n roots of flx). ;

Now, [G: F1=[G: Gyl [Gy: Fls(n-Dln=n!

Definition 6.4 : Iff{x) < Fx], a finite extension & of Fis said to be a splitting ﬂcld
over F for Fx] il over G (i.e. in G[x]), but not over any proper subfield of G f{x) can
be factored as a product of linear factors.

Th. 6.11 guarantees the existence of splitting ﬁelds

Alternatively, we may say that G is a splitting field of j{x) over F if G is a minimal
extension of F in which F{x) has'n roots, where n = deg flx).

Example 6.1 : If O denotes the field of rational numbers, determine the degree of the
splitting field of the pﬂlynunualx — 2 over 0.

Let flx)=x* - 2 & O[]

The roots of f(x) are 23, a2!®, ?2'%, @= (-1 + +31)2. Here 2" is the only
real root of fx). Evidenﬂy f(x) is irreducible over the field g of reational numbers,

ﬁlsb deg flx) = '

It follows that the extension field 0(2"2) of Q is such that

1023 : 01=

Suppose that G isa sphttmg field of flx) over @, Now the field (213} cannot split
(%), since, as a subfield of real field it cannot contain the complex number o', Hence
0(2"?) must be a proper subfield of G. Therefore,

[G: 01> [Qtz””-‘) g3

Also, [G Q] <3l =

Again, {G: 0} =[G Qmm)] (0@ : 9l -

This shows that [Q(2Y%): Q] is a divisor of [G : Q]. All these can liold if [G : O]
= :
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Unit: 10 Vector Spaces

Introduction : In the study of mathematics we encounter many cxa.mples of mathematical
objects that can be added to each other and multiplied by real numbers. First of all, the
real numbers themselves are such objects. Other examples are real valued functions, the

_complex numbers, infinite series, vectors in n-dimensional spaces, and vector valued
functions. Here we introduce a general mathematical concept, called a vector space,
which includes all these examples and many others as special cases.

We have already studied algebraic structures like groups and rings ; the former has
its motivation in the set of one-to-one mappings of a set onto itself, the latter, in the set
of integers. The present algebraic structure which we are about to consider—vector
space—can, in large part trace its origins to topics in grometry and physics.

A vector space differs from the structures of groups and rings due to the fact that
one of the product defined on it uses elements outside ofthe set itself.

The importance of vector spaces lies on the fact that so many models arising in the
solutions of specific problems turn out to be vector spaces, For this reason, the basic
concepts introduced in them have a certain universality. The fundamental motions like
linear dependence, basis and dimension which will be discussed here are potent and
effetive tools in all branches of mathematics.

Briefly, a vector space is a set of elements ofany kind on which certain operations
can be performed. In defining a vector space, we do not specify the nature of the
elements, nor do we tell how the operations are to be performed on them. Instead, we
require that the operations have certain properties that we take as axioms for a vector

space.
The precise definifion of a vector spac:e is given below :

Definition 1.1 : A nonempty set Vis said to be a vector space over a field Fif
Vis an abelian group under an operation which we denote by +, and if for everya &
F, o € V there is an element, written a o, in ¥ subject to

l,a{q+ﬁ}=aa.+aﬂ
2@+boa=aa+ha
3. a(ba) = (ab)o
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4. lo. = o
foralla, b, € F and @, B € V. Here | repersents the unit element of F under
multiplication. :

We shall call elements ct. B, ...of the vector space V as vectors and the elements
of the field F as scalars.

Mote that inﬁxinns 1 above, the operation ‘+’is that of ¥, whereas on the left hand
side of Axiom 2, the '+’ is that of field F and on the right hand side, it is of V.

EXAMPLES

Fx. 1. Let Fbe a field and ¥ be the totality of ordered n-tuples (a,a,, . ..a ) where :

thaa € F fori= 1, -, n, Two elements (a,, a,, ...a)) and (b, b,, ...b ) of V are

“declared to be equal if and only if @ =&, foreachi=1, 2, ... n, We define operation
in ¥ such that

(e m Y by b B s e Rhsan b, o R B
(ii) ¢ (a,, @,, ...a) = (ca, ca, ..ca)c€ F
It is easy to verity that with these operations, V'is a vector space over F

Ex. 2. Let F be any field and let ¥ = Ffx/, be the set of polynomials in x over
F. In ¥, two polynomials can be added and a polynomial can always be multiplied by
an element of F. With these natural operations, V' = F [x] is a Vector space over F.

Ex. 3. Let ¥be the set of all real-valued functions defined on the interval [a, b/
=ilasx<hb) -

. For two functions fand g € V, we define f = g if and only if f{x) = g(x), ¥ xe
[a.b] : :
Addition in ¥ is defined by
(f + g () = flx) = g(x)
and scalar multiplication, by
{cﬂ (x) = e(f(x)), ¢ € R, the set of real numbers

The zero vector in ¥ is the function 0 whose value is 0 for every x and the additive
inverse of fis the function - which satisfies '

) =) =-(x))
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It is easy td verify any of the remaining axioms of the vecter space for the set I,
For example, to show that addition in Vis associative, we calculate
T+ +h) () = (F+2) ) +h @)

: : = [fx) + g(x)] + h(x)

and (f + (g + h) (v) = fO) + (g + ) (x)

= fix) + [g (x) + h (x)]
and then observe that the last two expressions are equal by associativity in R.
This f+(g+h)=(+g) +h '

Note : Ifthe field F is the field of real numbers, the vector space Fwill be called
areal vector space. Similarly, a complex vector space is defined analogously by using
the field of complex numbers for F. : \

Ex. 4. Let Vbe the set of all real valued functions defined on /a, b/ and having
derivatives of all orders on [a, b/ - We may verify that V is a vector space over R under
usual operations. It is the space of infinitely differentiable functions on [a, b].

Note : We observe that for a vertor space ¥ defined over a field F there is the
zero element of the field F as well as the zero element of the abelian group V. To aviod

confusion, we shall denote by 0, the 0 the zero element ofthe field F and by 8, the zero
element of the vector space V.

* Theorem 1.1: In a vector space ¥ over a field F the following results hold.
1.LOo.=0foralloe V
2.c80=0forallce F
J-lo=-a,ae V
deao=8=c=0ora=0.
 Proof: 1.InF,wehave 0 + 0 =10
: . For any o € V, we have
(0+0)a=0a _
Or, 0o + 0o = 0o by axiom 2 of vector space
Or, O+ Oo=0c + 8
= 0o, = 0, by left cancellation rule in the abelian group.
2. We have, in ¥V, 8 +08 =8
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For any c € F,
c(© +i§l) =0
By axiom 1 of vector space, ¢ 8+ ¢ 6=c0
Or, cB+cb= e84+ 0
So by left concellation rule in ¥, c 8 = 0.
' 3. Wehavein F, 0=1+(-1)
Foranyo.€ ¥, 0a=(1 +(-1)a.
= go=la+(-1)a
Now 0o = 0 and 1o =a, 50

=at+t(-l}a
or, ~at@=ot+tat+(-1l)o
= —cr,%(—lju

4. Letco=0,and suppo.se that ¢ # 0. Then }; exists in F,

Hence 3 (c0)= .8
By result 1 of Theorem 1.1
=% _(E’ ¢y =8, by axiom 3 of vector space

= lig=8
= o0=0, by axiom 4 of vector space
Again, if ¢ = 0, then c ot =0 forany o € V
Therefore, ¢ o. = 0 implies either ¢ = f or & =0,

De'ﬁnitiunl..l :IfBisa vector space over a field F and W C ¥, then Wisa
subspace of ¥ if under the operations of ¥, Witselfa forms vector space over .

1t is clear that {0} and V" are both subspaces of V. These are trivial subspaces. Any -

subspace of a vector space V/ other than {8} and ¥ itselfis called a proper subspace
of V. . :

Theorem 1.2 : A non- empty subset /¥ of a vector space Vover a field Fis a
subspace of ¥ if and only if
(oe W,pe W=2a+pe W
(o€ W, ce F=caecW,
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Proof : Let us suppose that the conditions (i) and (ii) hold in W. Let o1, B & W,
Since F'is a field, 1 € Fandso -1 € F.

E},r condition (u}, wehave (-1)Pe W
~-Ppe W
Hence by cundmﬂn (i, a+(-pew
or, o —pe W whenever o, Be W

This shows that (W, +) is a subgroup of the additive group (V. +). But since Vis
abelian, ¥ is abelian. Hence using condition (ii) and the heredity property, we can
conclude that ¥ is a vector space over the field F. Hence W is a subspace of ¥ over
F. Thus the sufficiency of the conditions is established.

The necessity of the conditions (i) and (ii) follows ﬁ'ﬂm tha definition of a vector
space.

Note : The above theorem may be stated in the aItematwr: form giving only one
condition as follows :

A nonempty set W of a vector space V over a field Fisa Subspact‘— of Vif and
onlyifao+bfe Wforalle, Be Wandalla, be F.
EXAMPLES
Ex. 1. Let § be the subset fo R* defined by

S={(xy2elR ly=z2=0) Thf:nSi.S anam:mptysuhsvat of R?,
since (@, 0, 0) € §.

Letao=(a 0, NandB=(b 0, 0) e S, wherca, be R
Theno+B=(a, 0, 0)+ (b 0. 0)=(a+b 0, 0)e §
Thus, oaeSBeS>a+Pes
Letce R, thencot=c(g 0, 0)=(ca 0,0) e §
Hence, by definition, § is a subspace of R*.
Ex.2.Let F'=Rand W Vsuchthat W= {(a, b,c)e Q:a, b, ¢} i.e.Wconsists
of those vectors whose components are rational numbers.
. Clearly, a=(4,2,3) e W,and 2 € R.

But V2 o= +2(4,2,3)=(42,22,32) e W

Hence the condition (ii) for being a subspace is violated. So W as defined above
is not a subspace of V.

95



Ex. 3. Let ¥'be the vector space of all functions from the real field R into R, and
W= {f: fl-x) =—f(x), x € R}, i.e. Wconsists of the odd real valued functions
defined over K. :
The function fwhich assigns 0 to every x € R, is the zero function, denoted by O.
Thus O (x) =0 Wk e R :
Then elearly, O(=x) = 0 =-0 = -0(x)
This implies that the zero function O € W,
Suppose g(x) and A(x) € W, then g{—x} = —g(x), h(-x) = —-h(x). Then for any
a, b € R, we have’
" (ab + bh) (-x) = a g(-x) + bh (x) = —ag(x) ~bh(x)
~ ~(ag () + bh(x)
= —(ag + bh) (x)
Henceg, h. € W =ag +bh e W, a, beR .
So W is a subspace of ¥ over the field of real numbers R.
Theorem 1.3 : Intersection of two subspaces of a vector space ¥ over a field F°
is a subspace of V" over F.
Proof : Let W, and W, be two subspaces of a vector space ¥ over a field F Let
W= el
Suppose that o, B & W, Then o, Pe W and W,. But W, and W, are subspaces
of V. chce,
; o, fe Wlandﬁ’z
and for any c € F, ca.€ W, and W,
So,for o, e W, wehave a+Be WnW,= Wandcms W W,=W,
ce F
Hence W is a subspace of V.
Note : The union of two subspaces of a vector space is not, in general, a subspace
of . : :
Let W, and ff’z be the two subspaces of the vector space R* such that
W,={(x )€ Rt|y=0}
and  W,={(x y)e RPlx=0}
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Let o= (1, 0) and B (0, 1).
clﬂﬂl‘l}',ﬂ- e WandPe W,
- Now, o+ B =(1,0) +(0, 1) =(1.1)
Buta+f=(l1)g Wanda+pg W,
Hence o+ f¢ W, W,, although e W, L W, and fe W U W,
This shows that W, uh’f’ is not a subspace of V.

Definition 1.3 : Let Fbe a vector space over a field F. Letﬂ:,,u .0 € Fand
s Gy €, € F, then

clu1_+ ¢y, ot el
is called a linear conbinationof 0., @, .0t

Definition 1.4 : Let 5S¢ V. The linear span of a subset § of the vector space V,
denoted by L(5), is the set of all linear combinations of the vectors in 5.

In otherwords, if § is a subset of ¥, then the linear span of § is the set

feo vt o | e e are scaiars € F, n is any positive integer
and ml, o, ...00€ S}

Theorem 1.4 ;: Let § be a nonempty subset of a vector space V. Then the linear
span L(S) of 8 is a subspace of V" and it is the smallest subspace containing the set S.

Proof: Leta=ca tea, +..+ca e S ce F
: i=l,2.un

and p=dp, +df,+.+df, Pe S, de F

J=1.2 ...m

| be any two elements of L(S),; To prmré the theorem we have to pro{ra that ot + 3

€ L(5) and for anyc € F, c oo € L(S) [see Theorem 1.2]
We have, o + B = g e d B o e

Clearly, oo + f is a finite linear combination of the vectors o, o, .0, B [32 e
B.e S, andso o+ B e L(S)

- Again, 0 = cc0n, + e, O, + .. +ec o

ey o B e S
i ..IT n r r
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Since ¢/ =cc.€ Ffori=1,2 ...n, it follows that ¢ !)',.E L(S) Hence L(S) is a
subspace of V. -

- To show that L(S) is the smallest subspace coniainiﬁg 5, we consider any other
subspace W of V containing & and we shall show that L(S) c W

Let £ e L(S). Then E=x 0, + x,00, + .. + x 0 for some x, (i=1.2 .. n) e F. -
Since Wisa subspﬁm of ¥ containing o and x, € F, xo. = Wfori=1.2 .»n
Since W is a subspace and x,o, € W, follows that
0 bt ckx o e W
o, EeW .
Thus Ee LS =>Ee W
Hence L(S)cW '
In other words, L(S) is the smallest subspace of F containing 5.
- The subspace L(S) is called the subspace spanned or generated by S.

h : EXAMPLES
Ex. L. Let 5= {( 1,2, 1), (1, 1,-1), (4, 5, -2)}. Examine if the vector (2, -1,
—8) is in L(5). : .
The vector (2, -1, —8) € L($), if there exist scalats ¢, ¢,, ¢,
such that (2, -1, ~8) = ¢ (1,2, 1) +¢,(1, 1,-1) + ¢, (4, 5,-2)
Le, W21 Bl = (e, e, + desde e, +be 0 -0, 2]
This will be true if 3 :

€y =g, =2, = —
o 14 %
Solving we get ¢, = g =g 3

This shows that the vector (2, -1, —8) is a linear combination of the vectors (1,

2, 1) and ) (4, 5, -2) such that

14 5 _
(2) ""1? _8] =7 _? {lr 2? 1) o 5(4: S: ""2)

Hence the vector (2, -1, -8) € L(5).

o8




. Ex. 2. Show that the yz plane W= { (0, ), 2)} in R’ is generated by (0, 1, i) and
“(0,2,-1) - : i

To show this we have to find real numbers ¢, and ¢, such that, any vector o = (0,
¥, 2) € W can be expressed as a linear combination of (0, 1, 1) and (0, 2, —1). That
is, to find ¢, s such that ;

@y, =c (0,1, 1) +c,(0,2,-1)

This is true if '
' y=u,+de,
and - zTe -
; y+2z y—z
Go= Ciim=
i Ce b e N e

Thus for any given vector o = (0, y, z) ¢, can be expressed ans a lincar combination
of vectors (0, 1, 1) and (0, 2, —1). Hence W is generated by (0, 1, 1) and (0, 2, -1).

Definition 1.5: Let Uand ¥ be subspaces of a vectorspace V. The sum of Uand
W. written as U + W is defined as follows

U+ W ={ut+wl| ue U,;we W}

Theorem 1.5 : The sum U + W of the subspaces Uand Wof Vis a éubspacr::
of V. ' : ]

Proof : Since 0 € Uand 0 & W,. 0=0+0e U+ W,

Further, suppose that u + we U+ W andw' +w e U+ W with u, v € U
and w, w' & W . :

Then (u + W) + (' + W) =(u +u) +(w+w)e U+ W
and for any scalar ¢, e(u + w) = cu + cw

Since cu € Uand ew € W, we have c(u + w) e U+ W.
Hence U + W is a subspace of V.

Definition 1.6 : The vector space Vis said to be the direct sum of its subspaces
U and W, denoted by

V=U@®Ww

‘if every v € ¥ can be written in one and only one way sa’v = y + w where
“ye Uandwe W, '
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EXA_N[PLES
Ex. 1.1 * (R) is a vector space over Rand W, ={ (a,h,0) : a, b & R} and _
W,={(0,0,c): c € R} are two subspaces of F*(R), then
PRY= W, @ W,
In the context of direct sum we state the following theorem,

Theorem 1.6 The vector space V is the direct sum of its subspaces [V and W if
and only if

DV=Uu+w
and (DU W={0}
Proof :
Let us first assume that
_ F=Uo W
Then by definition, every ol € ¥ can be expressed uniquely as
oa=q +o,witho e U a,e W.
Hence we must have
: ae U+ W
LetBe Un W.Asf,’uEIU, B=p+0,say, where e U,0e W.
Also fe W, so =0+, say, where0 e U, e W
Hence by the uniqueness theorem,
A ﬂ . E.l |
_ Un W= {0}
Conversely, let
@D V=U+Wand (i) Un W = {0)

If possible, let any ot € ¥ be expressed in two ways, nemely, o= o +or.;and-:1
=B+ B, witha,B, e U, a, e W

Then o, —B,=- (o, — ﬁz}
belongs to both U and W. Consequntly Then o, — B, =~ (0, - B,) =0, by
h_‘,I'PDthESI.S ;
s a = ﬁz
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Thus every o € ¥ can be expressed uniquely as oo =0, + o, with & € U,
o, € W,

Consequently, V=U & W,
This completes the proof.

Linear dependence and linear independence of vectors

Definition 1.7 : For a vector space V defined over a field F, the n vectors o 3 Oy
.. & of V are said to be linearly dependent if there exists a set of scalars ¢, ¢,...c_ of
_ F, not all zero (where zero is the additive identity of F), such that
- 0, t+ e, e )
Definition 1.8 ; For a vector space ¥ defined over a field F, the n vectors o, o,
.. @, of V are said to be linearly independent if and only if

g0k Hie o e =0, s (F=2 . w)
implics tha-t Go= = =-cn ={. i
EXAMPLES

Ex. 1. The condinate vectors o, = (1, 1, 0),0,= (3,2, and o, = (2,1, 1) are
linearly dependent if there exists a set of scalars ¢, ¢,, ¢,, not all zero, such that

¢ (1, 1,0 +¢,(3,2, 1)+ (2 1,1)= (0, 0,0
This requires that ) :

e o

erdde o =0

e, e =0
The system of homogeneous linear equations has non zero solution as the rank of

the coefficient matrix is 2(<3). We may also directly solve to check thare, =1, ¢,=
-1, ¢, =1 is a solution to the system. Hence

(Do, +Ha, + () a,=0
Thus vectors o, oL, O, are linearly dependent and any one of the vectors can be
written as a linear combination of the other two. For example, o, = @, - &,

Ex. 2. The coordinate vectors (3, 2, 1), (0, 1, 2) and (1, 0, 2) are linearly
indepenedent. . '
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Suppose that ¢, c,, ¢, are scalrs such that
(3,2, 1) +¢,0,1,2) + ¢(1,0,2) =0= (0,0, 0)

This requires that | ’ '

: 3¢, kg, = 0

20, F ;|:r2 =0

¢+ 2¢,+2c,=0

It may be checked that the rank of the coefficient matrix is 3= number of variables,
Hence the only solution for the system of equations is ¢, = ¢, = ¢, = 0. (We can also
directly obtain this solution) :

" Hence, by definition, it follows that the given vectors are linealy independent.
Basis of a vectors space

We have learnt that a given set of vectors spans or generates a certain vector space
when every vector in the space can be expressed as a linear combination of the given
set. Obviously there can be more than one set that can span a certain vector space;
moreover the number of vectors in each generating set can vary.

Ex. 3. The set {(1, ), (0, 1)} : spans the vector space of all two dimensional real
coordinate vectors ; also, the set ((1,2), (2,1). (3, 3)} spans the same vector space.
Every vector in the space can be expresed as a linera combination of each of the given

sets, and therefore each set is a spanning set even though the sets are different in both

content and number-ofelements.

There is, however, a distinction between two kinds of spanning sets; that is, for a
given vector space, some spanning sets are linearly independent and some are linearly
dependent. Those spanning sets that are linearly independent are very important in the
study of linear algebra ; such a set is called a basis of the vector space.

Definifition 1.9 : A basis of a vector spacc is a set of vectors of the space that
(i) are linearly independent and (ii) span the vector space. :
 EXAMPLES

Ex. 1. The set {(1, @, 0), (0, 1, 0), (0, 0, 1)__} is a basis for the vector space of
all coordinate vectors with three real components over the field ofreal numbers because
the set is linearly independent and the set spens the spece.
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Ex. 2. The set {(0, 1), (1, 0), (1, 1)} is not a basis of the vector space of two
dimensional real coordinate vectors over the field of real numbers, because the set is
not linearly independent. The set does, however, span the space.

o101, ok .
Ex. 3. The set l[é I]"[ ] 1}] is not a basis for the vector space of all 2 x 2 real

mafrices, because the set does not span the space. The set is, however, linearly indei:andmu_

0] 00 ' .
The set {[é ﬂ}[g ﬂ ,-[ i g}[g {;:I} is a basis of the above vector space.

Thegrem 1.7 If {B,, B,, .. B,} is a basis of a vector space ¥ over a field F. then
each vector in ¥ can be expressed uniquely as a linear combination of B, B,, .. B..

Proof : Since {B,, B,, - ﬂn.} spaﬁ_s the vector space ¥, any vector f& V can be
expressed as a linear combination of B, B,, .. B,. -

Let us suppose that
B=ap + ..+t .ﬁ"ﬁ" and B=5bp +..+bp.

where a’ s and b, s € F, are two such expressions of B. Theorem will be proved
if we can show that a, = b, i=1,2,..n i

We have B=a B, +af,+.+aB =0bp +bp +.+5bp,

= (a-b) B, + (a,-b) B, +.. +(a-b) B, =0
Since B, B,, .. B, are linearly independent, it follows that a-b=0,a-b=0,.
g-b=0 - . :
A i =f D
Hence the theorem is proved.

Theorei 1.8 (Replacement Theorem). If for,, ., .. o } be a basis of a vector :
space ¥ over a field F and a nonzero vetor B of Vis expressed as p=c o, + c00, +
w*eco, e € F,thenif ¢ # ﬂ:, fou, o, .0, By o, .. 0 ) is 2 new basis of V. [The
is, P can replace 0., in the basis]

Proof : B=ca, +¢0, + . e o +oo e, o, T +e o

S e = p—co, —cpo,—~ Ly

) b G

g™ T C 0 e (1)
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Since ¢, # 0, c;l exists in F
< Multiplying both sides of (1) by c}l we get

| e 1 o o L 2y
L= B - € ety =-c; oo, — . j €0~ g Cp Oy = won — ¢ c.o
SPO T PO, tp o by TP Ot +tpo,

where p. = —c:,' c.if i#j

e =
We first prove that fo,, O, 0 5B, 0L, .. 0} is linearly independent,
Let us suppose that
d,o, +cf0:2+ +d o +dﬁ+du ytetdo =0
oy Hda + . +d o s H * c{r(c Tt ok GOy T oo, + € 0k, o
* c: o ] + d [0, + +do = .
or, {d|+a;cl)a!+{d+df)m+ +(d, +d:‘:t] +a'ccx
+(d, +c{rcﬁ1) +{d+d’c}a—ﬂ
Since {or,, 0, ..o } is linearly mdapendcnt we have
' d+a‘c—'ﬂ dtde=0,d +dc, =0,de=0
d' dc r.:i' + dc =0 \
Smca dc =0, but ¢ # U we haw d =0, hence it follows that gy =l s
= B= = d= '
_Th:s proves that, o, &, .00, B, s - O 18 a linearly indcpenden_t set of
vectors, oy
We now prove that I {o,, Oy oot B, G e} =

Let & be any arbitray vector in ¥ Since &8 o } is a basic of ¥, there exit
ky, k, .. k € F such that '

b= ko, + ko, + +!cn:

of, 0= gk +k}_1{x +k (oo, + . P +pjl3+pﬁ_1 ittt pa) +
k 1O T +kor, -

=50, tso +, +.?j_]dj_!+..'i‘ﬁ+.ﬁ'+]dﬁ! tots o
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where s, =kt kp, %y,
=ikp, i=j
. 0€e L {o,, o, .o, B,_:IH, - 0}
Velio,o,a,B, Oy oo 01 sk 2)
Bui L {os o o, . B, Oy @ tbeing the smallest subspace containing the get
{oy, a,, . s B, Oy oon O3,
' Lo, 0,8, W OIS W woe (3)
. Combining (2) and (3), _
V=rFL {a,, @, o, B, Oy oo O}
Hence {o, o, o,
Dimension of a vector space

i# ﬁ,'D:m, -+ O }s a basis of .

If a vector space ¥ over a field F has a basis consisting of a finite number of
elements, then the Space is said to be finjte dimensional ; the number of elements jn
a basis is called the dimension of the Space and js g writte_n as dim ¥V, If dim p = n,
Vis said to be n-dimensional If ¥’ js not finite dimensional, it is called infinite dimensiona],

Theorem 1.9 ; If {@; @, .0} be a basis ofa finite dimensional vector space.

Proof ; Let {B, B, B ) be a linearly independent set of vectors in V. None
of B is a zero vector. Since {or,, O, ...0 } is a basis of ¥ and B, is a nonzere vector
iny, '
aﬂl = l:"lll'-:t:l & czaz Tt Cna.u
where ¢ c,, .. ¢ are scalars in £, not all of which are zero. Let ¢, # 0, then by
the Replacement Theorem I8, {o, o, 0 B, Cisp - 00 Lis & basis of 1,

' Since B, is a non-zero vector of Vand {a, Yy = O B &, . 0 Yis & basis
of V,

B=do,+.+d o 4+ df, +d o, +. + d.0

=177

where d’s are scalars, not all zero.

105




It is clear that at least one of d, by ooty Dypgs o d_isnonzero. For, if is not true,
thenf,= dp, which shows that B, and B, are linearly dependent, which is a contradiction

to the initial assumption thatB,, B, .- B, are linearly independent.
Let d#0,j#i
Then, by the Replacement Theorem 1.8,

o By Ly -

at each step one ot is replaced by one 3,

o, oy . O Py O, 2 . O, }isa new basis of V.

Proceeding in this way we observe that
and a new set of basis of V 18 obtained.

The following possiblities occur : e

(a) B, B, B.. all came to the new basis containing o’s. In this case we have

<

(b) B, B, ..B, cxhaust all o’s and form a new basis. In this case m = n.

The case m > n is not possible. For, it m > 1. then B, B, B, will réplace 0, Oy

.. 0,_and forma new basis.-
. B webe linear cornbination of B, B., - B,

* Then the remaining E‘s iz BB :
- which means that. {B,, B, .. B,)isa linearly dependent set of vectors, & contradition.

Hence me R

Theorem 1.10 : Any two bases of a finite dimensional vector space ¥ have the

game number of vectors.
‘:‘_'ruuf: Let {ct,, O -
vector space V.
Since {ol,, @, -0} s abasis ifV and {B,, B, B} isa linearly independent set |
of vector, we have, by Theorem 19, m=n ok :
Again {B,. B, B} is a basis of V and {0.;, O, ..,0, } is a linearly independent
set of vector, We have, n £m ; sen i
Combining (1) and @)y,n= m, and the theorem is proved.

..o} and {B,, B, B} be (he two bases of a finite dimensional

Theorem 1.11 ¢ (ExtansionTheﬁrem)
A linearly independent set of vectors in a finite dimensional vector space Fover

a field F is either a basis of ¥, or can be extended to a basis of V.
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Proof : Let 8 = {o,, o, ..o} be alinearly mdepcndént set of vectors in I, L(S)
being the smallest subspace containing S, hence ;

LSy
. IfL(8) = ¥, then § is a basis of ¥and there is nothing to prove.

50 we suppoes that L(S) < V., : : '

Let fe V-L(\S)

We shall prove that the set of vector {o, o, .. -0, B} is linearly independent.

Let us suppose that €5 €y 5. €, b€ Fsuch that

e, too,+ .+ e o + b =0 1)

It follows that b= 0. For if b 0, then bl exsits in F, and multiplying eqn (1) by
b, we obtain. ' : :

; = -—b"cial' —bleo, . bl o :

This shows that B is a linear combination of 0, 0, ..o and hence B € L(S), which
is not true, as fe ¥ L(S).

Hence b =0
Then from (1), e,a, + ot te o =8 _
But 0., , .. 0, are linearly independent vectors, hence, ¢, = = =e =0

This shows that the set §, = {o, 0. 0,B)isa linearly independent set.

Now, if L(S,) = ¥, then S, is a basis of ¥, If’ L(S,) # ¥, then we suppose that Y€
V'—L(S,). Then proceeding exacily in the same way as above, we construct a set

8= {o, o, .0, B, vy} of linearly independent vectors,
We check if L(S,) =V, then 5, is a basis of V; if not, we proced as above, And
after a finite number of steps we can find a basis of ¥ containing §.
s EXAMPLES
Ex. 1. Prove that the set § = {(1,0,1), 0,1, D), (1, 1, 0)} is a basis of R
Let @ = (1, 0, 1), @, = (0,1, 1), .= (1,1, 0)
We have to show that Oy, Oy, O are linearly independent and that L(5) = R>.

To show that at,, o, «, are linearly independent, we suppose that there exist ¢,
¢,, ¢, € Fsuch that : ; :

oy oo, t oo =0
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= o, (1,0, D+¢ (0 1,1)+c(1,10=(0,0,0)
i c|+_r:,3={], cz-.l-c!=ﬂ, c|+c==ﬂ,
= g e Ee =0,
Hence 0, O, ., are linearly independent.
To show that L(8) = R?, we suppose that £ = (a, b, ¢) be any vector in R?,
£ will belong to L{8) if we can find r, r,, r, € F such that
g =r0, + 1,0, o,
This requires, (a,b, ¢} =r, (1,0, 1)+, (0, 1, ) + 1, (1, 1, 0)

= g=nn
b=t +r )
HeEn A
The system of equations (1) will have unique solution if the eoefficient detenminant
is non zero. '
Now the

| | |
Coeff. determinant = 0 1 L —az9
- S

nce we can find v, ¥,, ¥, from (1) such that
&=, + Y0 + .0,
Hence & € L(5).
Since L(S) is the smallest subspace of R’ containing 5. We have L(S) = R? containing
S, we have L(S) = R®
Hence the given set forms ahaszs of R3
Ex. 2. Find a basis and the dimension of the subspace W of R* where
W={(xyz€R/x+y+z=0}
Let & = (a, b, c) be an arbitrary vector of W.
Then frnm the structure of W, we havea+b+c=10
ST 7 ¢ =-a-b
‘Hence £ = (a, b, —a, —b) = a(l, 0, -1)+b({} =1
Letce=1(1,0,-1)and B = (0, 1, -
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Then & is a linear combination of vectors o and B

*. § € L{o, B} . i
We shall show that o and f are linearly independent. Let us suppose that scalars
¢, €, eXists in F such that -

1
: 0,0 +cf=6 :
= ¢(1,0,-1) +¢,(0, 1,-1) =8 = (0, 0, 0)
= ¢=0¢=0, —¢ -c,=0 :
e =0,¢,=0
Hence o, P are linearly independent
{0, B} is a basis of W and dim =2,
Theorem 1.12 : Let Uand W be two subspaces of a finite dimensional vector
space V over a field F. Then dim (U + W) = dim U + dim W - dim Unw

Proof : Since U, W are subspaces of a finite dimensional vector space V, dim U,
dim W, dim, (U + W), dim (U W) are each finite.

- Let § = {a, a, ...0 } be a basis for U n W and let S be supplemented by
additional vectors B,, B,.. B. to make up a basis for U and similarly let 8 be supplemented
by additional vectors Yis Y2 ¥, to make up a basis for W. -

We want to prove that

S ={a, o .0, B BBy Y,} Is a basis for U + W,

Clearly, L(S) c U+ W ' :

Let £ € U+ W, then E=u+w whereue Uandwe W

Since u € U, and {o,, o, .. o, B, B,. B} is a basis of U. we have,
ue L {a, o, o, SI, B,B.} |

and similarly, w € L {o, o, 00, v, o

Hence U+Wc L(S)

Thus, - LE)=U+wW

To show that, {a, o, .0, B ﬁz..ﬁ_, Y5 ¥z ¥} 1S a basos of U + W we have
to establish linear independence of the set of vectors 8.
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Suppose that for some scalars a; a, .. a, b, b . b,c,e,. € F

a0 + a0+ . tad, + b o+t b, + ey + Sy 8 o)
‘Then a0, + a0, + .. +a0,*+ b +.+bf
=i .(G1¥1 Lo E chq} i (li.)

The left hand vector in (if) belongs to U, right hand vector belongs to W, but as
these are equal, if follows that —(cy, + .. + cy,) belongs to U N W.

But {o,, o, .. .} isa basis of U m W, hence there exist scalarsd, d, .. d € F
such that )

(e, + oty + e+ oy,) = 40, + dja, + o+ 4o,

or, do, +do, + S doteoy tey,t.+ cy,) =0
But {0, 0,0, Y, .y, }is a basis for W,

hence dl':_dl“—'..=dr=c'l——' g = =‘ct=E‘r

Hence from (ii) we have

a0, + a0+ . +agtbf + .t bB,) =10
But {a, 0, . o, By, B,..B}is a basis of U.
50, a,.=ﬂl=,.zar=bl= .b3='..=b;=ﬂ -
Since all the scalars é.’s, b’s, ¢'s are zero in (i), it follows that {o, o, o, B, B,
B Vi Yoo Y} 18 AR independent set of vectors and hence, is 2 basis for U + W.

dim(U+W}=r+s+t-——(r+s‘,i+{r+t}—r
= dim U + dim W — dim (U n W)
Ex. 3. Suppose U and W are the xy plane and yz plane respectively, in R%:

U= {(a, b, 0)}, W = {(0, b, ©)}
Since RI=U+W. dim (U + W) =3
Also dim U =2 and dim W = 2
We have

dim (U + W) = dim u + dim w — dim (U ' W)
= 3=2+2-dim (U n W)
dim(Un W)= 1
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Ex.d.Let {(1,1,1,1),(1,2, 1,2)} be a linearly independent subset of 2 vector
- Space V, of dimension 4 over a field F. Extend it to a basis for V. -

LetS =(1, 1,1, 1), (1, 2, 1, 2)}

Then L(S) = fc, (1,1, 1, ) + e(1,2,1,2) fe,, e, € F}

= {he Gy et 20 ¢, ¢, + 2¢,)c, ¢, € F} : :

We observe that is L(8), the first and the 3rd coodinates are equal. It follows thai
the vector (0, 3, 2, 3) is not in L(S) :

Thus we have an enlarged indeperident set

$i={(1, 1,1,1),(1,2,1,2), (0, 3, 2, 3)}

L) ={d, (1, 1,1, ) +4,1,2, 1, 2) + 40, 3, 2, 3) \d,, d,, d,e F)

={d, +d, d, +2d,4 3d,, d, +d,+2d, d, +2d, + 3d/d, d, d e F)

If follows from the structure of L(S,) that the vector (2, 6, 4, 5)is not in L(8).

Hence the vectors (1, 1, L 1), (L2, 1,2),(0, 3,2, 3), 2, 6, 4, 5) are linearly
independent and since V, is of dimension 4, they form a basis of L :

EXERCISES

1. Check whether the following set of vectors is linearly dependent or linearly
~ independent ' :
{(1,0,1),(1, 1, 0, (1, -1, 1), (1, 2, -3)}
2. Let V=R Show that W is a subspace of V, where
() W={(a,b,0);8be R} '
(i) W= {(a,b,c);a+b+c=0}
3. Let V=R Show that W iz not a subspace of V. where :
D) W = {(a, b, c) :az0}
(i) W= {(a, b, c):a®+ b2+ 2 < 1}

PR LD} -
4. Write the matrix E = -[1 __1] as a linear combination of the matrices

' 11 0 o 0 2
A:I{]!BE I | ElI]dC=!}_1,

3. If{o,, o, 0,} be a basias of real vector space V and B, = o, + oy, B, = 2a,
+ 3a, + 40, po= @, + 20, + 3a,, prove that {B, B, B,}is also a
basis of V.
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6. Find a basis for the vector space R that contains the vectors (1, 2, 1) and
(3,6, 2) ) ' '

4. Find the dimension of the subspace 8 of R? defined by
 @S={xyzeRi2x+y-2=0}
(ii) S={(x,y,2) €R: ;:jg;:ﬁ
8. Prove the set {(1, 1, 1), (1,~1, 1), (0, 1, 1)} is a basis for R’

9. Given § as a finite subsef of a vector space V, prove that if § is linearly
independent and every proper superset of § in V is linearly dependent then

" € is a basis for V. 3
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Unit : 2 O Inﬁer Product Spaces

_ A Vector space involves a set of vectors and an associated field. If we restrict this
field to be either the field of complex numbers or the field of real numbers, and if we
define a certain mapping known as the inner product function with respect to the
given vector space then we create still another important algebraic system known as an
inner product space. Such a special vector space is very useful because within this
structue we can define abstractly such common concepts as ‘length’, ‘distance’ and

¥

angle’,

(3

One example ofan inner product is the scalar or dot product of vectors in &, The
scalar product of the vectors : : '

o= (xi’ ch, ‘Is] and ﬁ = (.-P]’ }'2, -}r:!:[

in R* is the real number.

(o, |3] =xy txy t Ay ¥y

Geometrically, this dot product is the product of the length of ¢, the length of B
and the cosine of the angle between o and [. It is therefore possible to define the
geometric concepts of length and angle in R? by means of the algebraically defined
scalar product, : j '

An inner product oni a vector space is a function with properties similar to the dot
product in RY, in terms of such an inner product we can also define ‘length’ and ‘angle’.
Our comments about the general notion of angle will be restricted to the concept of
perpendicularity (or orthogonality) of vectors. _ ' ;

We begin with a definition.

Definition : Let F be the field of real numbers or the field of complex numbers,
and ¥ be a vector space over F. An inner product on ¥ is a function which assigns to -
each ordered pair of vectors o, f in ¥ a scalar (o, B) in Fin such a way that for all
a, 3, yin V¥ and all scalars ¢ & F, T o

(a) (& + B, ¥) = (o, v) + (B, y)

(b) (car, B) = (o, B)
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() (B, ) = (e, B), (o, B) the overhead bar denotes complex conjugation

() (0, @) 20, (t, &) =0 if and only if o = 0,
1t should be observed that conditions (a), (b) and (¢) imply that

(&) (o, 0B +¥) = ¢ efe, B) + (0, ¥)
; EXAMPLES

Ex. 1. On F~, there is an inner pmduct which we shall call the standard inner

product. It is defined on o = (x,, x, .. x,) and B=(y,5 %) l_:r}r

(o, B)= bae Vi
o
When F = R, this may also be written as
'{II, B} = Z ¥

In the real case, the standard inner product is often called the dot or scalar product
and is denoted by o. p.

We note here from the definition that (o, o) is always real. We use the notation.

lol= (o)

_ This non-negative real number || o. | is called the norm or length of c. ]

A real vector space ¥ for which a real inner product is defined in called a Euclidean
space. : '
A complex vector space ¥ for which a complex inner product is defined is called
a Unitary space.

Enclidean spaces and unitary spaces are cullf:ctwaly called inner product space,

Ex. 2. Let V'be the vector space of all real valued continuous functions of [a, &]
and let F = R.

For x, y € F, let us define

(s:2)=[sOp()ar- -
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Then conditions (a), (b) and (c) of the inner product are easy to verify. Also
i ]
(x,x)=[(x()) &t 20

If equality holds, then using the fact that x(¢) is continuous it can be proved that
x(#) = 0 for all £, Equation (1} defines an niner product and the vector space Fis an
inner product space.

Ex. 3. Let Cbe the field of complex numbers, Let x = (x, x,,.. x ) and y= ( yl,
Yy -+ ¥,.) be two elements of the vectors space C*.

We define

[Is J”] = xl;l +x2;1 +”+x#;n
This inner product on C* defines a unitany space.
Ex. 4, Let ¥ be the vector space of infinte sequences of real numbers {a_},

satisfying.
iaﬁ < or
n=l .
1.e. the sum converges. _
Addition and multiplication are defined componentwise :
(@,a,.)+(b,b,..)=(a, +b,a,+b, dedl
and k(a,, dy i) = (ka,, Kol i)
An inner product is defnied in V' by ;
({al’ ay ) (bl’ 7 ) ='{albl 0 ‘zzbz * o _ i
The above sum converges absclutely for any pair of points in ¥, hence the inner ;
product is well defined. This inner product space is called [, space (or Hilbert spaca} '
Problem : Show that in any inner product space ¥,
0, x)=0, (x, 0y=0,x e V.
Solution : We have, by property (a) of inner product
(0+0, x) = (0, x) + (0, x)
= (0,x)=(0, x) + (0, x)
= (0,x)=0
Also, (x, U]:M=ﬁ:ﬂ ;
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We have already defined the norm or length of a vector o in an inner product

spa . -
pace by. Hﬂ»ﬂ=Jﬂ«,—ﬂ)
Theorem : The norm has the following properties ;'
@  |eo]=le|lo).c€ V,ce F
) Jo|>0 if a%0 and o =0 ifa=0.
@  [orBl<fol+[Bl, . Be ¥
~ Proof ; o] 20 follows from the definition of inner product. We have
(cal, ca) = e(o, c{x} ce {ca',, o)
e =Ll
L |les]> 0, We have, |lco]| =|e] Huﬂ which proves, part ()
To prove part (c), we first prove the Schwarz inequality.
(ep)<lelle] (D
Clearly, the inequality i (1) is true when o= 0.
. Ifa# 0, let us write :
L A
Il

Then (v, u;}

I
g
=
|
?F-‘
=l a
o
il
=
o TN

n

(B, ) -ﬁ—

{ﬁ o)llof _
6.9~

Again ' 20

= ez

(Be) . (Bo) ]
i ['3 Traida i
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fof* JoI™ ™ flof
. (B,0)(e,B) (B, <)
Lo
Since (a, B)=(p, a), we have

"ﬁ”z _J(ﬁ’ '1}] - |{ﬁ= '1}| v _I(E“ U’.)I

[ﬁ_@lu 5]_[5_&1’_&1“,@“}2? =)

(®.2)(p.2)

B b

(o, {_1)2{)

. e LY
o] [/ I .
2 [{ﬁ, “)[1
e
SN G S
Hence [, B) =|(5, o)f < ' |
Now by using (1) we have

o B =(a+B.0+6) = (a)+(0,B)+(B,a)+(8.)
= Joff +(.B)+ (e B)+ B[}
= [off +2Re(a,p)+ B |
Re (u, B) is the real partof (c, B)
=l + 2] 8]+ 8"
= (o + 180

Henpe Jee+-Bf < [l + 8]

Definition : Let a and 3 be vectors in an inner product space ¥, Then o is
orthogonal to B if (e, B) =0 ; since this implies  is orthogenal to o we often simply
say that o and [ are orthogonal. '

If, § is a set of vectors in ¥, § is called an orthogonal set prﬂvided all pairs of
distinct vectors in 5 are orthogonal, '

~ Anorthogonal set is an orthogonal set § with the additional prﬁpcﬁy that ﬂuﬂ =]
for every o in §.

The zero vector is orthogonal to every vector in ¥ and is the only vector with this
property. It is appropriate to think of an orthonormai set as a set of mutually perpendicular
vectors, each having length 1. : :
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Ex. 5. The vector (x, y) in R? is orthogonal to (, x) with respect to standard inner
product, for

let o= (x, ¥), B = (-, ¥}

so that (ot, B) = x(-p) + yx =0

Problem : For the complex inner product space C* find |Jof| and [o—B|| where

o= (i, 2; 0) and B = (0, =, 6).

Are o and p orthogonal?
Solution : We have _HaHz = (i, OF)
= {i+2.2+00
= i(~i) + 2.2 +0
=35
o ol = 4B

JoBf = @B =B = (2 0~ B)+ (BB
= o ~2Re(p,w)+ B[
Now, [la| = 5, |B| = 0% — i +6? = 37
(B, o) = 0i + (=1)2 + 60 = -2i=10=2i

Re (B, &) =0
lo-B|" =5-2.0+37 =42
- Jo-8]=va2

Since (B, @) = 0, o, pare not orthogonal.

Theorem : (Pythagoras), If o, P be two orthogonal vectors ina Euclidean space
V, then = :

o+ B = [alf + I
Proof : We have, [a+B" = (a+B,0+B) = Jolf +(w )+ (B o) +[B]°
= [l ~2Re(osp)+ B[
= [off +2(ep) + (8",

(since in a Euclidean space (o, B is real)
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Since the vectors o, P are orthogonal (o, fy=0

oot B = ol + B[ _
Theorem : (Parallelogram law). If o, B be any two vectors in Euclidean space 1

[

then

lo+BI" + o8I =2Joff +2)gJ"
- Proof: We have [u+p| =|of +2(a, B)+ B[’

and [a—p[" =[o] ~2(c, B) + |pff
Adding [Jo.+ B[ +[la~B[* = 2Jlf + 2"

Theorem : An orthogonal set of non-zero vectors is linearly independent, _

Froof : Let S be a finite or infinite orthogonal set of non-zero vectorsin a given
inner product space, Suppose o, o, .. o are’distinet vectors in S and that

B=eo + oo, . Foua. i (1) :
where c,,'c, .. ¢_ are scalars from the field on which the vector space is defined.
Then (.I?:-_, r;i*} =(co, tea, +. . tea, a,)

=0y, ) +eyo, 0) +.. + oo, o)t + c (o, o)
Since 0, 01, .. ¢, _are pairwise orthogonal,
(o, ) =0 " fori=k
B o) =ca, o)
Since (oL, o) # 0. it follows that -

S (ﬁr“}) . [Br“.e) gt
¥ (0,0, ) Ha*”z i e (2)

Thus, when =0, &< .H“ ”z =0 B3 o
] ¥ :
Hence from (1) we conclude that the vectors o, o, .. 0, are linearl independent.
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. Corollary : Ifa vector P is a linear combination of a orthogonal sequence of non-
zero vectors o, 0., .. O, then P is the particular linear combination.

(ﬁ “Jr
=2l

Tha_cumﬂary follows simply from equations (1) and (2) in the proofof the theorem.
Gram-Schmidt Orthogonalization :

The basis {(1, 0); (0, 1)} ofthe vector space ofall two-dimensional coordinate
vectors, and the basis {(1, 0, 0), (0, 1,.0), (0, 0, 1}} thhc vector space of all three
dimensional coordinate vectors, have the property that the standard inner product of
every pair of vectors within each basis is zero ; because of this property these two
bases are illustrations of orthogonal bases. In both of these examples, a geometric
interpretation is that for each orthogonal pair of vectors the corresponding geometric
vectors are perpendiculars to each other. ;

Theorem : Let ¥ be an inner product space and let B, B, ... B, be indepéndent
vectors in . Then we can construct orthogonal vectors o, @, .. & in } such that for
each k=1, 2, .. n, the set

{o, @, . o)

is a basis for the subspace spanned by 8, 8, ... B,.

Proof : The vectors o, ., .. 0. Will be obtained by means ofa construction known -

as Gram-Schmidt orthogonalization process.
Proof : We shall use induction to prove the theorem. First let Dt.l_=.i3|,

As induction hypothesis, suppose o, O, .. O (1 S m < n) have been chosen so
that for every k. -

{o,0,. o) 1S£ksm
satisfy the statement of the theorem. i. e. {ou, ¢, .. o}, 1 Sk =m, isan orthogonal
basis for the subspace of V¥, spanned by B, B,, .. B,.

On the basis of this hypothesis, we shall show that a vector o, canbe constructed
such that ;

{':.:l"'l’I mi i mmrl}

is a set of orthogonal vectors satisfying the statement of the theorem.
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Letuswrite o ., = Z ﬁ’“*"m*)

Z(ﬁml:“& =0,

= A
In otherwords, f_‘. is a linear combination of thc vectors o, o, .. o and hence
‘a linear combination af Bl, B, .. B_, which is not true, as by assumptmn {3., P i
are linearly independent. - '

Hence a5 0.

mE]

Again, for i £j < m, we have

i {D'I'mﬂ* c"l'_r') 2 (gm.f-[’ Cﬁj} - i@fm&
; b ]
= (o w12 0,) — (ﬁmu:—‘r]n(zﬂh“;) (siﬁc:: {m*, a)} =0 fnr k#J)
ol _

=B ) = (B, &

This shows that {0, 0, .. 0, } is as orthogonal set consisting of m + 1 non-zero
vectors in the subspace spanned by B, B, .. B, . Since an orthogonal set ofnonzero
vectors is linerly independent. {a., o, .. o _. } is a basis for the subspace spanned by
B, B, .. B, Hence by induction it follows that the vectors O, O, .. 0 may be
_cr.}nst:ructed one after the other in accordance with the formula { 1)

In particular, when n = 4, we have.

aiqﬁl
a5 00
a, =f, - ﬂﬁ“n")}
. 320 s O
o=~ peitde (e, )
a1y FELLS a0y
s Uﬁuln - (LW} (7u31| =
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Corollary : Every finite dimensional inner product space has the orthonormal
basis. '

Proof ; Let ¥ be a finite dimensional inner product space and {f, [i‘.q B} Gen
basis of V. Applying the Gram-Schmidt process of orthogonalization, we can construct
an orthogonal basis {0, 0., .. o } for ¥. Then to obtain an orthonormal basis, we simply -

replace each vector o, by O o]

Theorem : Any orthonormal subset of a finite dimensional inner product sﬁaca V
can be extended to an orthonormal basis of V.

. Proof : Let o, o, .. o forman orthonormal subset of ¥. We append the vectors
in some basis of V to form o, ... &._and call the new vectors o, 0. o.. By

1?2t

Gram-Schmidt orthogonalization process applied to o, , o, .. 0. we get 3, Bf
Clearly the non-null vector among B], B, .. B_forman orthonormal basis of V. This
basis contains o, O, .. O '

Ex. 6 : Consider the vectors B, = (3, 0, 4), B, = (-1, 0, 7) and B, = (2, 9, 11)

in R® equipped with the standard inner product. Applying the Gram-Schmidt process
to B, B, [3 we obtain the following vectors.

o, =B =03,0,4)
. B,,q }

“1“2 :

e _.((-—1,[},?],{3,{],4]) |
= (~1,0,7) . ——2(3,0,4)

= ':_11 0, T} = {Es ﬂp 4)

@, = Bz“

=(+40,3)

(ﬁs:“;] g [ﬁarﬂzzluz
o |

0"1 2= F’a"‘
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.({2,9,11],{3,{&,4]]

~@9 11~ _ (3.0,4)
=4 ({2’9’11)’[_4’:]’3}){_4’0,3}
o)
= (2,9, 11) -2(3, 0, 4) — (-4, 0, 3)
=(0,9,0) - :

These vectors are evidently noe-zero and mutually orthogonal. Hence {ml, s
a.} is an orthogonal basis for R,

Clearl;.r an orthonormal basis is

O 0
_ {hmmwmﬂ-
-(Ba8)(3aow)

Now, an arbitrary vector y = (x, x,, x,) in R* can be expressed as a linear
combination of o, 0, @, as

i 3
N0

"f ]
o

So, {xi’ X3 xg} = ((I;,Il,x]J,(3,ﬂ,4}} o4 ({X;,JCZ,,{J,(-—-‘-I-,U,E-:I)

25 ; 25 oy
(x,5).(0,9,0))
81 2
3x, +4x =4y 3k, X
% 125 oy + '25 5&;+;’a3

In particular if (x,, x 2 %) = (1, 2, 3), then
. {1,2,3}:g(a,ﬂ,4)+—;«(—4,ﬂ,3)+§(ﬂ,9,ﬂ)

Ex. 7. Extend {(2, 3, ~Il % {1,-2,—4)} to an or'thc-_g{:-na.l basis of the Euclidean
space R* and then find an associated orthonormal basis. -

Let @, = (2, 3, -1) and o, = (1, -2, —4)
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We have (0., ®,) =2.1+3.(-2) +(-1). (-4)
: =2-6+4=0 '
So, o, o, are orthogonal vectors
Leto,= (0,0, 1)
_Then {0, @, 0.} is linearly independent, because
23 -1

1 -2-4
00 1

=—7T+0

So {o, o, o} is a basis of R°.
Let B = o, = ¢,0, — 00, . -
(oo) | _(049)
; ¥ 3 2
o - o

Since (B, o) = 0, (B. Ot,} 0 P is orthogonal to o, and o, and L{ia, o cr.} =
L{ﬂtl, mz, B}

whare G =

ot,, B} is an orthogonal basis of R.

c_!“i?“i} ‘“_1 (“’5-“2) L

e T b "2
- =(0, {:,1}+i(2,3,-1)+-"'-(1,—2, —4) =G%%J
'Iherc.ﬁare,theormugnnﬂlhasmﬁ {{2 3,-1).(1,-2,-4), (—,% %]} and the associated

nr‘thlurmrmal basis is {ﬁ{z, 3,—1),—-‘\{;—_;(1, -2, -4).,%{2,—1, 1}} :

Ex . 8. Use Gram-5chmidt process to obtain an orthonormal basis ofthe subspace
of the Euclidean space R* with standard inner product gmmtad by the lingarly independent -
set {(1, 1,0, 1), (1, 1,0, 0), (0, 1,0, 1)}. -

Let e, = (1, 1,0, 1), ;= (1, 1, 0, 0) _0',3 =(0,1,0,1)
WesetB, =o,=(1,1,0,1)
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and B, =q, - (HE! ﬁz[}ﬂ

1 (L.L{w)_-((1,1,0,{1},(1,1,[1,1)) (1.10,1)

3

:I(l, 1, U,ﬂ]-%{l,l,n,l)

S L
_(3,3,;}, 3] 3{1,_1,&, 2)
f—l'z Iﬂs_{uaiﬂj ﬁt (“3:—'32 ﬁ
1Bl |iﬁ=|l

-:::1:}1)-—(1101} = {110 ~2)
:[n,1,ﬂ,1)—-2-{1,1,0,1)+E'{1,1,-:},-2)

1
=—(~1,1,0,0
=3(1100)
S0 the orthogonal basis of the subspace is
{(1,1_,{},1},::‘-(1,1,9,--2},%(4,1,0,-:}]}

. and the corresponding orthonormal basis is

. {%(I,i,ﬂ',IJ,—J'-—‘G-:-{I,.Lq;_z)!%(_l’l_’ﬂ’ﬂ)}

EXERCISES

. 1. Provethat the set af vectors {(1,2, 2),(2,-2, 1), (2 1,-2)} is an orthogonal
basis of the Euclidean space R* with standard inner product.

Express (4, 3, 2) as a linear combination of these basis vectors.
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3,

Consider the inner product space C? with standard inner product
(@ B) = 8,5+ a,b,3 &= (2, b) B= (@, b)

Determine which of the following bases are orthogonal and then determine
which are orthonormal,

(2) {(1,0), (0, 1)}
(b) {G 1), (2, D}
{C] {(2: i)s (_: 21)}

Find the norm of each of the following vectors ;

=121

| et T S s e
iR [2 43 5)E
(b) p=(1-2i,3+i,2-5i)eC’
InR,leto=(a,a,a),B=(b,b, )Daterminc whether (a, B) is a real
inner product for R? if (ct, 8) be defined by
(a) (o, P) = {al ta,*t ﬂa} (bl ¥ bz + ba}
() (0, B) = a,b, + (a, + a)) (b, + b) + a,b,

. Prove that for all o, _ﬁ in a Euclidean space V -

(a) (o1, B) = 0 if and only if [o+p]| = lo—B]
(b) (@, B) = 0 if and only if Jo+Bf =|lef +|BI

(©) (o + B, o~ ) = 0 if and only if [l =|B]

Apply the Gram-Schmidt process to the vectors B, = (1, 0, 1) B (1,0,
1), B, = (0, 3, 4) to obtain an orthonormal basis for R* with the stanﬂard
inner product.

Consider C*, with the standard inner product. Find an orthnnnr;nal basis for
the subspace spanned by

B,=(1,0,i),and B,=(2,1, 1+ i).
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8. Let Vbea ﬁnitc dimensional inner product space, and let {a., o, ;. 0} be
an orthonormal basis for ¥, Show that for any vertors o, B in :

(@ ) = () (Fra,)

=1

9.  Apply the Gram-Schmidt process to find an orthonormal basis for the Euclidean
space R* with standard inner product that contains

(a) the vector (

1
W 1':}
5 B ]

-

Y45

SlL
e

1
3:@9

&=

(b) the vectors [
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Umt 3 0 Linear Transformations

Definition : Let Fand Whe vector spaces over the field F. 4 transfﬂrm.ation T
from ¥ to W is said to be a linear transformation if,

T(a+ﬁjzf(u)+r(ﬁ)}

and T(ko)=kT(0) e (1)

where ¢ ﬁ_nd P are arbitrary elements of ¥ and & is an element of F,
The two conditions in (1) can be replaced by a single condition.
. T(ho + B)=kT (o) + T (B) :

EXAMPLES

Ex. 1. If Vis any vector space, the identity transformation /, defined by (o) = o,
“ove V, is a linear tranisformation from V. into V. The zero transformation O, defined
by Qo= 0 is a linear transformation from Vinto ¥. -

Ex. 2. If F be a field and let Vbe the space of {lﬂ]}fnﬂmlﬂ.l functions f from F into
F, given by

ﬁx}=c +t:.=c*l-..+-::kxJl
Let (Df) (x) = ¢, + 2cx + .. + kex!
The D isa hnn‘:ar transformation from tho .

Ex. 3. For the vector space R, let t.’ns transformation 7. R*— R? be defined in sut:h
a way that

T((a, b)) = (a + 2, b)
This transformation is not linear, because
T ((a, b)+(a,b)) =T ((a,+a,b +b)
=(a,*ta,+2,b+h),
whereas T ((a,, b)) + T(al, b:)} =g, +2, E:-l} t{a,+2,b)
=(a,ta,+4, b +b) .
o T(la, b))+ [az, b,)) # T((ai, i]}l + Na,. b,))
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Also T(k(a, b)) = T(ka, kb) = T(ka + 2, kb)

and  KT((a, b)) = Ka, + 2, b) = (ka + 2k + kb)

8o T(k(a, b)) # kT{a, b)) :

Hence the transformation T is not linear.

Ex. 4. Let T. R*— R? be defined by T(ai, ay, a,)=(a,a,0),(a,a,a )€ R.l

Let = (a,, a,, a,) and B=(b,b,b)ec R

Th-:nor,+ﬁ=(al+£: a,+ b, aj'!'r.'))

o+ P).. =(a,+b,a,+bh, 0)

=(a,, b, 0) + (""zr » 0)

- (o) + T(B)

and for any ¢ € R, '
oo = c{a;, da,, a,) = (ca,, ca,, ca,)

o T (ed) = (ca,, ca, 0) =cla;a, 0)

' = cT(o)
Hence T is linear transformation.

Ex. 5. Let F be a field and let k. k, .k be ﬁxﬂd elements of F. Define the
mapping T from F* to F by

Tz, % o=kt 2 Er .4 kx

Then it is easy to check that T is linear transformation from F* to F. A linear
transformation from /* to F is called a linear functional of F* or a linear form in x.,
X, X, _

Theorem : Let Fand /¥ be'vector spaces over a field Fand T': V'— W be a linear
transformation.

Then (i) 7(0) = 0’, where 0 and 0 are null elements in ¥ and W respectively. -
(1) T(~o) = —T(or) forall o € V.
Proof: In ¥ we have 0+ 0=10

T(0 +0) = T(0)
But T is linear, so T(0 + 0) = 7(0) + 7(0)
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. T(0) + T(0) = T(0) = T(0) + 0’
= T0)=10". o7
Now, ot (-a)=0 in ¥
L n Ne+Co)=T0)=0
= To)+ T(-o)=0’
= I—a)=-T)
Kernel and image of a linear transformation :

Definition ; Let V¥ and W be vector spaces over the field Fand T': P— W be
a linear transformation. The image of T, written Im T, is the set of image points in W :

- ImT= (o € W|T(a) = o for some o e V)
The kernel of T, written ker T, is the set of elemmtsm thlch map into o’ € W ;

ker T= {u; £ Vi T (o) =U'] (0 is the zero or null r:lemm_lt in W)

Theorem : Let T': ¥'— W be a linear transformation. Then ker T is subspace of

Proof : We have kér T = {u eV T(m}iﬂ'}

Since T(0)=0’, 0 € ker T and 50 ker T'is non empt}r If ker T contains 0 alom:
then ker T is a subspace of V. i 3
. - Let us suppose that ker T contains a nonzero elément o of ¥, Then T{a) = 0.

Then for any c € F (the field on which ¥ is defined) we have T(ca) = eT(0) =
Wl : . :

This implies that ¢ o € ker § i
‘Let o, B e ker T, then T(ar) = ¢, T(B) = 0
Now since T'is a linear transformation, i
T(o. + B) = T(ex) + 1(B) = 0’ + 0" = 0’
So,d,Beker T’ =a+pPekerT

and o € ker T =cote kerl,ce F
Thls shows that ker Tis a subspa{:a of V.
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Theorem : Let T': ¥'— W be a linear transformation. Then ker T is subspace of

“ Proof : Since T(0) = 0’ € Im T, it follows that Im T is nonempty.
~ Let Im T contain a nonzero element say ¢’ Then there exists an elemento,e V
such that T{a) = o’ ; J . :
This implies that T{ca) = cT(01) = cat’ forallc € F.
sneo’e ImT.
Agani, let o, B’ € Im T, then there are elements o, B € Vsuchthat
T(e) = o, T(B) = P,
Now,  T(c+B)="T(c) + T(B) = o/ + P’

= o+felmT

Hence o, P elmT= ol + FelmT
and ca’'e ImT, ce F
Hence Im T is a subspace of W.

~ Theorem : Let T': ¥'— W be a linear transformation such that ker T = {0}. Then
the images of a linearly independent set of vectors in ¥ are linearly independent in /7,

- Proof:Letbe {0, o, .. 0 } be a linearly independent set in ¥, we have to prove
that {T(o), T(c,) .. T(et )} is a linearly independent set of vectors in .
Let c,¢,..c€F |
e, T(o) + e, T(0) + .. + ¢ T(o )= 0
* Since T'is a linear transformation, we have :
Teo, * e, + .t ea)=cl{a)+.. +cTla)
Moo, tom, + . Heo) =0 '
This implies that c o, + co + .. +c o € ker T.
But ker T'= {0} is given.
Hence - ¢ +cou, + o+ co =0 _
But since {o, @, .. o } inalinearly independent set of vectors in ¥, we must have

L‘i={fz=...=cﬂ=ﬂ
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Thus it fnﬂawé that
e, T(a) + e, T(ae) + .. + ¢ T(e) =0
iniplies that ¢, = ¢, = ... =¢ =0
Hence {T(w,), T(ew,) .. I(0,)} is an independent set of vectors in .

Theorem : Let T: F— W be a linear transformation and {0, ct2 .o _} be abasis
of V. Then {T(a)), T(o.,) .. T(c )} generates Im T.

Proof : Let o € Im T. Then exists at least one element, say 0., in V'such that (o)

+

=o'
Since {o, 0., .. 0 }isa basis of V, there exist ¢, ¢, .. ¢_€ F such that
o =l e+ e '
Ty = Mo, teo, + ..+ co)
e, I(o,) + e T(a) + .. + ¢ T(c ), since T is linear,
of = ¢, T(er) + ¢,T(,) + .. + ¢, T(et,) : '

Since each T(a) € Im T, it follows that Im T'is generated by {T(c), T(or,) ..
T(e,)}. ah

Nullity and Rank of a linear transformation :

Definition : Let 7 and W be vector spaces over the field Fand let Thea linear
transformation from ¥ into . The nullity of T'is the dimensin of the subspace ker T
of ¥ and the rank of T is the dimension of the subspace Im T of W.

If ¥ be a finite dimensional vector space then both ker T and Im T are finite
dimensional,
. Theorem : Let ¥ and W be vector ,épa{:‘::.é over the field F and Vs finite dimensional,
If T: ¥— W isa linear transformation then the nullity of T+ rank of T' =dim V.
Proof : Let dim V' = . :

Let {0, .. 0.} be a basis of ker T. There are vectors o, , 0, , .. & in F'such
that {o1,, ot, .. o } is a basis for V. We shall now prove that {T{c,, ), T(0,, ) --- T ) bis
a basis for Im 7. We have noted that the vectors T(oi,), T(ci,), .. (0, ) certainly span
Im T, and since ., o, .. o, -€ ker T, we have I'(o,) = I(a,) = T(o,) = 0’. Hence it

132




follows that the voctors T(e,, ), T(o,,,) ... T(0,) sf.ian Im T, We shall show that Toy,),
T(0,,,) ... (e ) are linearly independent.

Suppose that there are ¢, ¢, ,, ... ¢, € F such that
O TA0) 6, T(0,,) + o e, Tlo) = 0
Since T is a linear transformation, it follows that
T(GH'EIH FCpg Oy T e + o) =0"

Hence o=c¢ o e, 00+ ..+ co € l_cer i

Again, by assumption, {0, 0., .. 0.} is a basis of ker Tso o= bo,+tbo, +.. -

+bha,b,b, . bk .

Thus o =bo, +bo, +. +bo, =c @ +e,0., ...co
or, bia’l + bzuz o f ’51“1:_ Crn P — Cpgllyyy = — e 0
But {a, o, .. o } is a basis of ¥, so we must have,

X E:II =b2=“' =bk=ck+1:" cn=n

Hence I(a,,.), How,.) ... T(ot) are linearly independent and as they span Im T,
(o), I(o,,,) ... (e )} is a basis of Im T.

Clearly dim (InT)=n — k= rank of T.
Also, dim (ker T) = k = nullity of T. .
Hence rank of T'+ nullity of T'=»r = dim V.

Theorem : Let ¥ and W are both finite dimensional vector spaces of the same

dimension and T'is a linear transformation from ¥to W, then T is one-one if and only
if T'is onto.

Proof : Let T be one-one then clearly ker T'= {0}. and so dim ker T= 0,

Néw, ker T is a subspace of V" and Im T is a subspace of W and also dim ker T +
dim Im 7 = dim V. 3

Since dim ker T'= 0, we have dim Im T'= dim ¥ = dim W (given)
cdimIm T=dmW=InT=W

Hence the transformation Tis onto.
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Connversely, sﬁppuse that T'is onto.
Then ImT=W
 dimIm 7= dim ¥ = dim V.
Since dim ker T + dim Im 7 = dim ¥, we have
dimker T=0.  Henceker T'= {0} and T is one-one.

Theorem : If ¥ and ¥ be are finite dimensional vector spaces over a field Fand
ifthere exists a linear transformation T : F— W which is both one-one and on to, then
dim V¥ =dim W, _

Proof : Since by assumption T is one-one, we have ker T'= {0}

.dim ker T=0
Again, since Tis onto, we have Im T W
~dim Im T'= dim W
Now, dim ker T+ dim In T= dim ¥,
= 0 +dim W =dim V.
ie dimV=dimW.
Theorem : Let Vbe a finite dimensional vector space over the field F and let {at;,

. 0.} be a basis for V. Let W be a vector space over the same field F and B,, |3
E'u be any vecotors in . Then there is precisely one lmear transformation T from ¥

into Wsu.ch that
o) =B, i= 1,2, .
Proof : To prove that there is some linear transformation T with T(a) = B, we

proceed as follows. Let o be an arbitrary element in V. Since {o., 0, .. & }isa basis
for ¥, there exist unique scalats ¢, ¢, .. ¢, in F such that '

o= et te
For this vector o we define
To)= e, tef,+. + cB
Then T is a well-defined rule for associating each vector a.e Vio a vector T(or)
in W, : :
From this definition it is clear that T(ct) = B, for each i
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Let us now examine whether T is linear.

Lety, 8 € Fand :

N=po +po, + .t po

=g tqot.tga .
where p,, g are unique scalars in F determined by the basis {o, o, oo
Then y+8=(p, +q, Ja, + . +(p +q)o

and by = (bp o, +{5P1}ﬂ + +(bp o, be F

s0, by definition
T(+8)=(p + q])ﬁ'. +. e, + 4B,
Ty)=(bp)B, + ..+ (bp B,
and  T(y) + T) = (@B, + .. +p,B) + (g, + .. + ¢,8)
: =@, +q)B+.+(@ +q)B =T +8),
bT(Y) =b(pB, +pB,+.+pp)
=(p)B, + .. + (bp,)B,

= T(by)
This shows that T'is linear.

We have to show that T is unique linear transformation such that T{(o.,) = B.i=1,

o H

Let us assume that there exists another linear transformation T’ ; ¥— W such that
T'(0)=B,i=1,2, n,

NDW,T'(DL} =T’ (¢, +c{:¢ i +ct1]

-cT (o) +e,T7 (0&2}+ o i (D:},{QT is linear)

=efrep +.tef :

=T(o) ) :

Thus I'* (@) = I(w) for every oL € V.

Hence T'=T

Thus 7 is unique linear transformation such that He)=PB,i=1,2,.n
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. ~ EXAMPLES
Fx. 1. Let ¥be the vector space of n-square matrices over field F. Let M be an
arbitray matrix in V. Lat T: ¥V— W be defined by T{A) = AM +MA where A € V. Show

that T'is linear.
For any A, B € V and any ¢ € F, we & have
T4+ B) =(4 +B}M+M{A +B)
=AM + BM + MA + MB
| =(AM + MA) + (BM + MB) = T(4) + T(B)
and T(cd) = (cA)M + M(cA)
© =c(AM) + e(MA) = c(AM + MA)
=cT(d)
Accordingly, T'is linear.
Ex. 2. Let ¥ be the vector space of '2 x 7 matrices-over K and let M -.—_G} i)

Lf:t T: V— W be the linear transfunmtmn dcﬁm:d by T(A) = AM - MA. Find the basrs
and the dimension of ker T,

We seek the set of [ o ':]'such that
- 1 0 0).
(G )6 o)
; x ¥y T ﬁ__l 24 x ¥
S () R 4 R )
_ (x 2x+3y) [x+2s y+2
T e 28N e 3
LR 2x+2y-2t) (0 O
R 2s 0 0
= s=0 and x+p=1

Among the four variables x, y, 5, ¢ we observe that s =0 and the varmhles X,y
and ¢ are conhected by x + y = ¢, This means that there are only two free variables x

and y. Hence dim ker T'= 2.
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To obtain a basis of ker Twe set x =1, y = =1

50 ihat the solutionis x =1, y=-1,t=0,s=0and the matrix is [;i _l]l

e T |
Thus {(ﬂ {}}, ({] 1]} is a basis of ker T.

The Algebra of Linear Transformations :

In the study of linear transform a vector space ¥ into a vector space W, it is of
fundamental importance that the set of these transformations inherits a natural vector
space structure. The theorem below explores this concept.

Theorem : Let ¥ and W be vector spaces over the field F. Let Tand U be linear
transformations from Vinto W.

The function (7'+ U) defined by
(T+U) (o) = T(or) + Ulew), v € V.

is a linear transformation from Vinto V. Ifc is any element of F, the function (¢7)
defined by

(eT) (o) = e(T(e))
is a linear transformation from ¥ into ¥. The set of all linear transformations from

Vinto W, together with the addition and scalar multip llcatmn defined above is a vector.
space over the field F.

Proof : Suppose T and U are linear transformations from ¥ into W and define
(T + U)) as above. Then
(T+N e+ =T(a+p)+ Ufo + B), o, BE ¥,
= T(o) + Ula) + T(B) + U(P)
=T+ V) (@ +(T+V) B) _
) Msn (T'+ U) (eo) =Nea)+ Ulcn), ce F
o(T(@) + c(U(0))
o(T(o) + Ule))
(T + U) (o)

Thus (T+ U)isa ]mear transformation.
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‘Now we show that the function {eT) is a linear transformation
We have, (-ci"j (o + B) = e(T(a + B)), by definition
= ¢(T(w) + T(B)), since T is linear
= c(T(a)) + o(T(B))
=cT(a) + cT(B)

And foranyd € F,
(eT) (do) = (T(dar)
= c(dT(w))
= cd(T(e) = de(T(0))
= d[e(T(0))] = d [eT(0)]
which shows that (¢T) is a linear trarmfﬂrmtiﬂﬂ. To verify that the set of linear
transformations of Vinto W (together with these operations) is a vector space, we

have to check each of the conditions on the vector addition and scalar multiplication,
The task is lengthy but not difficult. The zero vector in this space will be the zero

transformation which sends every vector of ¥ into the zeto vector in W; each ofthe

properties of the two operations follows from the curreslpundmg property of the
operations in the space W. :

Theorem : Let V, W and Z be vector spaces over the field F, Let T be a linear
transformation from Vinto W and U, a linear transformation from Winto Z. Then the
composed function UT deﬁned by (UT) (o) = U(T(w)) is a linear transformation from
Vinto Z.

Proof : We have. (UT) (a+B) = U(T(0 + B)), o, eV
= U(T(a) + T(P)), since Tis linear on V.
= U(T(a)) + UCT(B)), '

since U in linear on A
= UI(a) + UT(B)
and UT (cat) = U(T(crr)), : Y
= U(eT() |
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=c[U(T(0))]
=c(UT())
" This shows that UT is a linear transformation from Vto Z,

. Definition : The function T from V into W is called invertible if there exists a
function U/ from W into ¥ such that the UT is the identity function on ¥ and T{/ is
the identity function on W. If T'is invertible, the function U is unique and is denoted
by T, '

Funthemore, T'is invertible if and only if
(a) T is one-one i.e. T(aw) = T(PB) implies o = B
{h] T is onto, i.e. range of T is .

Theorem If ¥ and W are vector spaces over the field F and let T'be a linear
transformation from Vinto W, If T'is invertible, then the inverse finction 7' is a linear
transfor_matmn from W onto V. :

Proof : Let B, 3, be vectors in # and ¢ be a scalar. We wish to show that
TR, +B,) = TR + TR
and  T(cB) = cTU(B)
Let T'B =0, i=1,2
Then Na)=Pp, i=1,2
Since T is linear, T(a, +a,) = T(o,) + T(o,)
=D
‘Thus o, + o, is umque vector in thn:hls sent by T'into B, + B, and so
T@, + B) = o, + 0, = T(8) + T'(B)
Also, T(ca) = el(w,), since T is linear
=P,
That is the unique vector co., is sent by Tl]ltﬂ cf, and so,
T'Y(cB,) = cor, = ci’“*{ﬁ)
*. 7-'is linear.
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Isomorphism : Let V" and W be finite dimensional vector spaces over a field F.
| A linear transformation T': ¥— W is said to be an isomorphism if T is both one-one
and onto.

Theorem ;: Two finite dimensional vector spaces Fand W over a ﬁald F are
isomorphic if and only if dim V"= dim W.

Proof : Let ¥ and W be isomorphic. Then thera exists a linear transformation
T+ V— W such that T is both one-one and onto.

Since T is one-one, ker T'= {0}
and since T is onto Im T'= W.
Hence from the relation :
dim ker T + dim Tm T'= dim V; we get dim = dim V.
Conversely, let dim F'=dim W= n.

Let {er,, u}baabasmaf?’and{ﬁ P - B}bf:abasisnfﬁf
Then, there exists a linear transformation T: ¥'— W such that T((x!) B.i=
2 it

Since {T(cx,), T(a,) ... T{ﬂ};}} genﬂrates Im (T), 50 {B; B, .- B,} generates Im (7).
ie L{B,B,. B} =In(T)
But  L{B, B, .. B} =W, since {B,, B, .. B,}is a basis of 7.
Hence In (T) = W.
This means that T is onto.
Againg from the relation :
dim ker T+ dim Im T = dim V.
we have, dim ker_ T+dim #=dim V.
But dim V' = dim W, so, dimker T=0"
=% ker T= {0}
= Tis one-one.
Thus, T being both one-one and onto, the vector spaces ¥ and W are isomorphic.

Theorem : Every n-dimensional vector space over the field F'is isomorphic fo the
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space F",

Proof ; Let {0, 0, .. & } be on ordered basis of V. Then any vector & of ¥ can
be uniquely expresed as

Emet Ao .+ e 0. wheree,c,..c € F
Let us define a transformation T': V- F by
&
€y
T(E)=| u

[

Let nm=bo tbo+.+ba cV
and  S=do +do,+.+do eV
then N +8=(b +d)a, +(b,+ dYo,+ . + (b +d)a eV

_ b (4
5o that T('rl]z E;:d T{a)z ‘;E{
b, \4,
: b+d, ) -(b) (4, ;
md 7(es)= BB LA L))
b+d,) \b) \d U

£l

Let ¢ € F, then avj € Vand

an = (abar, + (ab,)o, + .. + (ab )or,

ab, b,
T(ﬂ"ﬂ)= a& - aE:z = al - _ wel2)
ab, b,

Results '_( 1) and (2) show that the transformation T is linear,

To prove that T is isomorphism, we have to show that Tis one-one and onto,
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Now, for any two vector 1) and 8 € ¥, we have

b’ b, -
r(m)=1(®)=|%| = |2l=8=db=dL b,=d,
: b, b,
= =0 ;
Hence T is one-one :
] ' P

Now to prove that T is onto let pﬁi be an arbitray element in F*, then

fig:
potpo,t . tpo € V and
P
; T{p|u’1 +p1{):2 o +PNE¢“} = p:
: ) ? P
This implies that Tisonto.
Hence T is an isomorphism.
EXAMPLES

Ex. 1. Lot T B R* difined by T(x, y, 2) = (2, 42—, 2x +3y — ). Show that _
Tis invertible and determine T™'. ~ :
The kernel of the transformation ker T is the set of all (x, y, z) such that T(x, y, 2)
= (0, 0, 0), i.e.
T(x, y, 2) = (2x, dx — y, 2x +3y —2) = (0, 0, 0)
Thus ker T is the solution space of the homogeneous system.
2x =0, 4x —y=10,2x+3y-z=0
which has only the trivial solution (0, 0, 0).
Thus ker T= {0}. Hence T is nonsingular and so T is invertible.

Let (7, s, {) be the image of (x, y, 2) under T ; then (x, y, 2) is the image of
(r, s, Hunder T

(v, y, 2) = (r, 8, ) and T(r, 5, 1) = (, 7, 2)
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We will find the values of X, ¥,z in terms of F,sand t, and then substitute in the
above formula for T, , '
From T(x, y, z) = (2x, 4x - Yo 2x 43y —2)=(r, 5, 1)

* we have, Z=rdx-y=s5, Ix4lp_z=y

x= ¥Y=2r—5 z=Tr—3s—;

r

2 b ]
and so, ! is given by
Vi _[r, .s',.r') =(%r, 2r _.5;, Tr—3s5— t)

Matrix representation of a linear transformation ;

Let ¥ be an n-dimensional vector space over the field F and let W be an m.
dimensional vector space over F. Let {a, a, .. 0 }be a basis for ¥and { Pl - B}
be a basis for 7. If T'is any linear transformation from ¥ into W, then T'is determined
by its action on the vectors .= 1,2, .. n. Each ofthe n vectors (o), To) .. Ha)
is uniquely expressible as a linear combination.

T(o,)= ; AB,
ofthe B, the scalars A4, A, being the coordinates of (o) in the basis {8,
B, .- B.}. Accordingly the transformation T is determined by mn scalars 4, via the
formulas (1). The m * n matrices 4 = (A ;) 18 ealled the matrix of T relative to the pair
of ordered bases {o, o, .. o} and {B, B, .. B

The j* column of 4 is the coordinate vector of T(a,) relative to the ordered basis

{B, B, .. B,)

LetE=xo +xo +. + X o be an arbitrary vector of ¥ and let

?TE.\)_ = J,r’,Bl + J‘zﬂ;_ SE +ym13m, Xy Xy Yy € F
Now T() - = T (x,0, + x,0, + o AN _
| = xT(o) +xT (o) + .. +x.T (o) since T is a linear

: transfomation,
= X d4,B +4,B + A B) X, (4,8, + ApPyt . +
Amzﬂﬂ.) + ot xn {A 1.«1‘31 + Azuﬁz A Amﬂﬁm)
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(A]'I.x'l + Alle + + A]Rxn)al. + l|:‘FI:I.IHII 5 A?lxl + o +
Azmx"_}ﬂ,l + .. F {Am:n:1 +4 x o+ Amxm}{im

y]i.?)!+y1 2+ 3 +-}Imﬁm
Since B, B, .- B, are linearly independent, we have

_}‘] % Ailxl_,+ Al.lxi'. * + Amxn
yp=d,xt Ao, .+ A4,x,
i A A..,zxz i Amxﬂ

In matrix notation we have

» A4, A, L 4, (%
| |4 Ay 4y, x;
M : M
.-pm Ami “%uz Anm xr:
or, T =A%, i 12) :

where X is the coordinate vector of an arbitray element E in V relative to the
ordered basis {01, o, .. @ } and Yis the coordinate vector of T(E) in W relative to the
ordered basis {B,, B, .. B} E

(2) is the miatrix representation of the linear transformation relative to the chosen
ordered bases of Vand W..

The coordinates of T(c) are given by the ith column of A for j=1,2,.n.

The matrix of linear transformation T depends not only on the choice of basis of
two vectorspaces ¥ ans ¥ but also on the order of the bases.

1f we know the ordered bases for the spaces ¥ and I, then the associated matrix
for the linear transformation can be constructed. -

Conversely, if a matrix 4 = (4 ﬂ) of order m * n be selected first then there exists
a unique linear transformation I': V— W whose matrix is 4, because if we prescribe
the j* column of 4 = (4,) as the coordinates of T(o.) relative to basis {,, B, .- B},

0

then T is determined uniquely with 4 = (4 ) as the associated matrix.

Thus there is\um:-onﬂ correspondence between the set of all linear transformations
of Vto W and the set of all m * » matrices with elements from the scalar field F.
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Hence we have

Theorem ; Let ¥ be an n-dimensional vector space over the field ¥ and W, an m-
dimensional vector space over F. Let B be an ordered basis for ¥ and B, an ordered
basis for W. For each linear transformation T f'mm P'mm W, there is an mxn matrix 4
with entries in F such that

: [T(o)], = Alal,
for every vector o in V. Purthermore, I'—» 4 is a one-one correspondence between

the set of all linear transformations from Finto B and the set of all mxn matrices over
the field F.

Theorem : Let ¥ and W be finite dimensional vector spaces over a field F and
let T: V— W be a linear transformation. Then the rank of T' = the rank of the matrix
of T.

Proof : Let {Ot.t, o, .. o } and {B, Ei . B_}be a pair of ordered bases of V" and
W respectively. Let m [T} be the matrix uf F r:]atwe to those bases such that

C!t Clz L Cin
; m{T)z Cm sz. Czn - CﬁEF
le Cmi Cum

Then T{ﬂ.t) = cnﬂt % cz:Bz itsizek cmlﬁm
T(ai) = ﬂlzﬁi = .EHBE T CM2BM

T(D!n} = clnﬁl i C:.’-rrﬁ‘l ik cmr!ﬂl'l

Since {0, tig .. o } is a basis of ¥, {T(ax ), T(aw,) .. T{mﬂ)}gcn&rates Im 7. Let rank
of T = r, then by definition dim Im T' = 7.

So we may suppose that {T{o.), T(ct,) .. T(0)} is a basis of Im T. Hence the
remaining vertors T(a ), .. T(e ) belong to L{T(&x,), T(0.,) .. T(0L )}
Let us consider the isomorphism ¢ : W — F™ defined by

ci

¢'(~=‘-‘1ﬁ;+¢‘zﬂz +L +¢ B ) c_gﬁF
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i : Ciz _ Cin

~ Then §(Z'(a))= cifi , (T (0))= Cf:,_[ ?~_¢(T(‘3‘n])= Cf:i

Crz Com

c

mi

Since {T(c,), T(et,) .. T(ot ) }is a lineraly independent set and ¢ is an isomorphism -
{o(T(ce,)), 0(T(0,)) .. d(T(c))} 18 2 lhwa:rl}r_indcpcndcnt set of m truples of F™.

Since each of T(at ,,), T(e. ) .. (e ), belongs to L{T(a); T(at,) .. T(o)} and
¢ is an isomorphism, each of O(T(ct,,)), $(T(cr,,,)), .- 9(T{e:,)) belongs to L{p(T(cr,)),
G(T(er,)) .. d(T(er )}

This means that the first r culumm ofthe matrix m(T;; are linearly independent and
- the remaining (# —r) columns are linear combinations of the first 7 columns, So the rank

ofm(T)=r.
' Hencerank of T= rank of matrix of T.

Ex. 2. Let T: R*— R® be a linear transformation defined by T(x, y, 2) = (3x + 2}:
—4z, x — 5y + 3z).

Find the matrix of T relative to the bases &, = (1, 1, 1), o, = (1, 1, 0),
" 0,=(1,0,0) of R and B, = (1, 3), B, = (2, 5) of R,
We have T(ow) = (1, ~1) = =70, + 48,
T(at,) = (5, —4) =336, + 198,
(o) = (3, 1) = -13B, + 8B,

-7 -33 -13
4 19 8

2 The matrix of T'= (

.Linear ‘Operators : Let V' be a vector space over a field F. We consider the
special case of linear transformation T': V— W. These transformations are called linear
operators or linear transformations on V.

Theorem . Let T be a linear operator on an n—dmmensmnal vector space over
a field F, Then the following statements are equivalent.

(i) Tis non singular.
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(i} Tis ong-one
(iii) T'is onto
(iv) T'maps a linearly independent set of ¥ to another linearly independent set.
(v) Tmiips a basis of V" to another basis.
Proof : Let (i) be true, Then T is one-one and onto.
Hence (i) = (i)

Next let us suppose that (ii) holds, i.e. T is one-one. Then ker T'= {0}and so dim
ker T = 0.

But - dim ker T+ dim Im T = dim ¥

So, 0+ dimIm T = dim ¥V
sLdimimT=n

Since Im T is a subset of I and dim Im = dim V' + n it follows that Im T'= V.
Hence T is onto. | :
(if) = (iii) .

Let us now assume that (iii) h_alds, Let {at,, 0, .. o } be alinearly independent set

in ¥, We shall prove that {T{a.,), T(e,)} .. ()} is also linearly independent set in V.
Since T'is onto, dim Im T'= dim ¥ |
s0 dim ker T= 0 = ker T = {0}

To prove that {T(w,), T(at,) .. T(0;)}is a linearly independent set in V| let us
suppose that there exist ¢, ¢, .. ¢, € F such that

¢, T(a) + clT(cr.z] +.4+eT(e)} =0
Since T is linear, we have
T(ea, +eo, +. . +ecw)=0
= co, teo, +. +co eker T

Butker I'= {0}, hence cx, + c,o0, + .. + ¢t =0

]
il
(o

Again since oL, @, .. 0, are linearly independent we must have ¢, = ¢
={
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Thus, e, T(a)+ e, (o) + .. + e T(o) =0

implies ¢,= ¢,=.=¢,=0 .

So (o), T(o) . T(ov) are linearly mdependent

o, (iii) = (iv)

Let (iv) hold. Let us suppose that {a\, &, .. 0. } is abasis of V. Then by (iv) it

follows that {T(et,), T(c,) .. T(w,)} is a linearly independent set withn elements. Since
dim V = n, it follows that {T(w,), T(a,,) .. T(c.)} is a basis of V.

& vy = (v)
Finally, we shall show that (v) = (i). -

Let us assume that (v) holds. Let {o;, o, .. oo} be a basis of ¥, then {I{ct)),
T(ow) .. T(o )} is another basis of V.

Let £ € ket Tand let E=a,0, + a,0, +-,. +ao,a¢€F. .
Since & € ket T, T(E) =0
or, Ma o, + a0, + .. +a o) =0
or, @, T'(o,) + a, ey + ..+ aT(o)=0
This implies that a, =a,=..=a,=10
o & € ket T'= & =0, Hence ker T = {0}
~ T is oneg-one
Again dimker T+ dim Im I'= dim V, gives
 dimIm T=dim V.
But Im T c ¥ and dim Im T'= dim ¥
SoImT="V
Hence T'is onto.. _
. Tis one-one and onto. Hence T is invertible and so nonsingular.
= () = ).

Thus, all the statements are equivalent.
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Matrox of the composite transformation :

LetT: Vo> Wand S: W—Ube linear transformations where V, W, Uare finite
dimensional vector spaces over a field F, Then relative to the choice of ordered bases
matrix of the composite transformation ST :

= matrix of the transforation § * matrix of the transformation 7.
i. e, m(ST) = m(S) m(T).

Proof : Let dim V= m, dim #= n and dim U= p. let {0, @, .. 0.}, {B, B, ..
B} £, ¥y - ¥,} be respectively the ordered bases of ¥, W and U.

Relative to these bases let the transformation matrices be

m(ﬁ = (a{,r]mm’ m{S] = {bﬁ)mr m{ST} = {cr'k}m

Then T{a,):iaﬂﬁj, i=1,2.m
: o

S(B,)-—-f,bﬂh ji=1,2.n

kel

Sr(ma}zgﬁi'h, i=1,2.m

But ST(o,)

i

S0, 11 shiee S a0l T s lsnr
Ao
- gaﬁ g(gj)
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Lo €y s Z_lbh @y : .
This shows that m(ST) = m(5). m(T).

Theorem : Let ¥ and W be finite dimensional vector spaces of dimension n over
afield F. Let T : U/— W be invertible. Then relative to a choice of ordered basis

m(7)=[m(r)]"

Proof : Let {ml; o, .. O jand {|3],-E|2 .. B}, be ordered bases of ¥ and ¥
~ respectively. i

Let matrices of the transfﬂrﬁlatinns be
() =(a),, adm(TH=() .

Then T{(x,]z.aﬁ B, =

Then T“(ﬁ;]=gb§m, e

Since T is the inverse of the transformation T, we have ™' T'=1 and TT-' =
I ;I andI being the identity transfqnnatiuns'ﬂf Vand W, respectively.

Now, I'T(q) = T7[T(c)]
= g_dJIT;1-(B}) QT is linear -

= E[ "1.5&. n-.j.,.) .fc,:gc, o,

=1 =
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where ¢ =3 b, o,
: j=1
Now, T'T (o) = o, hence

R
o = Zﬂrat
i

or, 288 = ?4:,5;%
or, E{ci_a!i}u'j:n

Sinece o s are linearly independent we have

=12, . 5
i=1,2,.m

or, Ebﬁ oy=8; =112, .n
= 2 ‘

)
]

8,
5

0f,

This shows that s(T-")ym(T) =I‘;
Similarly, TT'=1I will give
m(Tym(T ") =I
s m(Dm(TY) =m(T™") m(T) =I_
= m(T)=[m(D]"

EXERCISES

Let T: R*— R difined by T{x, ¥ 2)=(x-yx - xy,y+3z), (x,y,2) € R%. Show
that T is invertible and determine 7",

Let S and T be linear transformations of R* to R defined by S(x, », z] (z, y, x},
xp.2) € R and I(x, p, 2) = (x +y + 7,y + 7, %), (x,3,2) € R
(iy Determine TS and §T

(i) Prove that both 5 and T are invertible,

Verify that (S7)-! =I5
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3. A lineaf mapping T : R*— R® difined by
Ty, 2)=Qx+y—2z,p+dz,x~y+32), (x, 5, 2) € B
Find the matrix of Trelative to the order bases
(0,1, 13, (1,0, 1), (1, 1, 0) of R, '

4. [Ifkbe anonzero scalar, show that the linear transformation T'is singular if and only
if kT is sirtgular. Hence T is singular if and only if - T is singular.

5. Let T'be a linear operator on R* defined by T(3, 1} =(2, —4) and T(1, 1)=(0, 2).
Find T(a, b) and in particular find 7(7, 4). '

6. Let Fbe a ficld and T be the operator on F? defined by T(x . x,) = {xl, 0). Find
the matrix of T with respect to the standard ordered basis {(1, 0), (0, 1)} of F2,

7. Let Tbe the linear transformation from R? into R? defined by
AL R =k a, Iy 1 '
- (a) IfB is the standard ordered basis for R and B’ is the standard ordered basis for
R*, what is the matrix of T relative to the pair B, B’?
(b) IfB = {a,, o, 0., tand B" = { , B,}where
o, =(1,0,-1),0,=(11,1),0,=(1,0,0), B, =0, 1), B, = (1, 0)
what is the matrix of T relative to the pair B, B'?

8. Let Tbe a linear Gperator on R?, the matrix of which in the standard ordcmd
basis is

Find a basis for the range of T and a basis for ker T.
9. Let T be a linear operator on R* defined by
A e M R o R B S8 B
(a) What is the matrix of T in the standard ordered basis for R*?

(b) What is tha matrix of T in the ordered basis {o.,, o, &} ﬁhﬂt‘ﬁ i;ii =(1,0,1),0,
=(-1,2, Dand o, = (2, 1, 1)? -

' (c) Provethat T'is invertible and give a rule for 7-! like the one which defines 7. .
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Unit : 4 O Reduction of Matrices to Diagonal/
' Normal Form

Definition : Similar matrices—Let 4 and B be n % n matrices over the field F.

We say that B is similar to 4 over F if there is an invertible # % n matrix P over Fsuch
that B = P-4P,

Definition : Congruent mairices—Let 4 and B be n * n matrices over the field

- F. A matrix 4 is said to be congruent to matrix B if there exists an invertible matrix P
over F such that B = PTAP.

EXAMPLES

Ex. 1. The matrix B ;] is congruent to the matrix [; __23} because there exists

and invertible matrix

12
P_[g I} such that

1 1 4
o 5713 ¢
: A b 20 ' ;
Ex. 2. The matrix i is similar to the matnx 03 because there exists an

invertible matrix P = E _i

PR ] el ) (e
o s~ e
Theorem : Similarity of matrices is an equivalence relation over the set of n % n

matrices over .-

Proof: Let 4, B, C, be n % n matrices over F. Let R be the relation of simﬂarity
between matrices. That is, 4R B ifthere exists an invertible matrix P such that

B=Fl4P
Smca, I4 = AT I being the n x p identity matrix, it follows that
A =I"4l for every n * n matrices 4

] such that
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Hence ARA, YA in the set of n % n matrices
So the relation R is reflexive. :
Now, suppose that ARB holds, Then there exists an invertible matrix P such that
B=Pl4P
of, PB= AP
“or, A=PBP'=(P')'BPF!
This shows that BRA holds
Hence R is symmetric :

Finally, suppose that ARB and BRC hold, then there exist invertible matrices P and
© such that '

A=P'BPand B= 0'CO
Then A =P(Q7CQ)P=(QP)" C(QP)
Since QP is invertible, it follows that
. ARC holds
Hence R is transitive
S0 R is an equivalence relation.

Theorem : Let ¥ be an n dimensional vector space over the field F and let B and
B'be two ordered bases of V. Then there is a unique, necessarily invertible n % n matrix

* Pwith entries in Fsuch that

VR e I o ]
(i) [o], =P [a],
for every vector.a.in V; [of] , bemg the cmrdmate matrix of the vector o relative
to the ordered basis B,

Proof : Let B={0l, ..c..coornn @ } and B'={00), oo o’ tbe tow ordered
bases for V. There are unique scalars P,. such that

“EPa Izise . D
ik :
Lol xR, s x’;, be the coordinates of a given ventor ¢ in the ordered
basis B'. Then. ; ;
S A A xal,
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s zxj[lzpu]

J=1

o a=5(SRs )0

=1 fel \

or, > a0, *Z[ZP%] (2)

Since the coordinates X5 X1 oo X, Of 0 in the ordered basis B are uniquely
determined, it follows from (2) that :

ZPx 1=isa | oy IRt
F=1 ;

Let P ba the n x n matrix whose (i, j)th entry is P, and let X' and X" be the
coordinate matrices of the vector o in the ordered basis B and B'. Then we may write
form (3)

X =PX' s S
Since B and B’ are linearly mdependent sets, X =0 1f and only is X' = 0. Hence
from (4), it follows that P is invertible, and so :
X'=P'X EmR )

Thus in terms of the coordinate martix of a vector relative to an ordered basis, (4)
and (5) may be expressed as '

[a], = P [&],.

[0, = P [al,

Theorem : Let  be a finite-dimensional vector space over the field Fand let
B={0, 0 ...... 0.} and B'={o,, 0')...cn. O}

be ordered bases for V. Suppose T'is a linear operator on V. IfP =[P, P.z, i
is the » x n matrix with columns P =[], then

[71, = P [T],P
~ Proof : In the theorem just proved, we heve
(el =P el i (1)



for every vector o in V. Here P is the unique invertible n % n matrix. If P iz the Jjth
column of the matrix P then i

=[P, P, ..P), whete P = [a'],

By definition [T[l:t]ill = [T].a [a],
Applying (1) to the vector T{ot) we have -

(7104, = P[TTod,,
Combining (1), (2) and (3) we get

[T], Plal, = PIT ()],

or, P[], Plal,= [T ()],

Hence fl ]l P

Ex. 3. Let T'be a linear operator on R defined by T(x,, x,) = (x,, 0). It can be
shown that the matrix T in the standard ordered basis B = {(1, 0); (0, 1)} is

1 G
)
Suppose B' is the ordered basis for R” consisting of the vectors (1,-1} and (2, 1),
then p
(1, 1 =(,0)+(0, 1)
(2, 1)=2(1,0) + (0, 1)

1 2
s0 that the matrix P is [l 'J

rfi ]
Thus, [T],.= P~ [T],P
Al

Definition : An» » n matrix 4 is said to be orthogonally congruent (or orthogonally
similar) to a matrix B if there exists an othogonal matrix P such that

B = P'AP = P'4P
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EXAMPLES :
. g el : -1 0
Ex. 1. The matrix | , 1 | is orthogonally congruent to 0 3| because there
exists an orthogonal marix

P= such that

i1~
2 i

2 S e 3

Characteristic equation : Let 4 be an n » n matrix over a field F. Then det (4
—xlI ) is said to be the characteristic polynomial of 4 and is denoted by y (x), The
equation W (x) = 0 is said to be the characteristic equation if A.

Letd=[a], . the

..................

OPECri+ ... +C
where G DL :
€, = (=1)"" [sum of the principal minors of A of order r]
e sl e e My i, BV i
C =det A. :
Theorem : (Cayley Hamilton theorem) Every square matrix satisfies its own characteristic
equation, . _
The is, if 4 is a square matrix of order s, and if CA+ Calt .., +C =8be
~ the characteristic equation for the matrix 4, then the theorem states that

. CA S+ CA™ + L, +CL=0
Proof : We have
W (x) =|4 xIﬂ|= Cr ot b, =

a
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Now, let B(x} denote the adjoint of the martix A — xI , The elements of B(x) are
confactors of the matrix A — xI, and hence are polynomials in x of degree nert exceeding

(n — 1). Hence
: Bx)=Bx'+Bxt+.. ..+ B
where each B is and n % n mafrix
" Now, (4—xI)B(x)=det (4 —xI). I gives
U—x) B A B B
—(Cnx“+Cx"‘+ O
or, - A(Bx"'+ le’.‘“z GG
LB By ¥+ B X))
=girsicirts. £ OL
Equating coeffients of like provers of x from both sides we get
- B 0 C{’f "
4B ~B=ClL
AB, - B,= C,[,
4B, , - Bﬂ-i. =G,
1 e
: Multiplying the above relations by 4", ..»i"", ..... A I respectively and adding
we get
CA+ CA™ + .. ¥ C_A+CL =0
Le. y (4)=0
Hence the theorem is proved.
Ex. 2. Verify Cayley Hamilton’s theorem for the matrix A.

100
where A= |1 2 1
e B

and hence compute A™.
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We have the characteristic equation y (x) = | 4 - il =0

- fl1=x 0 0
2 3 2-x

S (Q-®)@-drtr-3]=0

= xX-5x+5x_1=0

: T 1 00
Wehave 4°=|5 7 4| 4'=|202615
. 9 127 35 45 26

1 0 0% 5 6 §

. 500 100
S{J,Aj—-.SAl‘FSA'—I}: 2026 1511253520 |+| 5 10 5 |-|o 1 o
354526) \456035) l101510) lo o0
000 ;
=1000|=0
000

This shows that the matrix A saﬁsﬁes it
Hamilton’s theorem is verified,

We have A(4°~ 54 +5I) =1, " |
Hence A-! =A_54+ 5]

s characteristic equation, Thus Cayley

3
(1 0 0Y (50 0) (500
= |57 4|-|5105[+050
912 7)1101510) oo s
(1 0 0
A 7 - e
~1-3 2

Characteristic value or eigen value of a matrix.

A root of the characteristic equation W (x)

= 0 of a square matrix is called a
characteristic value or an eigen value of A.

Clearly for a singular matrix 4 (1. for the square matrix 4 for whichdet 4 = 0),
0 is an eigen value of 4, For, the characteristic equation is

W (%) = (Cx" + Cax™'+,...+ C =0, where C = det 4.
If det 4 = 0, then clearly x = 0 is a root of this equation,
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Again, if the square maxtrix A is a diagonal matrix such that

g 00..,.0
e 0 a,0...0
00 i,

............................

Clearly roots of this equation are 0L, Oy, ... o,.] Henr;e for a diagonal matrix, the
eigen values are the diagonal elements.

‘Theorem : If 4 and B are similar matrices then 4 and B have the same charastcnstm
polynomial and hence the same characteristic values. :

Proof : Since A and B are similar, there exists an invertible matrix P such that
A= P'BP
e af= PABP A= PAAP = 3Pl PR %P
det (4 — xI) = (det P') det (B — xI) (det P}
_ = det (B - xI)
This shows that matrices 4 and B have the same characteristic golynomial and _

hence the same characteristic values.
Theorem : If A be an eigen value of a non-singular matrix 4, then A-lisancigen

~ value of 4" =

Proof : Since A is non singular, A # 0
S 1 Hls
Now, det(4™ ~47'1) =In—dat(i:uzi =

y detddet(rd? 1)
il Jdet A=0
A det 4
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=] dﬂt{Adﬂt[M" —I,,)} 1 detu A
T detd A" detd
This shows that A is an eigenvalue of 4-1,

Definition : If 4 i 18 a square matrix of order n, then the values of A for which the
equation,

=0, since A is an eigenvalue of A,

AX=AX .. o (1)
has nontrivial solutions are called the eigen or characteristic values of 4. If A is an

algcnvaiue, then the nonzero vector X for which the equation (1) holds, is called the
eigen vector or characteristic vector corresponding to the eigen value A.

Theorem : To an eigen vector of 4 there corresponds a unique eigen value of 4,

Proof : Let A, and A, be the eigen values corresponding to an eigenvector
XofA,

Then AX=llXandalsuAX=lrl’
= (A -A)X=0
But X is non zero, hence K=k

Theorem : Two eigenvectors of a squarc matrix A corres;wndmg to two distinct
eigen values of 4 are linearly independent.

Proof : Let X, X, be two eigen vectors of A correspandmg to two distinct eigen
values 2., A respectweiy

Then AX = A X -and 4X, = LX,

Let 4 be the square matrix over F. We have to show that

| X, + e X, =0

willimply ¢, =0and ¢, = 0 _ Ca e F

Now  eX,+cX, =0= c X, + cAX, =0

= cAX techX =0
= M)+l X, =0
= cz':lt B %}Xz =0

Since X, # O and A, # A, we have ¢, =0

. ¢, =0. HenceX, X, are linearly independent
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Theorem : Let 4 be a square matutix, of order n having K distinct elgcnva]uea A
?-. LetX be an eigenvector corresponding to the eigenvalue ?L =1,2.. K
Then thc set _{XI,X .. X }is linearly independent.

Proof : We shall prove this theorem by induction. We have seen in the theorem
just proved above that if A, A, are distinct eigenvalues ofthe matrix A, then X, X are
linearly independent. T]IE.IS 'the statement of the present theorem is true for K=2. Let
us suppose that the statement be true for K =1, a positive integer.

So we assume that the eigenvectors X, X, ........ X corresponding to eigen value
B.I, ;Il.z wooeees A_are linearly independent. Let lﬂlhe distinet from ?..,, ?Lz :"'r Let
X, be the eigen vector corresponding to A . We shall prove that X, X, ... X o
are linearly independent.
. B S ,Cm be scalars such that
CXHCK +. ..o CE A C X =00 ]
or, A(CX, +CX, +....+'C X )=0
or, CAX, + CAX, +oee + C A, X

r+l

= )
Multiplying (1) by :"',»+1 and suhracung the result from (2) we get
Clh— A DX, + CA -2 )X, + ...t CA-L IX=0

Since A’s (i =1, 2 ........... ¥+ 1) are distinct and X, X, ........ X_are linearly
independent, it follows that
_ C,=C=.=C=0
Then from (1) we get C = 0, since X #0
Hence X, X ........ X  are ]mearl:f mdepcnden‘t

Thus, as the results actually holds forr= 2, by induction thr: result is true fur P=
3, A

Theorem : The eigen vectors ofann * n matrix 4 over a field F corresponding
to an eigen value A € F, together with the null vector, form a vector space, a subspace

of ¥ (F).
Proof : Let § be the set of all eigen vectors of A corresponding to a eigﬁn-vafue

Aofd. -
Let X, X,& §
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Then AX, = AX, and AXZ =X,
AX, + X)) = MX, + X))

This show that X, + X, is an eigenvector of A corresponding to the eigenvalue A.
Hence X, + X, € §. Let ¢ (#0) e  F, then AX, = AX, = A(cX)) = A(.:J:)

= cX,€ Sforce F

Thus the eigen vectors corresponding to A together with the null vector form a
vector space which is clearly a subspace of V_(F).

EXAMPLES
Ex. 1. Find the eigen values and eigen vectors of the matrix 4, where

1 0-2
A= 0 0 0-
=20 4

The characteristic equation of 4 is

I-x 0 -2 ' v
O=det(d-—xnh=|0 —x 0
-2 0 4-x

or, —xX4+5*=10
Hence the eigenvalues are A, =0, A, =0, A, =5

x :
Let X = x; , then AX = AX
X3
[ 1 0 —'Z] X, X,
= | 000 |x|=A|x
=20 4 X
= x -=2x, =k
0 = Ax,
=2 a, =N
For A = 0 these reduce to
x =2x

1 3
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Hence any vector of the form (2¢, b, c)' is an eigen vector. We have to choose two
vectors of this form such that they are linearly independent. Clearly we may take

X =(2,01)
X,=0,1,0
For A, = 5 the conditons reduce to
AR
)
Hence any vector of the form (a, 0, —24) is an eigen vector, As a simple vector
ofthis form choose . ;
x%=(1,0,-2)
as a characteristic vector assouiated with A, =5,
Theoerem : The eigen values of a real symmetric matrix are all real.

 Proof : Let Abeann ¥ nreal symmeetric matrix. The characteristic equation of
A is an equation in x with real coefficients. Let A be an eigen value of 4,

Then AX=AX, X is non-null
(H] =).X . where the bar overhead denotes complex conjugate
Taking transpu.se,
(ax) = (xy
e e (1)
But since A is real and symmietric, T =4
B Py
Multiplying by X from right we get
X AX=1X'X
of, XAX=AX X
o, X X(A-%)=0
~ Since X is non-null, X X0 ,hence A=X

A is real ;
Hence the theorem is proved.
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We note futher if the matrix A is real but skew symmetrm then 4 =— A am:l
hence from equatmn (1) we get

T

X A=-rX
Right muliiplication by X yields

X AX = AX X
o FAX="AX X
or, (mi):?.r:n

Since X X 0, A+A=0
Hence A is purely imaginary
Thus the eigen values of real skew symmetric matrix are purely imaginary.

Theorem : The eigenvector cnrr%pundmg to two distinct eigen valucs of a real
symmetric matrix are orihogonal,

Proof; Let X, X, be two distinct eigenvectors corresponding to distinet eigenvalies
Ay, A, of a real symmetric matrix A. Then A, A, are real and

AX ?"1X1- ‘lzXz
(AX)" = {erl)" = X'4"=) X"
But AT= A, since 4 is symmetric,
XITA = J"'I'X'rllﬂ

& XX =AXTX

on XAX,=AX!X,

o, (A -A)X"X =0
Since '11 # A,, we have AT X, =0
Hence, X, X, are orthogonal
Theorem Each eigen value of real othogonal matrix has unit modulus,

Proof : Let X be an eigen ovetor corresponding to an eigen value A of a real
othogonal mairix
Then AX=AX
e T
(4x) =(rx)
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= FA AR

= XAT=L_Xr Q Aisreal
or, (X4")(4X)=3X(4x)

or,* T(47A) X =TFox

or, XX=MXX, Q ATA=I
or, TX=(EA,—I)=

siice XX#0, M=l or [A]=1
This proves the theorem.

Diagonalisation of matrices :

~Ann % p matrix 4 is said to be dlagﬂnahsahle if 4 is smnlar toan n = n diggonal
mafrix.

If 4 is similar to a diagonal matrix D = diag (Ap Ay s A)) then K A e
are the eigen values of 4. :
Diagonalisation of a real symmetric matrices :

Theorem : Let 4 be an (7 % n) real symmetric matinx with distinct eigenvalues }, ,
Ay v b Let X, be the normalised column eigenvector currespontmg to the eigen
valuc JL Thuen the matrix ,

A K
A 0.0
: Ay
is such that PTAP = U

Proof : We have ;
AP = AlX, X, Xn]

=[;4,:f AKX, i d X ]
1 1, 9 RN P
Kk, X0, ,m]
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32

A, 0 0

= [XI’X ‘.“‘"‘“‘“.Xﬂ- {}?"‘3 {}

2,00
Pl 0%, 0
002,

002,

Since the eigen vectors corresponding to distinet eigen values of a real symmetric
matrix are orthogonal and since the eigen vectors are normalised it follows that the

matrix P is orthogonal matrix ; hence

PIAP = PTAP = o

Ex. 2. Diagonalise the matrix

7]

The characteristic equation is |4 AZ|=0

2% 2| -

=

. Eigenvalues are A, =0, A, =3
Corresponding to A, = 0, we have
2% +4/2x,=0

V2x +x,=0

1
= % =_Ex2

5 1. =0=M-m=0

If we wish to find an eigen vector of unit length (nﬁrmﬁ]iséd}, we must require that

x2+ x> =1, This gives

3 2
—x. =1
22
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Choosing the positive square root we obtain
: 2 1

E', Xy ':_E

and the eigen vector ofunit length corresponding to J';] is

g (_L JE ]
o =\
Procegding similarly, corresponding to 11, the linearly independent eigen vector
(normalised) will be

3]

We observe here that X,"X, = 0, X,, X, are orthogonal

We have P = I \/7 =:}-—§-[Eﬂ

\3)

1J' 2 2|1 42 [{iﬂ} [1. u}
ik AP =— =l .= A
[ L
Next we shall show that if an nth order matrix 4 has n linearly independent eigenvetors,
then there exists a simi,laritj' transformation which diagonalises 4.

M fact, i P=[X, X, oo X ]is a matrix whose columms are a set of'n lincarly

independent mgenvectors P4P is a diagonal matrix whose diagonal elemants are the
cigenvalues of 4.

To prove this let X be an e:genvectnr with mgenvalua A (rmt all A !am necessarﬂy

Xy =

- 2 A 0 0.0
different). Also we write D=| 0 A; 0.0 |

0 0 .4,
: A, 0 0.0}
Then PD = (X, Xy oo X) | 0 Ry 0.0
: n 0 o
= (X AKX, s AX)
and AP = (4AX,, AX,, v AX) = A X, 2K, i K X)
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Hence AP=PD
" ar, D=pP'4P

Thus the matrix 4 is similar to the diagonal matrix D whose diagonal elements are
the eigen values of 4. ; 2

If A is not symmetric, the matrix P is not in general an orthogonal matrix.

The above result shows that if the eigenvalues of 4 are all different, A can alw ays
be diagonalised by a similarity transformation. If the eigen values of A are not all
different, A can be diagonalised if it has n linearly independent eigenvectors. Ifa does
not have # linearly independent eigenvectors, A cannot be diagonalised by a similarlity
transformation. However, by a similarity trans pformation, any square matrix A can
always be converted into a matrix with the following properties :

(1) All elements below the main diagonal vanish,

(2) The elements on the main diagonal are the eigenvalues of 4, equal cigenvalues
appear in adjacent positions on the diagonal. : :

(3) The only elements above the main diagonal which do not vanish are those
column index j equal to i + 1, where { is the row index. Any such nonvanishing element
has the value unity. Howeve, it can have the value unity only if the diagonal elements
in positions / and i + 1 are equal.

 The a 5th order nonsymmetric matrix with 4, =, =1, A, =, could to reduced
to the unique form

Ay B
A

0
0

B

o B e e
L
g

B, 0 0 0

0
0 0
0 0 A, B
0 0

where the value of the {3, is either 0 or 1. This is called Jordan canonical form for :
the matrix 4.

Lk

A

5

Elementary operations :

An elementary operation on a matrix 4 over a field F is an operatioﬁ of the
following three types: =

1. Interchange of any two rows (or columns) of 4
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2. Multiplication of a row (or column) by a non zero scalar ¢ e F.
3, Addition of a scalar muliple of one row (or column) to another row (or column)

We call elementary operation an elementary row operation when applied to row
and similarly an elementary column operation when applied to column.

The npcrat_iun of interchange of ith & jthrows will be dentoed by R .
Addition of ¢ times of jth row to ith row will be denoted by R, + cR,

Consider for example, the matrix

52
A=|4 6
31 ;
Applying R,, on a we get the matrix
i a9
B=131
-.4 ﬁ_
_Applying 2R, on B we get
mak
C=|612
46
Finally applj'ing -QRI + R, we get
5 2
D=|6 2
-6 2

Thus we have
A—B g B, M, [
Let S be the set of the m % n matrices over a field F. 4 matrix B € § is said to

be row (column) equivalent to a matrix 4 € §if B can be obtained by suuce-ssm:
application of a finite number of elementary row (column) operations on 4.

Thus in the above example, the matrix D is row equivalent to the matrix 4.

Definition : Anm > »n matrix is éalled row reduced if

" (a) the first nonzero element in a non zero row is 1 (called the leading 1), and
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(b) each column containing the leading 1 of some row has all other elements zero.

Thus the matrices below

100y (01402100

0012
010101070 "]
auiflooor)[to2]

are row reduced
Definition : Anm * n matrix 4 is said to be a row reduced echelon matrix if
(a) A is row reduced

(b) there is an integer r (0 < r £ m) such that the first r rows of 4 ate nonzero rows
and the remaining rows are all zero rows

(c) for each nonzero row, if the leading element of the row # oecurs in column k.,

then

| 2 r
01101

The matrix | 0 0 0 1 0| is row reduced echelon matrnc
00000

Definition : An elementary row (column) transformation matrix is a matrix that
- canbe obtained from an identify matrix I by a single elementary row (colummn) operaton,
A matrix that is either an elementary row transformation matrix or an elementary column
transformation matrix is called an elementary matrix.

Form the above definition it is obvious that elementary matices are of three types,

100 100
of whmh the first type, [ 0 0 1 | the second type, | 0 ¢ 0| where ¢ # 0 and the third
010 001
100 _
type, | 0 1 Of are third order examples.
0ecl

Theorem : The effect ofthe elementary row opeations R, cR (c#0)and R + cR.
onanm % p matrix 4 is obtained by premultiplying 4 byE , E, [c] andE (€) r-:spcctwely,
where each elementary matrix is of order m and Eﬂ E {c), E {c} are the three
alemﬂntrf,r operations on the identity matrix of order m.
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Proof : Let O be aﬁ rxmmatrixand 0, 0, ..ot Q be the rows of O and let

' : : - |G
AD, AD, ....... A® be the columns of 4. Since Q=!:Qg and

: Q.
4= 494%......(4)" | the product 4 is difined and 04 will be r x  matrix,

R e ¥ 'QiA{Z:'.L oA
0 AW 0. A9 1, 0, Al
QA= :.M T IM
04" 04D L 04"

It is elear that if two rows of @, are interchanged, then the corresponding two rows
are also interchanged in the product Q4.

This means that (R (Q)14 = R (Q4)

Ifa row of 9, say 0, be multiplied by a non zero scalar say c, then the row or 04
- is also multiplied by the same scalar c.

o [R(e) (@)14 =R (c) (04) : : :
 If ¢ times the jth row of O be added to the ith row of 0, then the ith row of 04
is added by e times the jth row of it

o [R0) Q4= R (c) (94)
Since A is an m % n matrix, we can write
=L A where I isthe m % m identily matrix
R(4) =R (I 4) =R, ()41 = EA
R =R (e) U, 4) = [R(I )14 = E(c)4
R(O)(4) = Ry(0) U,A) =R () U, )}A=E ()4

Theorem : Each elementary matrix is non singular. The inverse ofan elementary
matrix is an elementary matrix of the same type.

Proof : Since the rank of 2 matrix remains same under elementary transformation

and since elementry matrices are obtained by giving elementary transformation to the
identity matrix I_ of order n, it follows that the rank of an elementary matrix is » and
‘hence it is non singular. :
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- Let Abe an i % p matrix and let it be premultiplied by E.
EA=R(4) _
E(EA)=R(R.(4) =4
(EE)A =4
= EE=I or,E'=F
¥7§ “n if i
Similarly we can also prove that

(5T = (%) ma [£,(] -7, =

Theorem : A matrix is non-singular if and only if it can be expressed as the
product of a finite number of elementary matrices.

Proof : Let 4 be a'non-singular matrix of order n, Since ann % » matrix A is noi-
singular if and only if A is row equivalent to the indentity matrix [ , so I' canbe obtained
by a finite number of elementary row operations, '

Since the effect of an elementar}? row operation on 4 is expressed by the product
P4 where P is an n * n elementary matrix, I can be expressed as

_ I, =P P,..PAwhecP,P,...P arc
elementary matrices of order n. _
Since each elementary matrix P, is non singular, P! exists,
A=(PP,...PYI
SEARL PR
P PP

- where O, =P is an elemntary matrix. Conversely, ifann x 7 matrix is the produgct
of elementary matrices, we have to show that A is non-singular. :

Letd = EI;_ E, .....E, where E_ is an elementary matrix. Since each E/is non-
singular. A is non-singular.

Definition : When a non zero matrix has been reduced by elementary operations
to one of the forms ' :

["—rﬂf-fg} or [1,10] or [Iﬁ':[ orl =
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we say that it has been reduced to normal form or canonical form for equivalence.
The normal form of a zero matrix is that zero matrix.

EXAMPLES

“Ex. 1. We apple elementary row and column transformations to the matrix

1.2 0f
A =[4 62 g] to reduce it to its normal form.
0 - :

{2 [1 2 0
A 6 gl 28k sy 09
RERBE g 20 0-29
WG sl -2 9|—2—0 1 ——
0-29 2
02 9
10 -:}9 e [UUR s
—ﬂ*—“l—-}ﬂl——-—l—’-}ﬂlﬂ=[1 J
00 ¢ 000| L9

Theorem : Any m X matrix A can be reduced to normal form by elementary
operations. : : ,

Proof : Since A is nonzero, there exists some element @, of A which is nonzero,
If necessary the operations R, <3 R, and C‘;{-} C, are applied to move a, to the (1, 1)
position. Hence we can assume without loss of generality that a,, # 0 . The following

sequence of elementary row and column operations

1 SR
w Ry oy R 4R, . (@, B R
(8, + €, il -8,C,+ C)

will transform A to an equivalent matrix of the form

[llﬂ] fm=1landn=1
0'B ’
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and B is (m = 1) x (n—1). If either m =1 or n = 1, or both m = | and n — 1.,
; I |
then 4 is equivalent to E 6 3 {}'] or g s respectively and the proof is

complete. ﬂ

If B is'a null matrix, then the proof is complete ; otherwise repeat the above
procedure for the non-zero matrix B : if m > 2 and n > 2, then A will be equivalent to
a matrix of the form :

[342]

where C in (m —2) x (m ~ 2) mattix. 1fm =2 or n =2 or ifboth m =2 and » = 2,

: i : /
then 4 is equivalent to [£,;0]a [ ﬁ] or I, respectively and the proofis complete. If

otherwise occurs we continue the above procedure until a null matrix appears in the
lower right hand corner or until all of the rows or columns are exhausted. In either event,
the final matrix is in normal form and since only elementary row and column operations
have been used, 4 is equivalent to the final matrix. '

201

Ex. 2. Show that the matrix [3 3 {]} is non-singular and express it as a product
: 623

of elemenrary matrices.

~ Let the given matrix be denoted by A we apply elementary row operations on 4
to reduec it to a row-reduced echelon matrix. :

-
. 10_;_ 10.53
A—LS?:U—%—)DS——
623 : s
02 0
|
10% s
1 it 100
25101 1 | g 1| Bm 00
A liesag: Bigh 1001
62 0 e =
i | i |
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. Bince A is row equivalent to I,, 4 is non-singular, We observe that

(mr2n)( —3&]{1{;—%)G&)Uﬁ-ERI){&—.S&}(%&]A'=13

2

or, En(';‘]513(“%]sn(;z}ﬁ( )E“[ ﬁ)Em(—3}Es[ ]A I
A{a[g]} (B (3)f (0} {E(i]} (Ba(2)
(a3} =G

= E(2)E, (ﬁg, (6)E,(3)Es, (2? E, G} B, [_ %]

Minimum Polynomial : Let 4 be a square matrix of order n over a field F,
Observe that there ate non-zero polynomials f{r) for which f{4) =0 ; for example if f{t)
is the characteristic polynomial of A, then by Cayley Hamilton’s theorem f{4) = 0.

Among these polynomials for which 4 is a root we consider those of lowest degresand

form them we select one whose leading. coefficient is 1, i.e. the polynomial is a monic.
Such a polynomial m(f) exists and is unique ; we call it minimum polynomial of 4.

Theorem : The minimum polynomial m(f) of a matrix 4 divides every polynomial
which has A as zero, In particular, m(f) divides the characteristic p-:}l}mumial ofA.

Proof : Suppose /() is a polynomial for which f(4) = 0. By the division algnr:thm
there exist polynomials g(¢) and () for which f{f) = m(£) g(r) + r{f) .......... (1), where
either H{£) =0 or deg r(f) < deg m(r). Substituting ¢ =4 in equation (1) and unsing the
fact that ﬂA} 0 and m(4) = 0, we get r(4) =10

If ¥(£) # 0, then by the division algorithm deg r(7) < deg mit)

This means that there is a pa]ym:-ml,al r(f) of degree lcss than that of m(£) such that
r(4)=0. [from (2)] which is a contradiction, since m(f) is a polynomial of least degree
such that m(4) =0 :

Hence r(f) = 0, and so
f0) = m(7) g(£), and m(t) divides f{r}
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. As aparticular case, since 4 satisfies its own characteristic equation by Cayley
Hamilton’s theorem m(¢) divides the characteristic polynomial. ;

Theorem : Let m(f) be the minimum polynomial of an n square matrix 4. Then the
characteristic polynomical of A divides mi(z)". -

Proof : Suppose m(f) ="+ ¢~ '+ ...t _(t+e

r-1 F

* Consider the following matrices
B.=I
B =4d+e¢l
B,=A*+ed+cl
T S R R W
Then B, =1
B~ ABU =gl
B,—AB =¢]

F—1

B, 4B, ,=¢c |
Also —AB,_ =cl—(A"+cd '+ ...tc_A+el
=cl—m(d)
=c]
Set B(f) = - 'B,+ "B, + ..+ 1B _,+B .
Then (t/ - A) B(f) = {(F - B, + ¢~ 'B, + ...+ tB__)
~ (¢ 'AB,+ 4B+ ...+ AB )
=B+ B T AB) + ¥ HB, T AB) + ... HHB _
=l e f ket A ke Hhal
= m()I ;
Taking determinant of both sides we get
| e —4llB (0 |=1m@) 1= (@m)".
Since | B (1) |is a polynomial, |t/ — 4 | divides (m(2))".
Hence the characteristic polynomial _dhrides (m(1))".

& A-Br-z) o ABr—I

1
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Theorem : The characteristic polynomial and the minimum polynomial of a m.atnx
A have the same irreducible factors.

Proof : Suppose f{f) is an irreducible pniynumial. If fl¢) divides the minimum
polynomial s(z), then since m(7) divides the characteristic polymomial, %) must divide
- the characteristic polynomial. On the other hand, if /{7) divides the characteristic polynomial

- of A, by the last theorem, j{¢) must dmde m(t)". But j{r) is irreducible, hence fr) also
divides m(t).

. Thus m(r) and the characteristic polynomial have the same irreducible factors.
Ex. 3. Find the minimum polynomial m(f) of the matrix
a0
A=

G'ﬂ:ﬂ’:‘l
= sk
=i 8
LhoS o

The characteristic polynomial of A4 is (£ — 2)* (¢ - 5). Sinee the characteristic
polynomial and the minimum polynomial have the same irreducible factors, if follows
that both ¢ — 2 and ¢ — 5 must be factors of m(t). also m(r) must divide the characteristic
polynomial. Hence it follows that m(t) must be one of the following three pelynomials ;

) m=-2) (-
i) m(e)=(-2)" (- 5)
(iii) m(r) = (¢ - 2) (¢ - 3)
we can verify that for the type (i), m(4) # 0, but for typf:s (ii) and (iit), m(A) 0
Since m(f) is minimum polynomial,
m(t) = (t - 2)* (£ - 5)
Characteristic and minimum polynomials of linear operators:
Let T': ¥ —> V' be a linear operator on a vector space with finite dimension.

We define the characteristic pnij,m_ﬁmial of T'to be the characteristic polynomial of
any matrix represstation of 7. : '
_ Onthe otherhand, the minimum polynomial of the operator T'is defined independently
of the theory of matrices, as the polynomial of lowest degree and leading coeffieient 1
which has T as a zero. However, for any polynomial f{z),

AT) =0 if and only if {4) =0
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where A is any matrix representation of T. Accordingly, T and A have the same
minimum polynomial.

Jordan Normal form :

Let us consider » % n matrices with elements in the field F. We will isolate a special
type called Jordan matrices and it may be shown that these mairices serve as a normal
form for a very broad class of matrices. Namely, matrices, all the caracteristic roots of
which lie in the base field F (and only such matrices) are similar to certain Jordan
matrices; we say that they can be reduced to a Jordan normal form. It will then follow,
if for the field F we take the field of complex numbers, then ay matrix with complex
elements can be reduced to a Jordan normal form in the field of complex numbers.

~ We will need some difinitions. A kth order Jordan submatrix referring to the number
A, is a matrix of order k, 1 £k < n, of the form

In otherwords, one and the same nusmber l'[; from the field F occupies the principal
diagonal, with unity along the diagonal immediately above and zero else where, Thus,

aafs )[04 1]

are respectively J m’dan submatrices of first, second and third order.

A Jordan matrix of order n is 2 matrix of order n having the form

The elements along the principal diagonal are Jordan submatrices or Jordan
blocks J,, J,, ....... J, of certain orders, not necessarily distinet, rcfermg to certain
numbers (not ncccssarﬂy distinct either) lying in the field F.
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Thus, a matrix is a Jordan matrix if and only if it has form

[

where J'l.!, i=1, 2 ....... n are arbitary numbers in F and every S e
#— 1 is equal to unity or zero ; note that iij =1, then ?..j= ;S

Diagonal matrices are a special case of Jordan matrices. These are Jordan matrices

- whose submatrices are of order 1.

" The theorem below describes all the eigenvalues and eigenvectors of a Jordan
block. '

Theorem : Let J be a Jordan block of order k. Then J has exactly one eigenvalue,
which is equal to the scalar on the main diagonal, The corresponding eigen vectors are
the non zero scalar multiples of the A-dimensional unit coordinate vector [1, 0, ....... 0]

Proof : Suppose the diagonal entries of J are equal to L. A column vector X'=[x,,
X,y woennn X, 17 satisfies the equation JX = AX if and a:mly if its cumpunents satisfy the
fﬂliowmg k scalar equations,

A = hl
: ;L:-IZ i) 'xﬁ = hl
LG
A, +x, . Ax,
_ hy, = K,
From the first (£ — 1) equations we obtain
X, =X, =3, =0

So A s an e:gcnvalue for J and all eigenvectors have the same fm‘m x[1,0,..0]
with x, # 0,

To shuw that A is the only eigenvalue for J, assnme that JX = pX for sume scalar
B A .

Then the components satisfy the following k& scalar equtions

Ax, +x, = Jx,
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111111111111111111

R M
x, = o,
Ber;ause A # 1, the last relation gives x, =0 and from the other equatmrns we get
X1 5%, ,% ... =x,=x=0. Hence only zero vector satisfies JX = uX, so no scalar

different from }L can he an eigen value for J,
We now state a very important theorem

Theorem : Let V'be an n-dimensional liner space with complex scalars, and let
T': ¥ — Vbe alinear transformation of ¥ into itself. Then there is a basis for ¥ relative
to which T has a block-diagonal matrix ;epres-:ntation diag (J,, J,, ....... J. ), with cach
J, being a jordan block. -

The proof of tha theorem may be found in Linear Aigebra by TM Apostol.

=13 1

Ex. 3. Verify that the matrix A'={ g f {*:| has eigenvalues 2, -1, -1.

Find a nonsigngular matrix C with initial entry C,, = 1 that transforms A to the
foliuwmg Jordan normal form

\ 20 0/
C'4C=|0 -1 1
00 -1
Clearly the eigen values are the roots of the equation
~1-4 3 0
det| 0 2-2 0 |[=0
2 1 -1=a
S 2= EAP =0 L k=-1,-] 2
The eigen vector cotresponding to A =2 is obtained by solving equations
—3x + 3y =0
dx+y—-3z =0
= x=y=z

< The eigen vector corresponding to A =2 is k(1, 1, 1), k is a constant
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Corresponding to A =1, the equhticms are
- 3y=0
2x+y=10
) x=0,y=10, .
. Bigen vector is (0, 0, a), a is arbitrary

We construct the matrix C whose first two columms are the eigen vectors corresponding

to A=2and A=~ 1. Since C,, = 1, we msut have k = 1. The third column is chosen
in such a way that

AC= CB, where B is the Jordan normal form

1068
C=|10¢
lad
AC=CB = G
' 13 0108] [10b][20 0
0 20010el=|10e|0=11
21-1)|lad lab|l0 0 =1
= —b+3c=-5b
e=-¢
/ 2b+c_—d=a—d
=¥ c=0 a=2h
10 B '
Hence C=|1 0 0| where b # 0 and d is arbitrary.
{12p 4 .
- EXERCISES -
1. Prove that the matrices [E‘ J and ]:(] J have the same eigenvalues but are not
inilar. :

2. Find a nonsingular matrix C such that C-'4C isa diagonal matrix, where

st
A= 1 53 1
=1.=1 1
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3. Detemine the eigenvalues and eigenvectors of the matrix

‘To-10
0 01
Lt

and thereby show that it is not similar to a diagonal matrix,

_ 200 e
4. For the matrix [g } ﬂl] express 4° in terms of I, A4 and A%

. -11 -7 -5
3. Verify that the matrix 4 ={ 16 11 6} has eigenvalues 1, 3, 3.
12 6.7

Find a nonsmgular matrlx C with initial entry C,, = 1 that transforms 4 to Jordan

normal from :
1100
C'4AC=|03 1
003

6. Determine all possible canonical forms J for a mEﬂTIK of order 5 whose minimal
pelynomial is m(f) = (¢ - 2)2

7. Find the minimum polynomial m(t) ofthe matrnc

Aal
04a
004
8. Show that a matrix 4 and its transpuseAThave the same characteristic polynomial,

9. Suppose M [‘é AB;] where 4, and 4, are square matrices. Show that the

characteristic polynomial of M is the product of the characteristic polyno mmls of A,
and 4,

10. Show that the matrix 4 = [é i] is not diagonalizable.

11. For the matrix [i 3{] find all tha elgcn values and linearly independent vectors.
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12. USﬂ'Cayiey—Hamiltﬂn theorem to find 4'® where
1
A=|1
0

-1-33
13. Diagonalise the matrix 4 =[ g :g 3]

—
== e ]

14. Find an orthogonal matrix P such that PTAP is a diagonal matrix, where

1-2 0
A={-2 22
B
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Unit : 5 0 Quadratic Furmé, Canonical Furmé,
' Classification of Quadrics

Quadratic forms ;

DefLetx =[x, x, .....x ]" (i. e. x is n component column vector) be an n-vector -
in the vector space V{wv:r afield Fandlet 4 = (a ;) be an n-square matrix over I, Then
any polynomial of the form

4y X, o)) = 57 A= iiagx.xj i
izl =1

15 called a quadratic form of order n over F in the variables X%, X . Ads called
the matrix ofthe form and rank of A is the rank of the quadratnc fnrm A quadratric
form is said to be real (or complex) if the matrix A is over a real field R[crr over a
complex field C) and the variable x is in the vector space R" (or C). Unless stated to
the contrary, we shall confine our discussion to quadratic forms in which the matrix A
as well as the variables are cunmdared to be real.

EXAMPLES

Ex. 1. Let g(x,, x,, x,) = 2x * - 3xx, + 3x7+ 2xx, + dxx + x? be a quadratic
+ form in the variables x,, x,, x..

4 2 33
The matrix A=[0 3 3
=111

can be verified by computmg x7 Ax where x" = [x, x,, x.] as a matrix uf the
quadratic form. :

There are numerous ways in which this matrix A may be expressed. But there is
only one way in which the matrix A can always be put into a symmetric form, This is
done by writing the eoefficients of the product xx (i #]), as the sum nf two equal terms
ofthe form

(%%, %) = 2% — S0 NG X + 3%, + 200,00, 4 X0, + Ing b
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and noting that the coefficient of the product xx, isa, consaquently the matrix of
~ the quadratic form in this example can also be writen as
3

2 == 1
4 2
A=-= 3 2
2 :
1 21
whicin is a symmetric matrix.

The same matrix may be ubtamed by ﬁndmg and writing the
coefficient matrix, which is exactly equalto 4.

Thus, in our present example,

1 3
ngq E:Jch——.:r,2+,::3 ;
10 3 ’
| gibgaﬂxﬁixa
lgidﬁlrﬁx;
*3 .
2 —i 1
e 3 2
2 A = coefficient matrix= | =5 3 2
' 1 1

'_cht we shall show that t_hﬂfe is only one way in which a quadratic form (1) can
. be expressed uniquely by a real symmetric matrix, For, suppose a quadratric form (1)
is given. : . '

We can write it as

xT Ax = iiaﬁ'x; X

J=l

=1
= _2iﬁa X Xy ii“{; X Xy

.I'='1 J=1

glx, %p o X))
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1&, _ 1 n
= EZE“;H‘:"‘;"‘EZZ%*:IJ,

==l : ==l =

- (interchanging i & j in the second sum)

= ii{“{r‘ X ) %%,

i=] fal :

L iﬁ b; xx, =x" Bx

i=1 =1

where bff .= %('u.;,r +_aj|')=%(ajf+aﬁ]'.-=bji

andso B = %(‘4+AT]=3T

which is a symmetric matrix of the quadratic form ( 1), Henceforth, unless otherwise
stated, the matrix 4 of the quadratic form x74x will be considered to be real and

Definition : The determinant det 4 of the matrix 4 ofa quadratic form x74x is
called the discriminant of the quadratic form. The quadratic form is said to be nonsingular
if its discriminant is non zero, otherwise, it is said to be singular.

The substitution x = Py in the quadratic form x%4x is called a linear transformation
of the quadratic form. The linear transformation is referred to as real (or complex) if P
* is real (or complex) and nonsingular (or singular) if the mairix P is nonsingular (or

singular).

If a new coordinate system is introduced in the vector space ¥ so that the old
variable x is related to the new variable y by x= Py, where P is nonsingular transformation
matrix, then (1) is changed into another quadratic form, viz,

dx = (PyY A(Py)

= PR .
=R e e (2)
where B =Pi4pP )
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The matrix 4 of 4 quadratic form under non-singular transformation carried out in
(2) changes to P4P which is symmetric if 4 is symmetric and the discriminant changes
from det A to (det P)* det 4, but its rank, i. e, rank 4 =rank PT4P remains invariant.
When such a nonsingular transformation exists over F such that (2) holds, these quadratic
~ forms x"Ax and y"By are said to be equivalent over F. Since by definition, two matrices
A and B are said to be congruent if (3) holds, it follows that two quadratic forms are
equivalent if their corresponding matrices are congruent over F. Conversely, if (3)
holds, then (2) is true for a nonsingular tranformation x = Py.

Thus x74x and y"By are equivalent. Formally, we have,

Definition : Two quadratic forms x"4x and y"By are said to be equivalent over
Fif one can be obtanied from the other by a nonsingular transformation over £ defined
by x = Py. such that (2) and (3) are satisfied. :

: _ EXAMPLE
Ex. 1. The quadratic form defined by
g(x, X, %)) = SxP+x} +21ef+ 2x?+ dxx, — 20x, ~ Bxx,
= xTdx :

and g0, ¥ ¥,) = yr+yr +y}2=yBy

5 2 =10 .
where 4=| 2 1 -4 |, B =diag (1,1, 1)
-10 —4 21 ]

are equivalent. This is so because there exits a non singular matrix.
2-10]
=10 2 =1
100

The above quadratic forms are nonsingular because det A = det B =1, is non zero.

such that PTAP =B
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Reduction of guadratic fnrins_ :

Definition : Diagonal and unit quadratic forms. If the matrix ofa quadratic form
is diagonal then it is called a diagonal quadratic form. In a special case when the matrix
Ais I, the quadratic form is called a unit quadratric form. For example the quadratric
form x'ITx= b b, x s a unit and_x" diag fa s ax = ax2y @2
+...+a x *is a diagonal quadratic form, In diagonal form some of the a ,§may be zero.

These two forms are sometimes called the cononical representation ofa quadratic
foirm,
Next we shall consider reduction of a quadratic form to a diagonal form,

Orthogond transformation : Reduction of a quadratic from to a diagonal form
by means of an orthogonal transformation is referred to as orthogonal reduction.

Theorem : Every quadratic form x4x can be reduced to a diagonal quadratic
form y"Dy by means of an orthogonal transformation P, where the diagonal elements of
D are the eigenvalues of 4.

Proof : Since 4 is symmetric and since for every real symmetric matrix 4, there
exixts an orthogonal transformation P such that at PTAP = diag [A, A, ... A ], where
Ay A, oo A are the eigenvalues of A not necessarily distinct and non zero, we have
PAP=D and PTP = I, where D is a diagonal matrix having the gigen velues As,i=1,
2 ... n, of 4 as diagonal elements. :

Let x=Py. Then
xiAx = ¥ {PTAP).—T ¥Dy
5 APyt o Ry
An easy consequence of the above theorem is the following corollary ;

‘Corollary : Every quadratic form x"4x of rank r can be reduced by an orthogonal
transformation P to .

Ay dap? +o byt

where x =Fyand A, A, ... A_are the nonzero eigenvalues of A,
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. _ EXAMPLE
Ex. 1. Let g(x,, x,, x,) =x"Ax be a real quadratic form, where
120 i
e o By A
0 0 =1
The characteristic equation of 4 is _
: SR SA-3=(A+H 1) (A-3)=0
which shows that the eigencalues of A are A, = —1 of multiplicity 2 and A, =3,
4 Sil'ﬂl}lﬂq wk

By solving A x = 4x we see that the eigen vectors associated with A, =—1 canbe
exprossed by [a, —a, b]" where a and b are real and hence the two independent eigen

vectors cortesponding to -1 are

1 0

% =|-1|and x,=|0
0 : 1
which are orthogonal.
; 1
By solving A x = Axwe get x, = 1 | asan eigen vector associated with A, =3,
; 0

which is orthogonal to both x, and x,- Hence the orthogonal matrix that diagonlises
the matrix 4 is el '

Ny G

: 2 2

i 1
P=l-—V0

EY N

BTl

Hence using the transformation x = P}«" the given quadratic form becomes
" q=)y" (P"4P)y 5
We may check that PTAP = diag (-1, -1, 3)
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g =  ydiag(-1,-1,3)y
= = —1-}"',2 _1_},22 + 3.},32 .= _}.Iz ___y12 + 3-}’32

Definition : A real quadratic form g(x,, x, .. x ) assumes the values 0 when x =
0. But ¢ takes up different real values for different nonzero 5

A real quadratic form g%, %, .. x) = x"dx is said to be

@ positive definite if g > 0 for all x # 0

(i) positive semidefinite if ¢ = 0 for all x and g=0forx+0.

(iii) negative definite if g < 0 for all x # 0. _ .

(v} negative semidefinite .ifq'il‘:] for all x and ¢ = 0 for x # 0,

{vj indefinite ¢ = 0 for some x # 0 and q = 0 for some other x # 0.

In the coorespoﬁding cases the associated real symmetric matrix 4 is said to be
positive definite, positive semidefinite, negative definite, negative semidefinite and indefinite,
respectively. -

EXAMPLES

Ex. 1. Let us consider the quadratic form gx, x, x)

SxIH 2T o AnT 4 2xx Ay, - 2xx, :

Clearly, g = (x, +x, - VR e o 2x;

S g 20 forall (x, x, x.) and ¢ = 0 only when n=0,x=0x=0

b g U
Therefore ¢ is positive definite. The associated matrix | 1 2 -2/ is therefore
12 4

positive definite : : :
Ex. 2. Show that the quadratic formx?+2x7 +3x.2— 2x%, +4x,x, is indefinite,
The associated matrix A of the quadratic form is ; :
1 =10

d=|-112 2
6 23
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‘We apply congruence operations on A. We have

1-10 100
ARE 510 12— 012
023 023

0
R!+2R: u

10
I’_'!—zf.-'; 3 {Il
00

- o
fone B i

]
2
=] =1
Hence the reduced normal form is

= 2o o2
q xl +'x1 x‘!

Since g > 0 forx, 20, x,=x,=0and g <0 forx,=x,=0, x, # 0. If follows
that g is indefinite.

It may be shown that any real quadratic form g may be reduced to sum of squres
ol several unknows with coefficients +1 or~1 via a non singular linear transformation
with ré“al_ coelficients. Such a form is called normal form of the quadratic form.

A real quadratic form may be reduced to normal form by many different transformation |
however, to within the numbering of the unknowas, it can be reduced only to one nermal
form. This is demonstrated by the following important theorem, which is called the law
of inertia of real quadratic forms. i :

Theorem ; The number of positive and the number of negative squares int the
normal form to which a given quadratic form with real coefficients can be reduced by
a real nonsingular linear transformation is independent of the choice of the transformation,

Proof : Suppose that the statement of the theorem be not true, Let the quadratic
form g = g(x,, X, .. x ) be transformed to :

i s 2 ...—y? by the transformation x = Py

2 2 . L ar ; ; i : _
andtoz?+z2+ . tz’ =2, —w—F by the transformation x )z, where

P and Q are non singular and m # k.
Without loss of generality we may assume m < k.
Now, y=P'xand z= 0'x
and let PV= (p,) and O~ = (g)
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Let us consider m + n — k equations in n unknowns

PuX +ppx,t o+ px, =0
] O
Pu¥it Py 0 +px, =0 | 1
G X T 0+, x, =0 (D
g g

qn]xl + qnzxz g P ‘i"mxu = G

Since m < k, there exists a non-zero solution (x",x',..x" ) of the homogencous
system, : .
“When x = (2" x', x'), let y = 0 ¥,y ¥ )and z= (z'y 2, .. 2")
Since y = P'x = (p,)x, it follows from the first equation of (1) that y' =0,
Similarly, ', = ... =y’ =0andz/, = .. =z" =0,
R (C T ST ) B L P
= z"zl Helt b diat il

OIS e i AR e Eard =)
D Ve =0
Ang SEh =l = =
Since P and Q are non-singular matrices, we have

e e ) =00, 0
which is a contradiction. '

Therefore, the assumption that m # k is wrong and hence m is invariant. This
proves the theorem,

Since the rank ofa quadratic form remains invaniant under a norn-singular transformation,
it follows that under all non-singular transformations the rank ofa real quadratic form
temaing inivariant. :

This is Sylvester law of quadratic forms. _
The number of positive squates in the normal form to which a given real quadratic

form is reduced, is called the positive index of inertia of this form ; the number of
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negative squares is termed as negative index of inertia. The number of positive indices
minus the number of negative indices in the normal form of g is called the signature
of g.

Ex. 3. Obtain a nonsingular transformation that will reduce the quadratic form
g=x2+2x2 +3x}-2xx —dxx,
to normal form and hence find its signature,

" The associated matrix is

I =10
=|=-12 2
o 23
We consider the block matrix {A, I)
1-10 100
(AD=|-1 22 010
g 23 001
We shall apply congruence operations on (A. D)
We have i
L ibe=r e 1 B 100 100
AD—"fi,lo 12 110 —59012 110
0D 23 001 023 001
10 0 1 00 10 0 1 0.8
_mam gy 3 3 1 o]l—=2Ela 1 6 ¥ 10
00 -1--2-=21 Do -1 2 =21

“The transformations x = Py, where P=

—

1. ~2
01 -2
00 1

will transform the given quadratic form to normal form.

The transformationis x, =y, + ¥, - 2y,
Epe Y, = 2y,
xJ 5 ya

and the normal form is y,* + y,* — ,* and hence the signature B2-1=L
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Suppose we have a quadratic form g in n unknowns with the matrix 4 = (a H,j The
minors of order 1, 2, ... n of this matrix situated in the upper left corner are the principal
_minors of A. Thus tha principal minors of order 1, 2, 3, ... n are.

ay 4 L a,
dy Oy q i
i | S T Bl R 2
(L1 P 2 B By By 1, I~ 1"
2t an g
31 Fyy Ay @ a,L a,

We now consider the following theorem.

Theorem : A quadratic form g in n unknowns with real cueﬂ‘ic;ents is positive
daﬁmte if and only if its principal minors are strictly positive.

Froof : For n = 1, the theorem is true since the form is then ax? and therefore is
positive definite if and only if @ > 0. Thus the theorem holds for n = 1. Wﬂ assume that
the theorem holds for a quadratic form with n — 1 variables e , @nd with real
coefficients and we shall prove the theorem for » variables x,, x, -",

We note that if a non-singular linear transformation x = Py is given to quadratic
form, then the reduced quadratic form is ™ (P7AP)y and the determinant of the transformed

matrix PTAP is
T e 2
| Prap|=|P||]lP|=|4]|F)
This shows that the determinant of the matrix ofa quadratic form maintains the
same sign after nonsingular linear transformation,
Now, let the real quadratic form in n variables X ¥ % be
q= 2 a; X, x,
ig=1 =
It can be written as
q=¢{‘x] IZL xa;—l)+22afnxi xh +amu xﬂi (1)
]

where ¢ is a quadratic form in (1 — 1) variables X, x,..x .. The principal minors
of the form ¢ evidently coincide with all principal minors of thr: form g except the last.
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Let the form q be positive definite. Then clearly the form ¢ will be positive definite. :
For, if & is not positive definite, there is a set of values of x, x, .. x, | not all zero such
that ¢ is not strictly positive. Then taking these values and x =0, we find that g is not
positive definite, which is a contradiction. By the induction h}rpothesm all the principal
minors of ¢, that is of g are positive. The last principal minor of ¢ is also positive,
because qis reduced by a nonsingular linear transformation to a normal form consiting
of n positive squares, the determinant of this normal form is strictly positive and so the
determinant of the form g is strictly positive. :

Now let all the principal minors of the form g be strictly positive. So all the
principal minors of ¢ are positive and hence by the induction hypothsis ¢ is positive
definite. Therefore, there is a nonsingular linear transformation of the unknowns x, T2

.. x_, which reduces ¢ to a sum of (n — 1) positive squares in the new unknowns ¥
i y - Bysettingx =y , this linear tranformation may be completed to form a (non-
singular) linear transfurmatmn of all the unknows x,, %, .. x . By (1), the form q is
reduced by the transformation to

.l1—|

q= ZJ’. +EE Vi Yn b, 0] (2)
=l
Sinee 7+ 2byy,= 0, by - by
it follows that the non-singular linear transformation
z = yby,i=1,2 1
2y

reduces the form g by (2) to the canonical form
= n=l 3 5
=24 +ez, -(3)
i=1 -

To prove positive definiteness of g we have to show that ¢ is positive. Clearly, the
determinant of the form on the right hand side of (3) is ¢ and since the form (3) is
obtained by applying two non-singular linear transformations from the form (1) whose
determinat is positive, it follows that ¢ is positive. iy &

This completes the proof.
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EXAMPLES
Ex. 1, The quadratic form
g =SxPtx? 4 Sxtt dxx Bxx, — 4xx,

is positive definite, since its principal minors

B

2 4
1
2.1

-2{=1(>0)

;i 5
=1(>0) and |2

5(>0),

are all positive.
Ex. 2. For the quadratic form

= 2 i 2
g = It x4 St dex — Bxx,~ dxx,

32 4
the matrix is _?4 _12 _52
The principal minors are :
e R 2t Bleies
e il i il

The quadratic form is, therefore, not positive definite, it is in fact indefinite.

Simultaneous reduction of two quadratic forms

Let there be a pair of real quaﬂrﬁtic forms g, and g, in nunknowns Xy Xy XN

_ try to investigate whether there is a non-singular linear transformation of the unknown
¥, X, .. x_which will simultaneously reduce both the forms ¢, and g, to canomical form,

In the general case the answer is no. But under some restriction on the nature of

forms ¢, and g, the answer is yes. So we consider the following theorem.

Theorem : If g, and g, form a pair of real quadratic forms in n unknowns, and -

the second one is positive definite. then there exists a nonsingular linear transformation
which simultaneously reduces g, to normal form and g, to canonical form.

Proof : Let us first perform the nonsingular linear transformation of the unknowns

Koo Ko

x=1y
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which reduces the positive definite form ¢, to normal form, -
.gz(xt, PR ) e S Pl SR T

Then the form g, will be transformed into some form ¢ in new unknowns,
g0 Xy ) =0 0 ¥y 00 1)

Now perform an orthogonal transformation of the unknowﬁs Yp ¥y Y. =02
which reduces ¢ to principal axes, '

Oy Yy e V) = Azt Azt bt Azt

This transformation carries the sum of the squares of the unknowns y., . ... y
v ]
into the sum of the squares of the unknowns z,, z, ... z . As a result we get.

g %y oo XY =Rz PF Dzt Rz ]
RO L s R R
That is the linear transformation,
x=(Iy)z
is the required transformation. -
Classification of quadrics :
The general equations of second degree inx, y, zis
axt by* + cz*+2}1xy.+2f_}.rz +2gzx + 2ux + 2vp + 2wz + d =0
In matrix notation the equation ﬁ:lay be expressed as .
XTAX + BX +dl =0

a h g X ,
where A=\ h b [ |, X=|y B =1 2u 2v 2w]
g fc z -

and 7 is the identity matrix of order 3.
Since A is a real symmetric matrix, there exists an orthogonal matrix P such that

L 0 0
PT4Pis the diagonal matrix D=| 0 &, 0O
: 0 0 X,

where A, A, A, are the eigen values of 4.
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Therefore, by the orthogonal transformation X = PX",

X
where X' =| y'|, the equation transforms to
zi’
X™DX'+ (BP)X'+dl =0
o, AxPE Atk el 2ux" + Evk}l” +2wz'+td=0 .. (1)
We shall consider the following cases :
Case I Rank of 4 = 3.

In this case A, A,, A, are all non-zero. Let us transfer the origin to the point
=i, =¥ —w
( A, — ;I_ —— ?.. . Then the equation (1) takes the form

AP+ AP +Nz+d =0

If d, # 0, the equation represent a central quadric and if d, =0, it represents a
_cone,

Case II : Rank of 4 = 2. :
In this case one &, A, A, is zero. Let A, = 0. Let us transfer the origin to
L LT
% "% ' |- Then (1) takes the form.
I 2
,l:‘L,l.rz + ?Lzyi + 2wz + d‘ =10
Ifw, # 0, we transfer the origin to the point [ﬂ, ﬂ,;—d’J so that the equation takes
the form :
Jl,x3+ly2+2wz=ﬂ

If w, = 0, the equation represents a pair of planes if d =0,anda h}"perbu]lc or
elliptic cyimder ifd #0,

Case ITT : In this case two of Ay Ay, A are zero. Let A, =2, =0. Let us transfer
the origin to (% .0, U] . Then the equation (1) takes the form
1

AxP+2vy+2wz+d =0 i L2
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" Let at least one of 15 and w, be nonzero. Letv, #0. Then we transfer fhe origin
—d,
to ( . *}} so that ther equation (2) takes the form
¥ 1

ltxi+2vty+2wlz=ﬂ. i
By the orthogonal transformation X' = PX", where

1 0 ﬂ.|
P-:Uv—’:ﬂ :
' ko ok S I T
e
& ok

the equaﬁan reduces to A x* + 2%y = 0. This represents a parabolic cylinder.
When v, =w, = 0, the equation represents a pair of coincident planes if d, =0 and
a pair of parallel planes if d, # 0.
EXAMPLE

Ex. 1. Reduce the equatinnx1+f+zz~2xy¥23:z +2zx+x—dy+z+1=0
into canonical form and determine’the nature of the quadric.

S e [l S =
Let A=|-1 1-1}|; B=11,-41], X=|y
1-1 1 z

Then the equation:is written in matrix form as
' XAX+BX+1=0
The eigenvalues of 4 are 3, 0, 0.
The eigenvectors correrponding to the eigen value 3 are
1

Fl-1l k20
1
The eigen vectors cotrsponding to the eigen value 0 are
1 0
el 1|+d]1 cod # 0
0 1| :
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1
Taking ¢ = 1, d = 0, one cigen vector is [l]
' 0

1 1
If the other eigen vector orthogonal to {—l] and {1} is

1 0
1 0 c
¢|l|+d|1]|=|ec+d |, then
0 1 d
cte+d=10 or,2c+d=10

We can take ¢ = 1, d =2, so the three multually orthogonal eigen vectors are

e

and the corresponding orthonormal vectors are

AT ek ]
RS o e
1 0 =2
V3] L | V6l
V243 1
et 1oaf7 B )
Let P i S
g Lauu 6 -2 3
Then i AP—-[E g g} and EP—[;E —E ﬁ]

: 3
By the orthogonal transformation X'= PX". where X' = { J,-"] the given equation

z
reduces to
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[} 3 3 -
3t ek =y —2'+1=0
A 5

w Ard] -Gy eger=0
* B) BT
Now, using the transformation
- { I 1
X=X +7§
}'H‘ — yl
z"=2z'
The-equatiun becomes 3x" - > y"+£z’=i}
27 e

Let us apply orthogonal transformation
- et
y"=y cos O -z sinB
"-y sin 0 + z, cos O

, A E T
such that ——=co0s8+—=sinB=0. This gives 0 =—
_7? 7 AR,

Then the equation is trinsformed to '33;:[1 +.f6z, =

This is the canonical form of the quadric, which represents a parablic cylinder,

EXERCISES

Find the symmetric matrix which corresponds to each of the following quadratic
form : ; 2 .

(@) q(x, ¥) = 4% ~ 6xy = Ty ;

(i) g(x, v, 2) = 3%* + dxy — y* + Bxz — 6yz L

(iii) g, y) = oy +¥*

Reduce the following quadratic forms to their normal forms. Find the rank and
sighature of each,

(i) 26 + 5% + 102* + dxy + 12yz + 6zx

(i) 2x* + 3y? + 4z° - 4xy + 4yz
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Show that the following quadratic form is positive definite.
5x2 + 2 4 Szz+4xy~ Exz—.ﬂ-yz..’
Show that the quadratic form
X2+ x? 4+ x? + 3xx, is indefinite.
Beduce the equation ,
TH a4 T 16 16y~ 8 =1

into canonical form and determine the nature of the conic,

Reduce the equation

¥+2yzt+tdx+2y+2z+5=0
into canonical form and determine the nature ofthe quadric.

Reduce the equation 2x* — 2xy — 2pz + 2zx — x — z = 0 into canonical form and
determine the nature of the quadic.

Determine an orthogonal matrix P that reduces the quadratic form 2+ dxpx, + 5x
to a diagonal form.,

i o
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